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निरे्दश: िीचे दर्दए गए प्रश्न में चार कथिों के 
बार्द तीि निष्कर्ष I, II और III दर्दए गए हैं। 
आपको दर्दए गए कथिों को सत्य माििा है, 
भले ही वे सामान्यतः ज्ञात तथ्यों के साथ 
ववचरण करत े हों। सभी निष्कर्ों को पढें और 
दिर निणषय लें दक दर्दए गए निष् कर्ों में से कौि 
सा निष्कर्ष सामान्यतः ज्ञात तथ्यों की अवहेलिा 
करत ेहुए दर्दए गए कथिों का तादकष क रूप से 
अिुसरण करता है। 
 

1. कथि: 
केवल कुछ स् टूवपड, के्रजी हैं। 
कोई के्रजी, स्माटष िहीीं है। 
सभी स्माटष, ब्यूटीिुल हैं। 
केवल कुछ ब्यूटीिुल, हैंडसम हैं। 
निष् कर्ष: 
I. कुछ स्टूवपड, स्माटष िहीीं हैं। 
II. कोई स्माटष, हैंडसम िहीीं है। 
III. सभी हैंडसम के स्टूवपड होिे की सींभाविा 
है। 
A. केवल I अिुसरण करता है 
B. केवल II अिुसरण करता है 
C. केवल III अिुसरण करता है 
D. र्दोिों II और III अिुसरण करत ेहैं 
E. र्दोिों I और III अिुसरण करत ेहैं 
 

2.कथि: 
कोई भी परफ्यूम, दडयोड्रेंट िहीीं है। 
केवल कुछ दडयोड्रेंट, मॉइस्चराइजर हैं। 
सभी मॉइस् चराइजर, कोल्ड क्रीम हैं। 
केवल कुछ कोल्ड क्रीम, सिस्क्रीि हैं। 
निष् कर्ष: 
I. कुछ दडयोड्रेंट, सिस्क्रीि हैं। 
II. सभी परफ्यूम के सिस्क्रीि होिे की सींभाविा 
है। 
III. कोई भी मॉइस् चराइजर, परफ्यूम िहीीं है। 

A. केवल I अिुसरण करता है 
B. केवल II अिुसरण करता है 
C. केवल III अिुसरण करता है 
D. र्दोिों II और III अिुसरण करत ेहैं 
E. कोई अिुसरण िहीीं करता है 
 

3.कथि: 
सभी लैंप, लाइट हैं। 
केवल कुछ लाइट, बल्ब हैं। 
केवल कुछ बल्ब, ट्यूबलाइट हैं। 
कोई ट्यूबलाइट, सीएिएल िहीीं है। 
निष् कर्ष: 
I. कोई लमै्प, ट्यूबलाइट िहीीं है। 
II. कुछ सीएिएल, बल्ब िहीीं हैं। 
III. कुछ लाइट, बल्ब िहीीं हैं। 
A. केवल I अिुसरण करता है 
B. केवल II अिुसरण करता है 
C. केवल III अिुसरण करता है 
D. र्दोिों II और III अिुसरण करत ेहैं 
E. कोई अिुसरण िहीीं करता है 
 

निरे्दश: निम् िनलखित जािकारी का ध् यािपूवषक 
अध् ययि करें तथा तद्नसुार प्रश् िों के उत् तर र्दें। 
 

एक निखित सींख्या में व् यवि र्दखिण दर्दशा की 
ओर मुि करके एक सीधी पींवि में बैठे हैं। M 

और Z के बीच सात व् यवि बैठे हैं। Z और P के 
बीच पाींच व् यवि बैठे हैं। T और S के बीच र्दो से 
अनधक व् यवि बठेै हैं। Q दकसी अींनतम छोर से 
पाींचव ेस् थाि पर बठैता है। अनधकाींश र्दो व् यवि 

P की बाईं ओर बैठे हैं। S और P, जो Q का एक 
निकटतम पडोसी िहीीं है के बीच तीि व् यवि बठेै 
हैं। S और Q के बीच चार व् यवि बठेै हैं। T, Q 

की र्दाईं ओर से र्दसूरे स् थाि पर बैठता है। 
 

4. इस व्यवस्था में दकतिे व् यवि बैठे हैं? 
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A. 17 
B. 15 

C. 16 
D. 19 

E. इिमें से कोई िहीीं 
 

5.कौि Z की बाईं ओर से र्दसूरे स् थाि पर बैठता 
है? 

A. P 
B. T 
C. Q 

D. S 

E. इिमें से कोई िहीीं 
 

6.S की बाईं ओर दकतिे व् यवि बैठे हैं? 

A. पाींच 

B. छह 
C. एक 

D. चार 
E. इिमें से कोई िहीीं 
 

7.M की खस्थनत क्या है? 

A. S के बाएीं से पाींचवाीं 
B. र्दाएीं छोर से र्दसूरा 
C. दकसी एक अींनतम छोर पर 
D. P के बाएीं से तीसरा 
E. इिमें से कोई िहीीं 
 

निरे्दश: एक शब्र्द और सींख्या व्यवस्था मशीि 
में जब शब्र्दों और सींख्याओीं की एक इिपुट 
लाइि प्रवेश की जाती है, तो वे उस ेप्रत् येक चरण 
में एक निखित नियम का अिुसरण करते हुए 
पुिव्यषवखस्थत करती है। निम्िनलखित शब्र्दों और 
सींख्याओीं की एक इिपुट लाइि तथा पुिव्यषवस्था 
के ववनभन्ि चरणों का एक उर्दाहरण है। 
 
इिपटु: Cloudy Amazing August English 

Under 

चरण 1: Amazing English Under August 

Cloudy 

चरण 2: English Amazing Cloudy 

August Under 

चरण 3: Clntdy dnglhsh tnddr zmzzhng 

ztgtst 

चरण 4: 56 24 76 66 92 

 

तथा चरण IV इस इिपुट के नलए अींनतम चरण 
है। अब, उपरोि नियमों का अिुसरण करत ेहुए 
निम्िनलखित प्रश्नों में उनचत उत्तर ज्ञात करें। 
 
इिपटु: Promotion After Immediately 

Riverdale Fantastic 
 

8. निम्ि में से कौि सा दर्दए गए इिपुट का 
अींनतम लेदकि एक चरण होगा? 

A. Zftdr Fzntzsthc hmmddhztdly 
prnmnthnn hrvdrdzld 

B. Gzntzsthc hmmddhztdly 
prmmntmn rhvdrdzld zftdr 
C. Fzntzsthc hmmddhztdly 

prnmnthnn rhvdrdzld zftdr 
D. Prmmntmn Fzntzsthc 

hmmddhztdly hrvdrdzld zftdr 

E. इिमें से कोई िहीीं 
 

9.दर्दए गए इिपुट के अींनतम चरण में दकतिी 
सींख् याएीं 11 से ववभाज्य होंगी? 

A. कोई िहीीं 
B. र्दो 
C. तीि 

D. एक 

E. इिमें से कोई िहीीं 
 

10.चरण 2 में, निम्ि में से कौि सा शब्र्द र्दाईं 
ओर से चौथे स्थाि पर होगा? 

A. Fantastic 
B. Immediately 
C. Promotion 

D. After 
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E. Riverdale 
 

11.चरण 3 में, निम्ि में से कौि सा शब्र्द बाईं 
ओर से तीसरे स्थाि पर होगा? 

A. prnmnthnn 

B. prnnnmthn 
C. fmmddhztdly 

D. zftrd 

E. इिमें से कोई िहीीं 
 

निरे्दश: निम् िनलखित जािकारी का ध् यािपूवषक 
अध् ययि करें तथा तद्नसुार प्रश् िों के उत् तर र्दें। 
 
"Almost result for decide" को "VF#9 

IH@ 6 GT#38 GC#21" के रूप में कूटबद्ध 
दकया गया है। 
"its total now stopped" को "WU@23 

DP@37 OV@32 HK@28 " के रूप में 
कूटबद्ध दकया गया है। 
"projection for better furniture" को 
"MR#30 IH@24 ID#20 VH@11" के रूप 
में कूटबद्ध दकया गया है। 
"trust again this information" को 
"MK@23 HV#39 GV@40 MC@15" के 
रूप में कूटबद्ध दकया गया है। 
 

12. ‘system’ के नलए सींभाववत कूट क् या 
होगा? 

A. NT@26 

B. UM#18 
C. TG@28 

D. NU#32 

E. इिमें से कोई िहीीं 
 

13.‘random movie’ के नलए क् या कूट होगा? 
A. TN@19, CV#22 

B. MU@23, ZS#22 
C. NT#31, VO@18 

D. TO#29, XU@24 

E. निधाषररत िहीीं दकया जा सकता 

 

14.‘tickets booking’ के नलए क् या कूट है? 

A. RH#32, JK#9 
B. JH@36, DR@5 

C. HV@39, TD@9 
D. VH#32, ER#22 

E. इिमें से कोई िहीीं 
 

निरे्दश: निम्िनलखित प्रश्नों का उत्तर रे्दिे के नलए 
र्दी गई जािकारी को ध्यािपूवषक पदढए। 
िौ व्यवि A, B, C, D, E, F, G, H और J उत्तर 
दर्दशा में मुि करके एक सीधी पींवि में बैठे हैं, 
लेदकि यह आवश्यक िहीीं है दक उिका क्रम यही 
हो। इिमें से प्रत्येक को एक नभन्ि रींग पसींर्द है 
जैस ेगुलाबी, पीला, हरा, िीला, लाल, काला, भूरा, 
सिेर्द और बैंगिी इत्यादर्द, लेदकि यह आवश्यक 

िहीीं है दक उिका क्रम यही हो। 
िोट: बाएीं दकिारे से सबसे बाएीं स्थाि को स्थाि 

1 निधाषररत दकया गया है और इसी प्रकार आग े

भी। 
H बाएीं दकिारे से एक सम स्थाि पर बैठा है और 
सबसे बाएीं दकिारे पर बैठे व्यवि को िीला रींग 

पसींर्द है। G और E के बीच र्दो व्यवि बैठे हैं। D 

को हरा रींग पसींर्द है और वह र्दाएीं दकिारे से र्दसूरे 
स्थाि पर बैठा है। पीला रींग पसींर्द करिे वाला 
व्यवि सिेर्द रींग पसींर्द करिे वाले व्यवि के ठीक 

बाएीं ओर बैठा है। C को पीला रींग पसींर्द िहीीं है। 
गुलाबी रींग पसींर्द करिे वाला व्यवि भूरा और लाल 

रींग पसींर्द करिे वाले व्यवि के ठीक बीच में बैठा है 
लेदकि वह स्थाि बाएीं दकिारे से पाींचवा िहीीं है। J 
को बैंगिी रींग पसींर्द है। G को बाएीं दकिारे से तीसरा 
स्थाि पसींर्द है। B बाएीं दकिारे से सम स्थाि पर 
बैठा है और A बाएीं दकिारे से एक ववर्म स्थाि पर 
बैठा है लेदकि सबसे बाएीं दकिारे पर िहीीं बैठा है। 
भूरा रींग पसींर्द करिे वाला व्यवि बाएीं दकिारे से 

चौथे स्थाि पर बठैा है लेदकि B को भूरा रींग पसींर्द 
िहीीं है। A बाएीं दकिारे से पाींचवें स्थाि पर िहीीं 
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बैठा है। काला रींग पसींर्द करिे वाला व्यवि सबसे 

र्दाएीं दकिारे पर िहीीं बैठा है। सिेर्द रींग पसींर्द करिे 

वाला व्यवि बाएीं दकिारे से छहवें स्थाि पर बैठा 
है। 
 

15. निम्िनलखित में से कौि सबसे बाएीं दकिारे 
पर बैठे हैं? 

A. F 
B. C 

C. E 
D. J 

E. इिमें से कोई िहीीं 
 

16.लाल रींग पसींर्द करिे वाले व्यवि और A के 

बीच दकतिे व्यवि बठेै हैं? 

A. एक भी िहीीं 
B. र्दो 
C. चार 
D. तीि 

E. इिमें से कोई िहीीं 
 

17.निम्िनलखित पाींच में से चार ववकल्प दकसी 
प्रकार से एकसमाि हैं और इसनलए एक समूह 
बिात ेहैं। दर्दए गए ववकल्पों में वह ववकल्प चुनिए 
जो इस समूह से सींबींनधत िहीीं है? 

A. G 
B. D 

C. J 
D. C 

E. F 
 

18.A के सापेि F की खस्थनत क्या है? 

A. र्दाएीं से तीसरी 
B. बाएीं से चौथी 
C. र्दाएीं से र्दसूरी 
D. र्दाएीं से चौथी 
E. इिमें से कोई िहीीं 
 

19.निम्िनलखित में से कौि सा कथि सत्य िहीीं 
है? 

A. A को काला रींग पसींर्द है 
B. A और G के ठीक बीच में F बैठा है 
C. पींवि के ठीक बीच में बैठा व्यवि H के ठीक 

र्दाएीं ओर पर बैठा है 
D. B और गुलाबी रींग पसींर्द करिे वाले व्यवि के 

बीच 5 व्यवि बठेै हैं 
E. H सिेर्द रींग पसींर्द करिे वाले व्यवि के बाएीं 
र्दसूरे स्थाि पर बैठा है 
 

निरे्दश: निम् िनलखित प्रश् िों के उत् तर रे्दिे के 
नलए र्दी गई जािकारी को ध् यािपूवषक पढें: 
 

20. निम् िनलखित में से दकसे ररक् त स् थािों में 
क्रनमक रूप से रिा जािा चादहए तादक 
अनभव् यखक् त S < R और K ≥ T निखश् चत रूप से 
सत् य हों? 
 
S _ T _ A _ R _ K 
A. =, =, ≤, ≤ 

B. <, ≤, =, < 
C. <. >, =, ≥ 

D. <, =, =, ≤ 
E. <, =, ≤, < 
 

21.निम् िनलखित में से दकसे ररक् त स् थािों में 
क्रनमक रूप से रिा जािा चादहए तादक 
अनभव् यखक् त C < T, L < S और O < H 

निखश् चत रूप से असत् य हों? 
 
C _ L _ O _T _ H _ S 
A. >, >, <, =, > 

B. >, =, =, <, < 
C. >, =, =, >, > 
D. <, =, =, ≤, < 

E. <, < =, >, = 
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निरे्दश: निम् िनलखित जािकारी का ध् यािपूवषक 
अध् ययि करें तथा तद्नसुार प्रश् िों के उत् तर र्दें। 
 

22. अनभव् यवि F > E को सही बिािे के नलए 
र्दी गई अनभव् यवि में निम् ि में से कौि सा 
प्रतीक ररक् त स् थाि को प्रनतस् थावपत करेगा? 

 
D = C > B ≥ E ≤ H _ G ≤ F 

A. = 
B. > 

C. ≤ 
D. < 
E. ≥ 

 

निरे्दश:िीच ेदर्दए गए प्रश् ि में एक कथि दर्दया 
गया है खजसका तीि कायषवादहयाीं अिुसरण 
करती हैं। एक कायषवाही सधुार, निकट होिे आदर्द 
के नलए ली गई है। कथि को ध् यािपूवषक पढे 
और अपिा उत् तर र्दें।  
23. कथि:  
सोशल मीदडया कीं पिी िे मींगलवार को कहा दक 
िेसबुक के पास कम से कम चार चीिी 
इलेक्रॉनिक्स कीं पनियों के साथ डेटा साझा करिे 
की साझेर्दारी है, खजसमें चीि की सरकार के साथ 
घनिष्ठ सींबींध है। 
 

कायषवाही: 
।. नियामक को िेसबुक की जाींच के नलए एक 
सनमनत का गठि करिा चादहए और इस बात 
की स्पष्टीकरण माींग करिी चादहए दक गोपिीय 
जािकारी क्यों लीक हुई है। 
।।. िेसबुक उपयोगकताषओीं को निजी जािकारी 
साझा करिे से बचिा चादहए क्यों दक सोशल 
िेटवदकिं ग डेटा लीक होिे की ररपोटें बढ रही है। 
।।।. िेसबुक को अपिे सभी उपयोगकताषओीं को 
एक नलखित मािीिामा जारी करिी चादहए 
खजसस े दक उन्हें आश्वस्त दकया जा सके दक 
निजी जािकारी दिर से कभी िहीीं लीक होगी। 

A. केवल कायषवाही I अिुसरण करती है। 
B. केवल कायषवाही II अिुसरण करती है। 
C. र्दोिो I और II अिुसरण करत ेहैं। 
D. र्दोिो II और III अिुसरण करत ेहैं। 
E. इिमें से कोई अिुसरण िहीीं करता है। 
 

24.विटेि की एक अर्दालत िे भगोडे हीरा जौहरी 
िीरव मोर्दी के प्रत्यपषण के भारतीय अिुरोध पर 
विटेि के गहृ सनचव द्वारा र्दी गई मींजूरी का सींज्ञाि 

लेते हुए उसके खिलाि नगरफ्तारी वारींट जारी 
दकया है। प्रदक्रया के अिुसार, मोर्दी को औपचाररक 

रूप से नगरफ्तार दकया जाएगा और उसके जमाित 

पर छूटि ेकी सींभाविा है। गुप् त सूत्रों के अिुसार, 
लींर्दि पुनलस िे उस े नगरफ्तार करिे और लींर्दि 

कोटष में पेश करिे की सींभाविा जताई है। 
 
उपरोक् त जािकारी से निम् िनलखित में से दकसका 
तादकष क रूप से अिुमाि लगाया जा सकता है? 

 

I. विटेि के गहृ मींत्रालय िे भारतीय अनधकाररयों 
को बताया दक मोर्दी के प्रत्यपषण के भारत के 

अिुरोध को प्रमाखणत दकया गया था। भारतीय 

एजेंनसयाीं अब मोर्दी की औपचाररक नगरफ्तारी का 
इींतजार कर रही हैं। 
II. मोर्दी को इस महीिे की शुरुआत में विटेि के 

र्द टेलीग्राि अिबार िे लींर्दि के वेस्ट एींड में रे्दिा 
था, खजसमें बताया गया था दक वह शहर में एक 

िया हीरा व्यवसाय चला रहा है। भारत मोर्दी के 

चाचा और सह-आरोपी मेहुल चोकसी के खिलाि 

भी प्रत्यपषण की कायषवाही कर रहा है, जो वतषमाि 

में एींटीगुआ में है। 
III. भारतीय एजेंनसयों िे विदटश अनधकाररयों को 
बताया है दक मोर्दी िे पासपोटष निरस्त होिे के 

बावजूर्द विटेि के बाहर यात्रा की थी। यह विदटश 

अनधकाररयों को बार-बार यार्द दर्दलािे के बावजूर्द 
हुआ था। 
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A. केवल I अिुसरण करता है 
B. कोई अिुमाि िहीीं लगाया जा सकता है। 
C. केवल II अिुसरण करता है 
D. II और III र्दोिों अिुसरण करत ेहैं 
E. सभी का अिुमाि लगाया जा सकता है। 
 

निरे्दश: िीचे दर्दए गए प्रश्न में एक कथि समादहत 
है, खजसका तीि तकष  ।, ।। और ।।। अिुसरण 
करत े हैं। आपको यह निधाषररत करिा है दक 
कौि सा तकष  मजबूत हैं और कौि सा तकष  
कमजोर है और तर्दिुसार प्रत्येक प्रश्न के िीच े
दर्दए गए ववकल्पों में से अपिा उत्तर चुिें।  
25.  

कथि: 
भारत िे सीमा पार डेटा प्रवाह को ववनियनमत 
करिे, भारत के भीतर कीं प्यूदटींग सवुवधाओीं का 
पता लगािे, सामुर्दानयक डेटा साझा करिे से 
सींबींनधत मुद्दों के नलए िौकरी सजृि सुनिखित 
करिे और सामुर्दानयक डेटा को साझा करिे से 
सींबींनधत मुद्दों के नलए समवपषत डाटा प्रानधकरण 
की स् थापिा को प्रस्ताववत दकया है| राष्ट्रीय ई-
कॉमसष िीनत के अपिे मसौरे्द में भारत िे कहा 
है दक रे्दश में उत्पन्ि डेटा एक राष्ट्रीय सींपवत्त है 
और िागररकों और सरकार का इस पर एक 
सींप्रभ ुअनधकार है। 
 
निम्िनलखित में से कौि सा तकष  सवषश्रषे् ठ 
सींभाववत तरीके से उपयुषि कथि को कमजोर 
करता है? 

 

तकष : 
I. िीनत यह सुनिखित करती है दक 
"सींवेर्दिशील" डेटा यहाीं एकत्र और सींसानधत 
दकया जािा है, लेदकि ववरे्दशों में सींग्रहीत डेटा 
को ववरे्दशी सरकारों और भारत के बाहर अन्य 

व्यावसानयक सींस्थाओीं के साथ साझा करिे से 
िहीीं रोकता है। 
II. िीनत के अिुसार, सीमा पार डेटा प्रवाह पर 
प्रनतबींध िहीीं लगािे से, भारत स्वयीं रे्दश में उच्च 
मूल्य के दडखजटल उत्पार्दों के निमाषण के नलए 
र्दरवाज ेबींर्द कर रहा होगा। 
III. कीं पनियों को यहाीं डेटा भींडारण की स्थापिा 
के नलए तीि साल की अवनध का सझुाव दर्दया 
गया है और इलेक्रॉनिक प्रसारण पर कस्टम 
ड्यूटी ि लगािे की मौजरू्दा प्रथा की समीिा की 
वकालत की गई है। 
A. कोई मजबूत िहीीं हैं। 
B. र्दोिो III और II मजबूत हैं। 
C. केवल I मजबूत हैं। 
D. केवल II मजबूत है। 
E. सभी मजबूत हैं। 
 

निरे्दश: निम् िनलखित जािकारी का ध् यािपूवषक 
अध् ययि करें तथा तद्नसुार प्रश् िों के उत् तर र्दें। 
 
सात बॉक् स अथाषत ्M, N, O, P, Q, R और S 

को एक के ऊपर एक रिा गया है लदेकि 
आवश् यक िहीीं है दक इसी क्रम में हो। प्रत्येक 
बॉक्स का रींग अलग-अलग अथाषत ् 12 दकलो, 
10 दकलो, 18 दकलो, 20 दकलो, 24 दकलो और 
5 दकलो है लेदकि आवश् यक िहीीं है दक इसी 
क्रम में हो। 
 
12 दकलो के बॉक्स के ऊपर र्दो से अनधक बॉक्स 
रिे गए हैं। 12 दकलो के बॉक्स और बॉक्स R 

जो बॉक् स O के ठीक िीचे है के बीच केवल एक 
बॉक् स रिा गया है। ि तो O और ि ही S 20 

दकलो का बॉक्स है। S 12 दकलो का बॉक् स िहीीं 
है। 20 दकलो और 12 दकलो के बॉक्स के बीच 
केवल र्दो बॉक्स रि ेगए हैं। 20 दकलो के बॉक्स 
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को बॉक्स M के ठीक िीचे रिा गया है। N और 
10 दकलो का बॉक्स जो N से िीचे है के बीच 
केवल एक बॉक्स है। 10 दकलो के बॉक्स और 
8 दकलो के बॉक्स के बीच केवल र्दो बॉक्स रि े
गए हैं। 18 दकलो के बॉक्स को ढेर (स् टैक) में 
ि तो शीर्ष पर रिा गया है और ि ही सबसे 
िीचे रिा गया है। S को 5 दकलो के बॉक्स के 
ऊपर रिा गया है। N को Q के ठीक ऊपर रिा 
गया है।  
 

26. उस बॉक्स का वजि क्या है जो ढेर (स्टैक) 
के बीच में रिा गया है? 

A. 18 दक.ग्रा. 
B. 10 दक.ग्रा. 
C. 20 दक.ग्रा. 
D. 12 दक.ग्रा. 
E. इिमें से कोई िहीीं 
 

27.बॉक्स N और Q का वजि दकस बॉक्स के 
वजि के बराबर है? 

A. S, P 
B. S, N 

C. S, Q 
D. P, M 

E. इिमें से कोई िहीीं 
 

28.बॉक्स O के ऊपर दकतिे बॉक्स रिे गए हैं? 

A. 2 
B. 3 

C. 1 

D. कोई बॉक् स िहीीं 
E. इिमें से कोई िहीीं 
 

29.दकस बॉक्स का वजि न् यूितम है? 

A. M 

B. O 
C. P 

D. Q 
E. R 

 

30.निम्ि में से कौि सा कथि Q के सींर्दभष में 
गलत है? 

A. Q, N और S र्दोिों के आसन् ि है 
B. Q का वजि 12 दक.ग्रा. है 
C. Q को ढेर (स्टैक) के बीच में रिा गया है 
D. सभी गलत हैं 
E. इिमें से कोई िहीीं 
 

निरे्दश: निम् िनलखित जािकारी का ध् यािपूवषक 
अध् ययि करें और तर्दिुसार प्रश् िों के उत् तर र्दें: 
 
रमि अपिे घर से उत् तर दर्दशा की ओर चलिा 
प्रारींभ करता है। 20 दकमी चलिे के बार्द, वह र्दाईं 
ओर मुडता है और 10 दकमी चलकर एक 

अस्पताल पहुींचता है। यहाीं से, वह बाएीं मुडता है 
और 12 दकमी चलकर अपिे नमत्र जय के घर 
पहुींचता है। अब, वह बाईं ओर मुडता है और 35 

दकमी चलकर एक बेकरी की र्दकुाि पर पहुींचता 
है। अींत में, वह लगातार र्दो बार बाईं ओर मुडता 
है और क्रमश: 12 दकमी और 10 दकमी चलकर 
अपिे कायाषलय पहुींचता है। 
 

31. जय का घर रमि के कायाषलय से दकस 
दर्दशा में है? 

A. र्दखिण 

B. उत् तर-पखश् चम 

C. र्दखिण-पखश् चम 

D. उत् तर-पूवष 
E. इिमें से कोई िहीीं 
 

32.निम् िनलखित में से ववर्म ज्ञात कीखजए? 

A. रमि का कायाषलय, बेकरी की र्दकुाि 

B. अस् पताल, बेकरी की र्दकुाि 

C. रमि का कायाषलय, जय का घर 
D. रमि का घर, रमि का कायाषलय 

E. रमि का घर, बेकरी की र्दकुाि 
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33.अस् पताल रमि के कायाषलय से दकस दर्दशा 
में है? 

A. पूवष 
B. र्दखिण 

C. उत् तर-पखश् चम 

D. र्दखिण-पूवष 
E. ज्ञात िहीीं दकया जा सकता 
 

निरे्दश: िीचे दर्दए गए पैसेज को पढें और प्रश्नों के 

उत्तर र्दें। 
 

36 राज्यों में शानमल िाइजीररया का अभी अपिा 
आम चुिाव हुआ है और यह लोकतींत्र में उसकी 
वापसी के बार्द से छठा चुिाव है। ऑल प्रोगे्रनसव 
काींग्रेस (APC) के वतषमाि अध्यि मुहम्मर्द ूबुहारी 
िे अपिे निकटतम प्रनतद्वींद्वी, पीपुल्स डेमोके्रदटक 

पाटी (PDP) के अतीकु अबुबकर को लगभग चार 
नमनलयि मतों से हराया। पररणाम स्वीकार करिे 

के पूवष-चुिावी वार्दों के बावजूर्द, श्री अबुबकर िे 

पररणामों को िाररज कर दर्दया है, चुिाव को 
"दर्दिावा" और "सैन्यीकृत" बताया और अर्दालत 

में इस पर सवाल उठािे का िैसला दकया। चुिाव 
में 73 पींजीकृत उम्मीर्दवार थे। 91 पींजीकृत 

राजिीनतक र्दल हैं। 70 से अनधक िागररक 

सींगठिों के गठबींधि िे चुिावों की निगरािी की, 
खजसस ेचुिावों की ववश्वसिीयता को बढाया। 
 

34. निम्ि में से कौि सा/से वतषमाि खस्थनत के 

बर्दल ेएक सींभाववत कारषवाई है? 

A. िाइजीररया भारत का सबसे बडा दहतैर्ी है, 
इसका सबसे बडा व्यापाररक साझेर्दार है। 135 से 

अनधक भारतीय कीं पनियों के िाइजीररया में 
पर्दनचन् ह हैं, खजिमें सावषजनिक िते्र में भारतीय 

स्टेट बैंक, न्यू इींदडया एश्योरेंस और मेकॉि तथा 
निजी िेत्र में भारती एयरटेल, टाटा, बजाज, 

वबडला, दकलोस्कर और मदहींद्रा शानमल हैं। 

B. सरकार के एक अध्यिीय रूप में एक सींघीय 

गणराज्य, िाइजीररया में एक दद्वसर्दिीय राष्ट्रीय 

ववधािसभा है खजसमें 109 सर्दस्यीय सीिेट और 
360 सर्दस्यीय प्रनतनिनध सभा शानमल है, र्दोिों 
चार साल के नलए चुि ेगए हैं। 
C. भारत के ववपरीत, मतगणिा मतर्दाि कें द्रों में 
की जाती है, लेदकि पररणाम सींघदटत दकए जात े

हैं और नमलाि कें द्रों पर घोवर्त दकए जात ेहैं। 
D. उपरोि में से कोई िहीीं। 
E. उपरोि सभी। 
 

35.निम्ि में से कौि सा एक सींभाववत अिुमाि है 
जो प्रर्दाि की गई जािकारी से निकाला जा सकता 
है? 

A. लगभग 200 नमनलयि की आबार्दी के साथ, 

िाइजीररया अफ्रीका में सबसे अनधक आबार्दी वाला 
रे्दश है, जो पखिम अफ्रीका की आबार्दी का 47% 

है। 
B. रे्दश में 36 राज्य (सींघीय राजधािी िेत्र के 

अलावा) हैं, प्रत्येक एक निवाषनचत राज्यपाल 

सदहत और एक ववधाि सभा सदहत हैं। 
C. पीपल्स डेमोके्रदटक पाटी (पी.डी.पी) िे अपिे 

निकटतम प्रनतद्वींद्वी, ऑल प्रोगे्रनसव्स काींग्रेस 

(ए.पी.सी) के अतीकू अबुबकर को लगभग चार 
नमनलयि वोटों से हराया। 
D. अतीत और आश्वासिों में अच्छे चुिाव के 

अिुभव के बावजूर्द, चुिाव सभी प्रकार की िानमयों 
से भरा हुआ था। 
E. चुिावों की निगरािी करिे वाले 70 से अनधक 

िागररक सींगठिों के साथ, पी.डी.पी द्वारा र्दावा 
दकए गए आरोप लींबे समय तक िहीीं दटके। 
 

36.उपरोि पैसेज में र्दी गई जािकारी के अिुसार 
निम्ि में से कौि सा प्रासींनगक है? 

A. चुिाव से पहल ेऔर चुिाव के दर्दि दहींसा की 
नछटपुट घटिाओीं के अलावा, मतर्दाि सामग्री को 
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िष्ट करिे, मत-पेदटयों को छीििे और मतर्दाताओीं 
को ररश्वत रे्दिे से चुिाव भींग हुए। 
B. कोई भी प्रासींनगक िहीीं है। 
C. सभी प्रासींनगक हैं। 
D. 91 पींजीकृत राजिीनतक र्दलों में से, पी.डी.पी 
ए.डी.पी से चुिाव हार गई और चुिावों के 

सैन्यीकरण के बारे में र्दाव ेदकए। 
E. 70 से कम िागररक सींगठिों के गठबींधि िे 

चुिावों की निगरािी की, खजसस े चुिावों की 
ववश्वसिीयता बढी। 
 

निरे्दश: िीचे र्दी गई जािकारी का ध् यािपूवषक 
अध् ययि करें तथा उसके आधार पर प्रश् िों के 
उत् तर र्दें। 
यहाीं आठ व् यवि अथाषत ् नचींटू, अमरा, आयु, 

अचषिा, काजल, ववक् की, दकस् मत तथा लक्ष् य हैं। 
उि सभी का जन् म ववनभन् ि वर्ों अथाषत ्1965, 

1966, 1972, 1984, 1989 1993, 1999 
तथा 2002 में हुआ है। उिकी आयु वर्ष 2017 
के सींर्दभष में हैं। 
 

ववक् की तथा दकस् मत की आयु के बीच 6 वर्ष 
का अींतर है। दकस् मत, ववक् की से छोटी है। अचषिा 
का जन् म वर्ष 1984 से पहले हुआ था। काजल 
15 वर्ष की है। आयु 24 वर्ष की िहीीं है तथा 
उसका जन् म लक्ष् य के बार्द हुआ था। लक्ष् य तथा 
अचषिा के बीच आयु का अींतराल 3 के गणुज 
में है। नचींटू, अमरा से छोटा है। अमरा का जन् म 
ववक् की के बार्द हुआ था। 
 

37. दकस् मत का जन् म दकस वर्ष में हुआ था? 

A. 1965 
B. 1966 
C. 1972 

D. 1984 

E. इिमें से कोई िहीीं 
 

38.निम् ि में से कौि 28 वर्ष का है? 

A. नचींटू 
B. अचषिा 
C. अमरा 
D. लक्ष् य 

E. इिमें से कोई िहीीं 
 

39.निम् ि में से कौि सी पररखस्थनत सही िहीीं 
है? 

A. 1999 – आयु 

B. 1972 – अमरा 
C. 1966 – ववक् की 
D. 1993 – नचींटू 
E. इिमें से कोई िहीीं 
 

40.नचींटू की आयु क् या है? 

A. 45 

B. 28 
C. 17 
D. 33 

E. इिमें से कोई िहीीं 
 

निरे्दश: िीचे दर्दए गए पाई-चाटष और तानलका का 
अध्ययि करें तथा िीचे दर्दए गए प्रश्नों के उत्तर 
र्दें: 
निम्िनलखित पाई-चाटष जिवरी, िरवरी, माचष, 
अप्रैल और मई के महीिे में सािात्कार के नलए 
उपखस्थत होिे वाले परुुर् उम्मीर्दवारों की सींख्या 
के प्रनतशत-ववतरण को र्दशाषता है। 
दर्दए गए महीिों में सािात्कार के नलए उपखस्थत 
होिे वाले पुरुर् उम्मीर्दवारों की कुल सींख्या = 

80 
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निम्िनलखित तानलका में, जिवरी, िरवरी, माचष, 
अप्रैल और मई के महीिों में सािात्कार के नलए 
उपखस्थत हुए पुरुर् उम्मीर्दवारों की सींख्या और 
मदहला उम्मीर्दवारों की सींख्या का औसत िीच े
दर्दया गया है। 

 
 

41. जूि के महीिे में सािात्कार के नलए 
उपखस्थत होिे वाली मदहला उम्मीर्दवारों की कुल 
सींख्या मई में 25% कम है तथा जूि के महीिे 
में सािात्कार के नलए उपखस्थत होिे वाली 
मदहला उम्मीर्दवारों की सींख्या कुल उम्मीर्दवारों 
की सींख्या की 24% है, जो जूि के महीिे में 
एक सािात्कार के नलए उपखस्थत हुए, तो जिू 
के महीिे में दकतिे परुुर् उम्मीर्दवार सािात्कार 
के नलए उपखस्थत हुए? 

A. 24 
B. 30 
C. 36 

D. 38 

E. इिमें से कोई िहीीं 
 

42.अप्रैल के महीिे में सािात्कार के नलए 
उपखस्थत होिे वाली मदहला उम्मीर्दवारों की कुल 

सींख्या िरवरी के महीिे में दकतिे प्रनतशत 
अनधक है? 

A. 20% 
B. 30% 
C. 15% 

D. 25% 

E. इिमें से कोई िहीीं 
 

43.जिवरी, माचष और अप्रैल के महीिे में 
सािात्कार के नलए उपखस्थत होिे वाली मदहला 
उम्मीर्दवारों की औसत सींख्या ज्ञात कीखजए। 
A. 18 
B. 20 
C. 24 

D. 30 

E. इिमें से कोई िहीीं 
 

44.िरवरी, माचष, अप्रैल में पुरुर् उम्मीर्दवारों की 
सींख्या के योग का अिुपात क्या है जो 
सािात्कार के नलए उपखस्थत हुए तथा जिवरी 
और माचष में मदहला उम्मीर्दवारों की सींख्या का 
योग क् या है जो सािात्कार के नलए उपखस्थत 
हुईं? 

A. 1 : 2 

B. 3 : 4 
C. 4 : 5 

D. 2 : 3 
E. 5 : 6 
 

45.मई में सािात्कार के नलए उपखस्थत होिे 
वाली मदहला उम्मीर्दवारों की सींख्या, अगस्त में 
सािात्कार के नलए उपखस्थत होिे वाले पुरुर् 
उम्मीर्दवारों की सींख्या तथा अगस्त में 
सािात्कार के नलए उपखस्थत होिे वाली मदहला 
उम्मीर्दवारों की सींख्या 4: 7: 10 के अिुपात में 
है। अगस्त में सािात्कार के नलए उपखस्थत होिे 
वाले पुरुर् और मदहला उम्मीर्दवारों की सींख्या 
में दकतिा अींतर है? 

A. 20 
B. 16 
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C. 14 
D. 12 

E. 10 
 

46.सािात्कार के नलए उपखस्थत होिे वाले सभी 
उम्मीर्दवार िरवरी में अपिे निधाषररत सािात्कार 
समय से पहल ेपहुींच गए। सािात्कार से पहल े
उम्मीर्दवारों के नलए पहुींचिे का औसत समय 

45 नमिट था। यदर्द सािात्कार से पहल ेमदहला 
उम्मीर्दवारों के नलए पहुींचिे का औसत समय 

52 नमिट था, तो सािात्कार से पहल ेएक पुरुर् 
उम्मीर्दवार के नलए पहुींचिे का औसत समय 
क्या है? 

A. 34 नमिट 30 सेकीं ड 
B. 35 नमिट 45 सेकीं ड 
C. 36 नमिट 15 सकेीं ड 
D. 37 नमिट 30 सेकीं ड 
E. 38 नमिट 45 सकेीं ड 
 

निरे्दश: निम् िनलखित सींख् या श्रृींिला में प्रश्नवाचक 
नचन् ह '?' के स्थाि पर क्या आिा चादहए? 

 

47. 10000, 3000, 1800, 1620, ? 
A. 1458 
B. 972 

C. 1944 
D. 194.4 

E. इिमें से कोई िहीीं 
 
48.900, 896, 880, 844, 780, ? 
A. 720 

B. 680 
C. 640 

D. 630 

E. इिमें से कोई िहीीं 
 
49.64, 64, 160, 800, 6800, ? 

A. 68000 
B. 74800 

C. 81600 
D. 85000 

E. 88400 

 
50.13, 40, 168, 849, ?, 36131 

A. 4309 
B. 4784 
C. 5110 

D. 5158 
E. 5246 

 
51.9450, 3150, 787.5, 157.5, ?, 3.75 
A. 62.25 

B. 56.5 
C. 39.375 

D. 31.5 
E. 26.25 
 

52.जब राजीव की बहि का जन्म हुआ था, तब 
उसके वपता की आयु 28 वर्ष थी और उसकी 
माता की आयु 26 वर्ष थी। जब राजीव का जन् म 
हुआ था, उसकी बहि की आयु 5 वर्ष थी। जब 
राजीव 15 वर्ष का हो जाएगा तो उसकी माता 
और वपता की आयु का योग क्या होगा? 

A. 70 वर्ष 
B. 80 वर्ष 
C. 90 वर्ष 
D. 94 वर्ष 
E. इिमें से कोई िहीीं 
 

53.रेि A से रेि B की गनत का अिुपात 7: 10 

है। रेि A, 8 सेकीं ड में एक ववद्युत िम्भ ेको पार 
करती है। एक अन्य रेि C जो 540 मीटर लींबी 
है, वह 12 सकेीं ड में एक िम्भ ेको पार कर 
सकती है और रेि C की गनत रेि B की गनत 
से आधी है। यदर्द रेि B की लींबाई रेि A की 
लींबाई से 144 मीटर कम है, तो रेि B की लींबाई 
ज्ञात करें। 
A. 420 मीटर 
B. 504 मीटर 
C. 360 मीटर 
D. 450 मीटर 
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E. इिमें से कोई िहीीं 
 

54.तीि पाइप A, B और C 16 घींटे में एक टैंक 
को भर सकते हैं। 4 घींटे तक एक साथ काम 
करिे के बार्द, पाइप B बींर्द हो जाता है और शरे् 
भाग 18 घींटे में पाइप A और C द्वारा भरा जाता 
है। यदर्द पाइप B की र्दिता पाइप C की र्दिता 
का 1.5 गुिा है, तो A दकतिे समय में अकेल े
टैंक को भर सकता है? 

A. 24 घींटे 
B. 36 घींटे 
C. 30 घींटे 
D. 42 घींटे 
E. इिमें से कोई िहीीं 
 

55.एक पात्र में A लीटर रस है। यदर्द इस पात्र 
में से 60 लीटर रस निकाला जाता है और 40 

लीटर पािी डाल दर्दया जाता है, तो रस और 
पािी का अिुपात 5: 1 हो जाता है। र्दसूरे पात्र 
में (A + B) लीटर रस है और यदर्द इसमें 50 

लीटर पािी डाला जाता है उस पात्र में रस और 
पािी का अिुपात 6 हो जाता है। तो B का माि 
ज्ञात कीखजए। 
A. 50 
B. 60 

C. 25 
D. 40 

E. इिमें से कोई िहीीं 
 

56.शानलिी िे एक स्कीम में X रुपये का निवेश 
दकया, खजसमें 12% प्रनत वर्ष का चक्रववृद्ध ब्याज 
नमलता है और उस े2 वर्ों के बार्द 3816 रुपये 
का कुल ब्याज प्राप्त हुआ। यदर्द अींकुर िे दकसी 
अन्य योजिा में (X + 5000) रुपये का निवेश 
दकया है, जो 18% प्रनत माह साधारण ब्याज 
प्रर्दाि करती है, तो 3 वर्ों के बार्द उस निवेश 
पर दकतिा ब्याज प्राप्त होगा? 

A. 10800 रुपये 

B. 12600 रुपये 

C. 11200 रुपये 

D. 12000 रुपये 

E. इिमें से कोई िहीीं 
 

57.खस्थर जल में एक िाव की गनत धारा की 
गनत से 250% अनधक है। एक िाव धारा के 
अिुकूल D दकमी और धारा के प्रनतकूल (D+ 

24) दकमी की र्दरूी 12 घींटे में तय करती है। 
यदर्द धारा के अिुकूल और धारा के प्रनतकूल िाव 
की गनत का योग 84 दकमी / घींटा है, तो धारा 
के प्रनतकूल (D - 51) दकमी की र्दरूी तय करिे 
में िाव द्वारा नलया गया समय ज्ञात करें। 
A. 4 घींटे 
B. 6 घींटे 
C. 4.2 घींटे 
D. 5 .5 घींटे 
E. 4.5 घींटे 
 

58.A और B र्दो ररींगों के अींदकत मूल्यों का 
अिुपात 4: 7 है। र्दकुािर्दार ररींग A पर 16% 

और 10% की र्दो क्रनमक छूट रे्दता है और ररींग 

B पर 20% और d% की र्दो क्रनमक छूट रे्दता 
है। ररींग A और B के ववक्रय मूल्य का अिुपात 

9: 16 है, तो D का मूल्य ज्ञात कीखजए। 
A. 8 
B. 5 

C. 4 
D. 6 

E. इिमें से कोई िहीीं 
 

निरे्दश: िीचे र्दी गई जािकारी का ध्यािपूवषक 
अध्ययि करें और निम्िनलखित प्रश्नों के उत्तर 
र्दें: 
गोवा जािे वाली 3 बसों में तीि अलग-अलग 
तरह की सीट हैं, जो गनलयारे की बीच की और 
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खिडकी की हैं। उिमें से कुछ भर गई हैं और 
कुछ िाली हैं। प्रत्येक तरह की कुल 40 सीटें हैं। 
बस P: गनलयारे की िाली सीट की सींख्या कुल 
सीटों की सींख्या का 20% है। बीच की केवल 

50% सीटें भरी हुई हैं। खिडकी की िाली सीटों 
की सींख्या गनलयारे और बीच की भरी हुई सीटों 
के 2 / 3 है। 
बस Q: बीच की िाली सीटों की सींख्या बस P 

में भरी हुई गनलयारों की सीटों की सींख्या से 10 

अनधक है। भरी हुई खिडकी की सीटों की सींख्या 
बस P में िाली सीटों की सींख्या से आधी है। 
गनलयारे की भरी हुई सीटों की सींख्या गनलयारे 
की िाली सीटों की सींख्या से 12 अनधक है। 
बस R: िाली सीटों की कुल सींख्या कुल सीटों 
की कुल सींख्या का 37.5% है। बीच की 50% 

सीटें िाली हैं। गनलयारे की भरी हुई सीटों की 
सींख्या कुल भरी भरी हुई सीटों की सींख्या का 
2/5 है। 
 

59. तीिों बसों में एक साथ भरी हुई सीटों की 
कुल सींख्या दकतिी है? 

A. 200 
B. 196 
C. 241 

D. 201 

E. इिमें से कोई िहीीं 
 

60.यदर्द गोवा के एक दटकट का दकराया सभी 
बसों के नलए 1500 रूपये है, तो इस गोवा यात्रा 
से बस Q द्वारा उत्पन्ि राजस्व ज्ञात कीखजये। 
A. 123000 रूपये 

B. 111000 रूपये 

C. 116000 रूपये 

D. 133000 रूपये 

E. इिमें से कोई िहीीं 

61.यदर्द प्रत्येक िाली सीट के नलए, कीं पिी को 
800 रुपये की हानि होती है, तो कीं पिी को हुई 
कुल हानि ज्ञात करें। 
A. 125400 रूपये 

B. 127200 रूपये 

C. 132600 रूपये 

D. 116600 रूपये 

E. 128300 रूपये 

 

निरे्दश: िीचे र्दी गई जािकारी का ध्यािपूवषक 
अध्ययि करें और निम्िनलखित प्रश्नों के उत्तर 
र्दें: 
गोवा जािे वाली 3 बसों में तीि अलग-अलग 
तरह की सीट हैं, जो गनलयारे की बीच की और 
खिडकी की हैं। उिमें से कुछ भर गई हैं और 
कुछ िाली हैं। प्रत्येक तरह की कुल 40 सीटें हैं। 
बस P: गनलयारे की िाली सीट की सींख्या कुल 
सीटों की सींख्या का 20% है। बीच की केवल 

50% सीटें भरी हुई हैं। खिडकी की िाली सीटों 
की सींख्या गनलयारे और बीच की भरी हुई सीटों 
के 2 / 3 है। 
बस Q: बीच की िाली सीटों की सींख्या बस P 

में भरी हुई गनलयारों की सीटों की सींख्या से 10 

अनधक है। भरी हुई खिडकी की सीटों की सींख्या 
बस P में िाली सीटों की सींख्या से आधी है। 
गनलयारे की भरी हुई सीटों की सींख्या गनलयारे 
की िाली सीटों की सींख्या से 12 अनधक है। 
बस R: िाली सीटों की कुल सींख्या कुल सीटों 
की कुल सींख्या का 37.5% है। बीच की 50% 

सीटें िाली हैं। गनलयारे की भरी हुई सीटों की 
सींख्या कुल भरी भरी हुई सीटों की सींख्या का 
2/5 है। 
 

62. यदर्द बस R में, 40% सीटों पर मदहलाए ँ
बैठी थीीं। और उि मदहलाओीं में से, 40% 25 
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वर्ष की आयु से ऊपर थीीं, तो बस R में 25 वर्ष 
से कम आयु की मदहलाओीं की सींख्या ज्ञात करें। 
A. 24 
B. 16 
C. 20 

D. 18 

E. इिमें से कोई िहीीं 
 

निरे्दश: िीचे र्दी गई जािकारी का ध्यािपूवषक 
अध्ययि करें और निम्िनलखित प्रश्नों के उत्तर 
र्दें: 
गोवा जािे वाली 3 बसों में तीि अलग-अलग 
तरह की सीट हैं, जो गनलयारे की बीच की और 
खिडकी की हैं। उिमें से कुछ भर गई हैं और 
कुछ िाली हैं। प्रत्येक तरह की कुल 40 सीटें हैं। 
बस P: गनलयारे की िाली सीट की सींख्या कुल 
सीटों की सींख्या का 20% है। बीच की केवल 

50% सीटें भरी हुई हैं। खिडकी की िाली सीटों 
की सींख्या गनलयारे और बीच की भरी हुई सीटों 
के 2 / 3 है। 
बस Q: बीच की िाली सीटों की सींख्या बस P 

में भरी हुई गनलयारों की सीटों की सींख्या से 10 

अनधक है। भरी हुई खिडकी की सीटों की सींख्या 
बस P में िाली सीटों की सींख्या से आधी है। 
गनलयारे की भरी हुई सीटों की सींख्या गनलयारे 
की िाली सीटों की सींख्या से 12 अनधक है। 
बस R: िाली सीटों की कुल सींख्या कुल सीटों 
की कुल सींख्या का 37.5% है। बीच की 50% 

सीटें िाली हैं। गनलयारे की भरी हुई सीटों की 
सींख्या कुल भरी भरी हुई सीटों की सींख्या का 
2/5 है। 
 

63. बस P में िाली सीटों की सींख्या बस R में 
िाली सीटों की तुलिा में दकतिे प्रनतशत अनधक 
है? 

A. 55% 

B. 40% 

C. 60% 
D. 72% 

E. 42% 
 

निरे्दश: िीचे दर्दए गए प्रत्येक प्रश्न के बार्द र्दो 
कथि I और II दर्दए गए हैं। आपको यह 
निधाषररत करिा होगा दक कथि में र्दी गई 
जािकारी प्रश्न का उत्तर रे्दिे के नलए पयाषप्त हैं या 
िहीीं। आपको सबसे अच्छा सींभव उत्तर चुििा 
होगा। 
 

64. एक व्यवि 4% प्रनत वर्ष की र्दर से 2 वर्ों 
के नलए X रूपये का निवेश करता है। तो X का 
माि ज्ञात करें। 
कथि I: 2 वर्ों के बार्द प्राप्त रानश 135000 

रुपये है। 
कथि II: 2 वर्ों के बार्द प्राप्त ब्याज 10000 

रुपये है। 
A. यदर्द अकेल ेकथि I में र्दी गई जािकारी प्रश्न 
का उत्तर रे्दिे के नलए पयाषप्त है, जबदक अकेल े
कथि II में र्दी गई जािकारी प्रश्न का उत्तर रे्दिे 
के नलए पयाषप्त िहीीं है। 
B. यदर्द अकेल ेकथि II में र्दी गई जािकारी 
प्रश्न का उत्तर रे्दिे के नलए पयाषप्त है, जबदक 
अकेल ेकथि I में र्दी गई जािकारी प्रश्न का उत्तर 
रे्दिे के नलए पयाषप्त िहीीं है। 
C. यदर्द या तो अकेल े कथि I में या अकेल े
कथि II में र्दी गई जािकारी प्रश्न का उत्तर रे्दिे 
के नलए पयाषप्त है। 
D. यदर्द कथि I और II र्दोिों में र्दी गई 
जािकारी एक साथ भी प्रश्न का उत्तर रे्दिे के 
नलए पयाषप्त िहीीं हैं। 
E. यदर्द कथि I और II र्दोिों में र्दी गई जािकारी 
एक साथ प्रश्न का उत्तर रे्दिे के नलए आवश्यक 
है। 
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निरे्दश: िीचे दर्दए गए प्रत्येक प्रश्न के बार्द र्दो 
कथि I और II दर्दए गए हैं। आपको यह 
निधाषररत करिा होगा दक कथि में र्दी गई 
जािकारी प्रश्न का उत्तर रे्दिे के नलए पयाषप्त हैं या 
िहीीं। आपको सबसे अच्छा सींभव उत्तर चुििा 
होगा। 
 

65. बेलि की ऊीं चाई ज्ञात करें। 
कथि I: बेलि की वत्रज्या इसकी ऊीं चाई का 1/3 

है। 
कथि II: बेलि का वक्र पषृ्ठीय िते्रिल 924 

सेमी2 है और इसका कुल पषृ्ठीय िते्रिल 1232 

सेमी2 है। 
A. यदर्द अकेल ेकथि I में र्दी गई जािकारी प्रश्न 
का उत्तर रे्दिे के नलए पयाषप्त है, जबदक अकेल े
कथि II में र्दी गई जािकारी प्रश्न का उत्तर रे्दिे 
के नलए पयाषप्त िहीीं है। 
B. यदर्द अकेल ेकथि II में र्दी गई जािकारी 
प्रश्न का उत्तर रे्दिे के नलए पयाषप्त है, जबदक 
अकेल ेकथि I में र्दी गई जािकारी प्रश्न का उत्तर 
रे्दिे के नलए पयाषप्त िहीीं है। 
C. यदर्द या तो अकेल े कथि I में या अकेल े
कथि II में र्दी गई जािकारी प्रश्न का उत्तर रे्दिे 
के नलए पयाषप्त है। 
D. यदर्द कथि I और II र्दोिों में र्दी गई 
जािकारी एक साथ भी प्रश्न का उत्तर रे्दिे के 
नलए पयाषप्त िहीीं हैं। 
E. यदर्द कथि I और II र्दोिों में र्दी गई जािकारी 
एक साथ प्रश्न का उत्तर रे्दिे के नलए आवश्यक 
है। 
 

66.उत्पार्द का लागत मूल्य ज्ञात कीखजए। 
कथि I: उत्पार्द का अींदकत मूल्य लागत मूल्य 
से 25% अनधक है। कुछ छूट रे्दिे के बार्द, 
अखजषत लाभ 12.5% है। 

कथि II: उत्पार्द का ववक्रय मूल्य अींदकत मूल्य 
पर 10% की छूट रे्दिे के बार्द 450 रूपये है। 
A. यदर्द अकेल ेकथि I में र्दी गई जािकारी प्रश्न 
का उत्तर रे्दिे के नलए पयाषप्त है, जबदक अकेल े
कथि II में र्दी गई जािकारी प्रश्न का उत्तर रे्दिे 
के नलए पयाषप्त िहीीं है। 
B. यदर्द अकेल ेकथि II में र्दी गई जािकारी 
प्रश्न का उत्तर रे्दिे के नलए पयाषप्त है, जबदक 
अकेल ेकथि I में र्दी गई जािकारी प्रश्न का उत्तर 
रे्दिे के नलए पयाषप्त िहीीं है। 
C. यदर्द या तो अकेल े कथि I में या अकेल े
कथि II में र्दी गई जािकारी प्रश्न का उत्तर रे्दिे 
के नलए पयाषप्त है। 
D. यदर्द कथि I और II र्दोिों में र्दी गई 
जािकारी एक साथ भी प्रश्न का उत्तर रे्दिे के 
नलए पयाषप्त िहीीं हैं। 
E. यदर्द कथि I और II र्दोिों में र्दी गई जािकारी 
एक साथ प्रश्न का उत्तर रे्दिे के नलए आवश्यक 
है। 
 

निरे्दश: निम्िनलखित ग्राफ़ का ध्यािपूवषक 
अध्ययि करें और उि प्रश्नों के उत्तर र्दें जो 
निम्िनलखित हैं: 
500 लोगों पर एक सवेिण दकया गया, खजसमें 
उिस ेपूछा गया है दक क्या वे चार अलग-अलग 
शहरों A, B, C और D में लैपटॉप, डेस्कटॉप या 
मैक बुक का उपयोग करत ेहैं। 
िीचे दर्दया गया बार-ग्राि 4 शहरों में सवेिण 
दकए गए लोगों के प्रनतशत-ववतरण को र्दशाषता 
है। 
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िीचे दर्दया गया बार-ग्राि उि लोगों के प्रनतशत-
ववतरण को र्दशाषता है जो ववशेर् रूप से 4 शहरों 
में डेस्कटॉप या लैपटॉप का उपयोग करत ेहैं। 

 

दकसी शहर में लोगों की कुल सींख्या = डेस्कटॉप 
का उपयोग करिे वाले लोगों की सींख्या + 
लैपटॉप का उपयोग करिे वाल ेलोगों की सींख्या 
+ मैक बुक का उपयोग करिे वाले लोगों की 
सींख्या 
 

67. सभी 4 शहरों में एक साथ लैपटॉप का 
उपयोग करिे वाले लोगों की सींख्या का औसत 
दकतिा है? 

A. 55 

B. 60 
C. 50 
D. 48 

E. इिमें से कोई िहीीं 
 

68.शहर A और B में मैक बुक का उपयोग करिे 
वाले लोगों की सींख्या सवेिण में शानमल लोगों 
की कुल सींख्या का दकतिा प्रनतशत है? 

A. 9.6% 

B. 12% 
C. 10 .6% 
D. 15.5% 

E. इिमें से कोई िहीीं 
 

69.यदर्द शहर C में डेस्कटॉप का उपयोग करिे 
वाले लोगों की सींख्या का 25% मदहलाएीं हैं, तो 
शहर C में डेस्कटॉप का उपयोग करिे वाले पुरुर्ों 
की सींख्या ज्ञात कीखजये। 
A. 20 

B. 18 
C. 24 

D. 21 

E. इिमें से कोई िहीीं 
 

70.यदर्द शहर D में डेस्कटॉप के कुल 
उपयोगकताषओीं (सवेिण) में से, 25% डेल, 

37.5% लेिोवो का उपयोग करत ेहैं और शरे् 
एचपी का उपयोग करत ेहैं, तो एचपी और डेल 
के डेस्कटॉप उपयोगकताषओीं की सींख्या के बीच 
का अींतर ज्ञात करें। 
A. 10 

B. 6 
C. 15 
D. 8 

E. 12 
 

71.शहर B में सवेिण दकए गए लोगों का शहर 
A और B में मैक बुक का उपयोग करिे वाले 
कुल लोगों की सींख्या का अिुपात क्या है? 

A. 7 : 3 

B. 15 : 8 
C. 10 : 7 

D. 9 : 5 

E. इिमें से कोई िहीीं 
 

72.शहर D में एक साथ लपैटॉप और मकै बकु 
का उपयोग करिे वाले लोगों की कुल सींख्या 
शहर A में सवेिण दकए गए लोगों की कुल 
सींख्या से दकतिे प्रनतशत अनधक या कम है? 

A. 24% 

B. 20% 
C. 12% 

D. 15% 

E. इिमें से कोई िहीीं 
 

73.राजीव और पींकज िे क्रमशः 12500 रुपये 
और 16000 रुपये की पूींजी के साथ एक 
व्यवसाय शुरू दकया। 4 महीिे के बार्द, अनभर्के 

X पूींजी के साथ उिके साथ जुड गया। कुल लाभ 
में से, पींकज के लाभ का दहस्सा 24000 रुपये 
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है और राजीव और अनभर्ेक के लाभ के दहस्स े
का अिुपात 25: 24 है। तो कुल लाभ ज्ञात करें। 
A. 62500 रुपये 

B. 60750 रुपये 

C. 58250 रुपये 

D. 65400 रुपये 

E. इिमें से कोई िहीीं 
 

74.X% की छूट रे्दिे के बार्द 50% के लाभ पर 
एक वस्त ुको बेचा जाता है। यदर्द वह 2X% की 
छूट रे्दिे के बार्द वस्तु को बेचता, तो उस े33 

1/3% लाभ होता। तो वस्तु का अींदकत मूल्य 
ज्ञात करें यदर्द वस्त ु का लागत मूल्य 1500 

रुपये है। 
A. 3000 रुपये 

B. 2700 रुपये 

C. 2500 रुपये 

D. 2250 रुपये 

E. इिमें से कोई िहीीं 
 

75.मोदहिी अपिी आय का 30% और 25% 

क्रमशः भोजि और दकराए पर िचष करती है। 
वह शेर् आय का 40% नशिा पर िचष करती है 
और इस तरह 3630 रुपये बचाती है, तो भोजि 
और नशिा पर िचष की गई रानश के बीच का 
अींतर ज्ञात करें। 
A. 880 रुपये 

B. 940 रुपये 

C. 1020 रुपये 

D. 800 रुपये 

E. इिमें से कोई िहीीं 
 

76.एक आयत की लींबाई और चौडाई का 
अिुपात 11: 6. है। यदर्द आयत की लींबाई 2 

मीटर कम हो जाती है और चौडाई 6 मीटर बढ 

जाती है, तो इसका िेत्रिल 1260 मीटर2 हो 
जाता है, तो मूल आयत का पररमाप ज्ञात करें। 
A. 108 मीटर 
B. 154 मीटर 
C. 140 मीटर 
D. 124 मीटर 
E. इिमें से कोई िहीीं 
 

77.पाींच र्दोस्तों A, B, C, D और E की औसत 
आयु 54 वर्ष है। यदर्द दकसी अन्य व्यवि F की 
आयु भी जोड र्दी जाती है, तो सभी छह व्यवियों 
की औसत आयु पहल ेपाींच र्दोस्तों की औसत से 

3 दकलोग्राम कम हो जाती है। तो A, C, D और 
F की औसत आयु ज्ञात करें, यदर्द B और E की 
औसत आयु 48 वर्ष है। 
A. 57.5 वर्ष 
B. 51 वर्ष 
C. 52.5 वर्ष 
D. 56 वर्ष 
E. इिमें से कोई िहीीं 
 

78.अिींत और सादहल क्रमशः 32 और 96 दर्दिों 
में एक काम को पूरा कर सकते हैं। यदर्द नचत्रा 
(X - 6) दर्दिों में इसका 25% कायष पूरा कर 
लेती है और शेर् कायष अिींत और सादहल द्वारा 
X दर्दिों में एक साथ काम करिे से पूरा हो जाता 
है, तो सादहल और नचत्रा के एक साथ काम करिे 
पर इस काम को पूरा करिे में दकतिा समय 
लगेगा? 

A. 30 दर्दि 

B. 36 दर्दि 

C. 24 दर्दि 

D. 32 दर्दि 

E. इिमें से कोई िहीीं 
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79.एक बैग में कुल 16 मुिौटे हैं। उिमें से 4 

का रींग हरा, 5 का रींग पीला और 7 का रींग 
सिेर्द है। यदर्द तीि मुिौटे बैग से यादृखच्छक 
रूप से निकाले गए हैं, तो तीिों मुिौटों के समाि 
रींग के ि होिे की प्रानयकता ज्ञात करें। 

A.  

B.  

C.  

D.  

E. इिमें से कोई िहीीं 
 

80.अरुण िे 'x' रूपये में एक वस्त ुको िरीर्दा। 
उसिे इसके पररवहि पर 2250 रुपये िचष दकए। 
उसिे इस वस्त ुको इसके कुल लागत मूल्य से 

80% अनधक अींदकत दकया। यदर्द उसिे 20% 

और 30% की र्दो क्रनमक छूट के बार्द इस वस्त ु

को बेचा और 744 रुपये का लाभ कमाया, तो 'x' 

का माि ज्ञात कीखजए? 

A. 90,750 रुपये 

B. 84,250 रुपये 

C. 92,350 रुपये 

D. 80,450 रुपये 

E. 72,550 रुपये 

 

81.सींयुि राष्ट्र द्वारा 11 दर्दसींबर को हर साल 
मिाए जािे वाले अींतराषष्ट्रीय पवषतीय दर्दवस 

2020 का ववर्य क्या है? 

A. माउीं टेि बायोडायनसषटी 
B. माउीं टेन्स मेटसष 
C. माउीं टेि माईिोररटीज एींड इींदडजीनियस पीपल 

D. मैनिखजींग बायोडायनसषटी िॉर बेट्टर लाईव्ज 

E. माउीं टेि मटैर िॉर यूथ 

 

82.मुद्रा बैंक ऋण की तरूण योजिा की 
अनधकतम सीमा क्या है? 

A. रु 20 लाि 

B. रु 5 लाि 

C. रु 10 लाि 

D. रु 15 लाि 

E. इिम ेसे कोई िहीीं 
 

83.निजी िते्र में लघु ववत्त बैंकों (एसएिबी) के 

लाइसेंस हेत ुभारतीय ररजवष बैंक की 'ऑि टैप' पर 
िए दर्दशानिरे्दशों के अिुसार, एक एसएिबी 
स्थावपत करिे के नलए न्यूितम भुगताि पूींजी क्या 
है? 

A. 100 करोड रु 
B. 150 करोड रु 
C. 200 करोड रु 
D. 250 करोड 
E. 300 करोड रु 
 

84.‘ए सॉन्ग ऑि इींदडया’ िामक पुस्तक के 
लेिक कौि हैं। 
A. वी.एस. िायपॉल 

B. रखस्कि बॉन् ड 
C. एनलस मुिरो 
D. सलमाि रुश्र्दी 
E. अरुींधनत रॉय 

 

85.ववश् व जिसींख् या दर्दवस दकस दर्दि मिाया 
जाता है- 
A. 8 जिवरी 
B. 10 िरवरी 
C. 16 माचष 
D. 11 जुलाई 
E. 12 दर्दसींबर 
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86.‘हाउ टू बी ए राइटर’ िामक पुस्तक दकसिे 
नलिी? 

A. रखस्कि बॉन्ड 
B. शनश थरूर 
C. अरुींधनत रॉय 

D. सुधा मूनतष 
E. आिींर्द िीलकाींति 

 

87.ववशेर् आरेिण अनधकार दकसके द्वारा प्रर्दाि 
दकए गए रे्दशों के अनधकार हैं 
A. ववश्व बैंक 

B. आईएमएि 

C. एनशयाई ववकास बैंक 

D. िेडरल ररजवष 
E. इिम ेसे कोई िहीीं 
 

88.बजट 2020-2021 का ववर्य क्या है? 

A. आनथषक ववकास 

B. केयररींग सोसायटी 
C. एखस्परेशिल इींदडया 
D. उपरोि सभी 
E. उपरोि में से कोई िहीीं 
 

89.कें द्र सरकार द्वारा रिा िेत्र में प्रत्यि ववरे्दशी 
निवेश (FDI) दकतिा प्रनतशत तय दकया गया 
है? 

A. 24 िीसर्दी 
B. 40 प्रनतशत 

C. 49 प्रनतशत 

D. 65 प्रनतशत 

E. 74 प्रनतशत 

 

90.स्टैच्यू ऑि यूनिटी दकस िर्दी तट पर बिाया 
गया है? 

A. कोसी 
B. िमषर्दा 

C. कृष्णा 
D. यमुिा 
E. इिमें से कोई िहीीं 
 

91."हु ववल क्राई व्हेि यू डाई’ शीर्षक पुस्तक 
का लेिक कौि है? 

A. रॉवबि शमाष 
B. रखस्कि बॉन्ड 
C. शनश थरूर 
D. अरुींधनत रॉय 

E. ववक्रम सठे 

 

92.सऊर्दी अरब की राजधािी ररयार्द में 
आयोखजत 2020 जी-20 ररयार्द नशिर सम्मेलि 
का ववर्य क्या था? 

A. Global Sustainable Developmen 

B. Shaping an Inter-connected World 
C. Realizing Opportunities of the 21st 
Century For All 

D. Toward an Innovative, 
Invigorated, Interconnected and 

Inclusive World Economy 
E. Global Challenges: terrorism and 
the refugee Crisis 

 

93.आरबीआई के अिुसार, सींपाखश्वषक-मुि कृवर् 
ऋणों की सीमा क्या है? 

A. 1.5 लाि 

B. 1.6 लाि 

C. 2.0 लाि 

D. 2.5 लाि 

E. 2.75 लाि 

 

94.माचष 2016 में भारतीय ररजवष बैंक से 
लाइसेंस प्राप्त करिे वाला रे्दश का पहला लघु 
ववत्त बैंक कौि सा है? 

A. एयू स्मॉल िाइिेंस बैंक 

B. उज्जीवि लघु ववत्त बैंक 

C. कैवपटल स्मॉल िाइिेंस बैंक नलनमटेड 
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D. इखक्वटास स्मॉल िाइिेंस बैंक 

E. जि लघु ववत्त बैंक 

 

95.सवाषइकल कैं सर को ित्म करिे के नलए 
डब्ल्यूएचओ की वैखश्वक रणिीनत दकस वर्ष तक 
र्दनुिया को सही रास्त े पर स्थावपत करिे का 
लक्ष्य रिती है? 

A. 2022 
B. 2024 

C. 2026 
D. 2028 

E. 2030 
 

96.इींग्लैंड में होिे वाले 2019 दक्रकेट ववश्व कप 
में इींग्लैंड की दक्रकेट टीम के कप्ताि कौि थे? 

A. इयोि मॉगषि 

B. जो रूट 
C. बेि स्टॉक्स 

D. जोस बटलर 
E. जेसि रॉय 

 

97.1971 के भारत-पादकस्ताि युद्ध के र्दौराि 
पादकस्ताि के बींर्दरगाह शहर कराची पर भारतीय 
िौसेिा द्वारा शुरू दकए गए ऑपरेशि का क्या 
िाम था? 

A. ऑपरेशि ववजय 

B. ऑपरेशि वुड्रोसर 
C. ऑपरेशि राइडेंट 
D. ऑपरेशि ब्लू स्टार 
E. ऑपरेशि मेघर्दतू 

 

98.‘दडखजटल गुणवत्ता जीवि सूचकाींक 2020’ 

में कौि सा रे्दश शीर्ष स्थाि पर है? 

A. स्वीडि 

B. डेिमाकष  
C. यूिाइटेड दकीं गडम 

D. फ्राींस 

E. जापाि 

 

99.इलाहाबार्द बैंक का ववलय दकस बैंक में दकया 
गया है? 

A. इींदडयि बैंक 

B. यूनियि बैंक ऑि इींदडया 
C. पींजाब िेशिल बैंक 

D. बैंक ऑि बडौर्दा 
E. केिरा बैंक 

 

100.रिा िेत्र के नलए ववत्त वर्ष 2020-21 में 
बजट आवींटि क्या था? 

A. 2,71,378 करोड रु 
B. 3,91,378 करोड रु 
C. 4,21,378 करोड रु 
D. 4,71,378 करोड रु 
E. उपरोि में से कोई िहीीं 
 

101.चैंवपयि पोटषल ____ से सींबींनधत है। 
A. एमएसएमई 
B. ग्रामीण छात्रों के नलए आवासीय ववद्यालय का 
निमाषण 

C. रे्दश में नशिकों के कौशल को उन्ित करिे 
के नलए 
D. अिुसींधाि ववद्वािों के अनधगम के नलए 
ऑिलाइि मींच 

E. उपरोि में से कोई िहीीं 
 

102.ववकल्पों में से कौि सी योजिा नशिा से 
सींबींनधत िहीीं है? 

A. सवष नशिा अनभयाि (एसएसए) 
B. प्रसार्द 
C. दकरि 

D. राष्ट्रीय मध्य ववद्यालय नशिा अनभयाि 

E. नमड डे मील 
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103.दकस सींस्थाि िे ‘मोबाइल मास्टरजी’ 
िामक एक अनभिव आभासी किा सहायता 
ववकनसत की है? 

A. आईआईटी बॉम्ब े
B. आईआईटी कािपुर 
C. आईआईटी दर्दल्ली 
D. आईआईटी िडगपुर 
E. आईआईटी मद्रास 

 

104.कें द्र सरकार द्वारा 2020-21 के बजट में 
कृवर् और सींबद्ध गनतववनधयों, नसींचाई और ग्रामीण 

ववकास के नलए दकतिी रानश आवींदटत की गई है? 

A. 2.25 लाि करोड 
B. 2.45 लाि करोड 
C. 2.83 लाि करोड 
D. 2.90 लाि करोड 
E. 3.24 लाि करोड 
 

105.प्रधािमींत्री िरेंद्र मोर्दी द्वारा लॉन्च दकया 
गया CHAMPIONS पोटषल दकस िेत्र से 
सींबींनधत है? 

A. एमएसएमई 
B. िए स् टाटषअप 
C. दकसाि 

D. कोपोरेट वल् डष 
E. बैंदकीं ग िेत्र 
 

106.निम्ि में से कौि सा कथि मिरेगा 
योजिा के सींर्दभष में सही िहीीं है? 

A. ग्राम पींचायत गाींव के प्रत्येक व्यवि के नलए 
जॉब काडष जारी करती है 
B. यह 100 दर्दिों के रोजगार की कािूिी गारींटी 
प्रर्दाि करता है 
C. योजिा का िचष कें द्र सरकार द्वारा वहि दकया 
जाता है 
D. यह योजिा केवल ग्रामीण िते्रों में लागू है 

E. यह 25 अगस्त, 2005 को अनधनियनमत 
भारतीय कािूि है 
 

107.ईस्टिष डेदडकेटेड फे्रट कॉररडोर (EDFC) के 
नलए वस्तुतः प्रधािमींत्री िरेंद्र मोर्दी द्वारा उद्घाटि 
की गई 2 रेलवे पररयोजिाएीं कौि सी हैं? 

A. गुवाहाटी और नसलीगुडी 
B. चींडीगढ और िागपुर 
C. न्यू िडगपुर और आसिसोल 

D. न् यू भाऊपुर और न्यू िरुजा सेक्शि 

E. उपरोक् त में से कोई िहीीं 
 

108.कें द्रीय सतकष ता आयोग िे _________ 

करोड रुपये से ऊपर की बैंक धोिाधडी की जाींच 
के नलए टी.एम. भसीि की अध्यिता में बैंदकीं ग 
धोिाधडी के नलए सलाहकार बोडष (एबीबीएि) 
की स्थापिा की? 

A. 25 करोड रुपये 

B. 50 करोड रुपये 

C. 75 करोड रुपये 

D. 100 करोड रुपये 

E. 200 करोड रुपये 

 

109.'पॉनलसी ऑि स्कूल बैग 2020' के 
अिुसार स्कूल बैग का वजि किा I से X तक 
के छात्रों के नलए शरीर के वजि के ______ 

से अनधक िहीीं होिा चादहए? 

A. 5% 

B. 10% 
C. 15% 
D. 20% 

E. 25% 
 

110.सूक्ष्म और लघु उद्यमों की बढती 
आवश्यकता को पूरा करिे के नलए '59 नमिट 
में पीएसबी ऋण' योजिा हेतु ऋण रानश क्या 
है? 
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A. 1 लाि रुपये से 2 करोड रुपये 

B. 1 लाि रुपये से 3 करोड रुपये 

C. 1 लाि रुपये से 5 करोड रुपये 

D. 2 लाि रुपये से 7 करोड रुपये 

E. 5 लाि रुपये से 10 करोड रुपये 

 

111.निम्ि में से कौि सा उधारकताष 
प्राथनमकता िते्र ऋण (पीएसएल) में कमजोर 
वगष के अींतगषत शानमल िहीीं है? 

A. स् वयीं सहायता समूह 
B. अिुसूनचत जानत और अिुसूनचत जिजानत 

C. छोटे और सीमाींत दकसाि 

D. ओबीसी श्रणेी जैसा दक भारत सरकार द्वारा 
समय-समय पर अनधसूनचत दकया जा सकता है 
E. छोटे और सीमाींत दकसाि 

 

112.कौि सा ववभाग सेंरल पखब्लक सके्टर 
एींटरप्राइजेज (CPSE) के अींतगषत आता है? 

A. सावषजनिक उद्यम ववभाग 

B. राजस् व ववभाग 

C. सीमा प्रबींधि ववभाग 

D. उपभोिा कायष ववभाग 

E. रिा उत्पार्दि ववभाग 

 

113.दकस सींगठि िे िेशिल स् रेटजी िॉर 
िाइिेंनशयल एजुकेशि 2020-2025 जारी की? 

A. िीनत आयोग 

B. सेबी 
C. आरबीआई 
D. सीएसओ 

E. एिएसएसओ 

 

114.प्रधािमींत्री मत्स्य सम्पर्दा योजिा 
(PMMSY) की योजिा के अींतगषत ववत्त वर्ष 
2020-25 तक मत्स्य नियाषत को र्दोगुिा करिे 

के लक्ष्य को प्राप्त करिे के नलए दकतिी रानश 
निधाषररत की गई है? 

A. 25,000 करोड रुपये 

B. 50,000 करोड रुपये 

C. 70,000 करोड रुपये 

D. 90,000 करोड रुपये 

E. 1,00,000 करोड रुपये 

 

115.कोववड-19 सींक्रमण को रैक करिे के नलए 
आरोग्य सेतु ऐप में दकस तकिीक का उपयोग 
दकया जाता है? 

A. ब् लटूूथ और जीपीएस सववषसीज 

B. नियर िील् ड कम् युनिकेशि टैक् िोलॉजी 
C. रेदडयो फ्रीक् वेंसी आइडेंटीदिकेशि (RFID) 

टैक् िोलॉजी 
D. स् रेट थ्र ूप्रोसेनसींग टैक् िोलॉजी 
E. होस् ट काडष एमुलेशि (HCE) टैक् िोलॉजी 
 

116.दकस सींस्थाि िे उच्च-आववृत्त डेटा के 
आधार पर एक अिुमाि प्रकानशत दकया है खजस े
"िाउकास्ट" िाम दर्दया गया है? 

A. भारतीय ररजवष बैंक 

B. कें द्रीय साींखख्यकी सींगठि 

C. राष्ट्रीय िमूिा सवेिण सींगठि 

D. भारतीय प्रनतभूनत और ववनिमय बोडष 
E. िीनत आयोग 

 

117.प्रधािमींत्री िरेंद्र मोर्दी िे _____ पर 1.5 

दकमी लींबी, डबल स्टैक कीं टेिर रेि को हरी झींडी 
दर्दिाई। 
A. मर्दर-रेवाडी नलींक 

B. इकबालगढ (पालिपुर) – वडोर्दरा 
C. वडोर्दरा – सनचि 

D. सनचि - जेएिपीटी 
E. उपरोक् त में से कोई िहीीं 
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118.नशिा ववभाग के ववकास की निगरािी 
दकस अींतराषष्ट्रीय सींगठि द्वारा की जाती है? 

A. यूएिडीपी 
B. यूएिईपी 
C. यूनिसेि 

D. यूिेस् को 
E. यूएिएसईसी 
 

119.सरकारी बाींडों की वबक्री दकसके अींतगषत 
आती है। 
A. राजस् व ववभाग 

B. आरबीआई 
C. सेबी 
D. िीनत आयोग 

E. उपरोक् त में से कोई िहीीं 
 

120.दकसे सौभाग्य योजिा के नलए िोडल 
एजेंसी के रूप में िानमत दकया गया है? 

A. िई दर्दल्ली DISCOM 

B. ग्रामीण ववद्युतीकरण निगम (REC) 

C. ववद्युत ववभाग, ववद्युत मींत्रालय 

D. कें द्रीय ववद्युत अिुसींधाि सींस्थाि 

E. उपरोि में से कोई िहीीं 
 

निरे्दश: आपको दर्दए गए गद्याींश में दर्दए गए सभी 
तथ्यों को सही माि लेिा है और इसी गद्याींश के 

आधार पर सभी प्रश्नों के जवाब रे्दिे हैं। 
2 जूि 1806 को कलकत्ता में 'बैंक ऑफ़ 
कलकत्ता' की स्थापिा हुई थी। तीि वर्ों के 
पिात इसको चाटषर नमला तथा इसका पुिगषठि 
बैंक ऑफ़ बींगाल के रूप में 2 जिवरी 1809 को 
हुआ। यह अपिे तरह का अिोिा बैंक था जो 
साझा स्टॉक पर विदटश भारत तथा बींगाल 
सरकार द्वारा चलाया जाता था। बैंक ऑफ़ बॉम्ब े
तथा बैंक ऑफ़ मद्रास की शुरुआत बार्द में हुई। 
ये तीिों बैंक आधनुिक भारत के प्रमुि बैंक तब 

तक बिे रहे जब तक दक इिका ववलय 
इींवपररयल बैंक ऑफ़ इींदडया में 28 जिवरी 1921 

को िहीीं कर दर्दया गया और इसी के साथ 
इींवपररयल बैंक की स्थापिा हुई। सि 1951 में 
पहली पींचवर्ीय योजिा की िीींव डाली गई 
खजसमें गाींवों के ववकास पर जोर डाला गया था। 
इस समय तक इींवपररयल बैंक ऑफ़ इींदडया का 
कारोबार नसफ़ष  शहरों तक सीनमत था। अतः 
ग्रामीण ववकास के मदे्दिजर एक ऐसे बैंक की 
कल्पिा की गई खजसकी पहुींच गाींवों तक हो तथा 
ग्रामीण जिता को खजसका लाभ हो सके। इसके 
िलस्वरूप 1 जुलाई 1956 को स्टेट बैंक आफ़ 
इींदडया की स्थापिा की गई, खजसम ेसरकार की 
दहस्सेर्दारी 61.58% हैं। अपिे स्थापिा काल में 
स्टेट बैंक के कुल 480 कायाषलय थ े खजसमें 
शािाएीं, उप शािाएीं तथा तीि स्थािीय 
मुख्यालय शानमल थे, जो इम्पीररयल बैंकों के 
मुख्यालयों को बिाया गया था। 1926 में यींग 
की अिुशींसा पर 1 अप्रैल 1935 को आरबीआई 
की स्थापिा की गई जबदक इसका राष्ट्रीयकरण 

1 जिवरी 1949 को दकया गया इसका 
मुख्यालय मुींबई में है आरबीआई के पहल ेगविषर 
सर ओसबोिष खस्मथ हैं जबदक वतषमाि में इस 
के गविषर शविकाींत र्दास हैं कायष िोट का 
निगषमि वतषमाि में आरबीआई 1957 में 
प्रचनलत न्यूितम ररजवष प्रणाली के आधार पर 
₹2 से लेकर ₹2000 तक का िोट का निगमि 
करती है जबदक ₹1 के िोट का निगमि भारत 
सरकार के द्वारा दकया जाता है 
 
121.  

पहली पींचवर्ीय योजिा में दकस ववर्य पर 
अनधक जोर दर्दया गया? 

A. बैंकों के ववकाश पर जोर दर्दया गया 
B. उद्योगों के ववकाश पर जोर दर्दया गया 
C. गाँवो के ववकाश पर जोर दर्दया गया 
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D. शहरों के ववकाश पर जोर दर्दया गया 
E. इिमें से कोई िहीीं 
 

122.निम्ि में से स्टेट बैंक के घटि का क्या 
उदे्दश्य था? 

i.गाँवों तक पहुच और ग्रामीण जिता को लाभ 

ii.इवपररयल बैंक के अखस्तत्व को ख़त्म करिा 
था 
iii.शहरी लोगो तक बैंकों को पहुचािा और शहरी 
जिता को लाभ 

A. केवल i 

B. केवल iii 

C. केवल i और ii 
D. केवल ii और iii 
E. केवल i ओए iii 

 

123.निम्ि में से िोट निगषमि के ववर्य में 
सत्य कथि है। 
i. 1957 में प्रचनलत न्यूितम ररजवष प्रणाली के 
आधार पर ₹2 से लेकर ₹2000 तक का िोट 
का निगमि। 
ii. ₹1 के िोट का निगषमि केन्द्रीय बैंक के द्वारा 
दकया जाता है। 
iii.निगषमि का कायष केन्द्रीय बैंक को 1957 में 
यींग कमेटी के द्वारा दर्दया गया। 
A. केवल i 

B. केवल i और ii 
C. केवल ii और iii 
D. केवल i और iii 
E. केवल ii 

 

124.निम्ि में से सत्य कथि है। 
i.2 जूि 1806 को कलकत्ता में बैंक ऑफ़ 
कलकत्ता की स्थापिा हुई। 
ii.28 जिवरी 1921 को इींवपररयल बैंक ऑफ़ 
इींदडया की स्थापिा हुई। 

iii.1 अप्रैल 1935 को केन्द्रीय बैंक की स्थापिा 
हुई। 
A. केवल i 

B. केवल i और ii 
C. केवल ii और iii 
D. केवल i और iii 
E. i, ii और iii 
 

125.निम्ि में से इवपररयल बैंक के सींबध में 
असत्य कथि है। 
i. तीि बैंकों के ववलय से इींवपररयल बैंक ऑफ़ 
इींदडया बिा। 
ii. 28 जिवरी 1921 को इींवपररयल बैंक ऑफ़ 
इींदडया की घटि दकया गया। 
iii. इींवपररयल बैंक ऑफ़ इींदडया का कारोबार नसफ़ष  
शहरों तक सीनमत था। 
A. केवल i 

B. केवल i और ii 
C. केवल ii और iii 
D. केवल i और iii 
E. सभी कथि सत्य है 
 

निरे्दश: िीचे दर्दए गये ररि स्थािों की पूनतष 
कीखजये 

रे्दश के सबसे बडे धिकुबेर मुकेश अींबािी 
नियींवत्रत ररलायींस इींडस्रीज नलनमटेड के 

(###Q1###) मुिािे में चालू ववत्त वर्ष की 
पहली नतमाही में 6.8 िीसर्द की बढोतरी हुई है 
। साथ ही कीं पिी िे समीिाधीि नतमाही में कुल 
10,104 करोड रूपये का शुद्ध लाभ कमाया । 
कीं पिी की माखजषि में ररलायींस ररटेल और खजयो 
इन्िोकोम जैस ेकीं ज्यूमर वबजिेस िे करीब एक- 
नतहाई का (###Q2###) दर्दया । वपछल े
ववत्त वर्ष की समाि अवनध में कम्पिी का शुद्ध 
लाभ 9,459 करोड रूपये का था । हालाींदक 
कम्पिी ठीक वपछली नतमाही में हानसल 
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10,362 करोड रूपये के ररकॉडष नतमाही मुिािे 
से थोडा पीछे रह गई । चालू ववत्त वर्ष की पहली 
नतमाही में आरआइएल का कुल राजस्व करीब 
1.73 लाि करोड रूपये रहा । इसमें कम्पिी 
की ररटेल शािा की जबरर्दस्त 
(###Q3###) की बडी भूनमका रही । अपिे 
ररटेल कारोबार की मजबूती के चलत ेही कम्पिी 
ररिाइनिींग और पेरोकेनमकल्स कारोबार की 
अपेिाकृत सुस्ती से निपटिे में कामयाब हो 
सकी । वपछल ेववत्त वर्ष की वपछली नतमाही में 
कीं पिी के कुल कर- पूवष लाभ में ररटेल और 
टेनलकॉम कारोबार की 25 िीसर्द दहस्सरे्दारी रही 
थी । चाल ूववत्त वर्ष की पहली नतमाही में यह 
दहस्सेर्दारी बढकर करीब 32 िीसर्द पर पहँुच गई 
। समीिाधीि नतमाही में कीं पिी का ररटेल 
कारोबार से (###Q4###) कर- पूवष लाभ 
70 िीसर्द बढकर 2,049 करोड रूपये पर जा 
पहुींचा । समीिाधीि नतमाही में ररटेल कारोबार 
से हानसल राजस्व 47.5 िीसर्द बढकर 38,196 

करोड रूपये रहा । ररलायींस खजयो का शुद्ध लाभ 
वपछल ेववत्त वर्ष की समाि अवनध के मुकाबल े
45.6 िीसर्द बढकर 891 करोड रूपये रहा । 
वैखश्वक स्तर पर अथषव्यवस्था की हालत बहुत 
अच्छी िहीीं होिे के बावजरू्द पहली नतमाही में 
ववत्तीय ितीज-े मजबूत रहे । कम्पिी के ररटेल 
और (###Q5###) सेवा कारोबारों िे बडी 
उपलखब्धयाीं हानसल की । 
 
126.  

दर्दए गये ववकल्पों में से उपयुि ववकल्प का 
चयि कीखजये 

A. शुद्ध 

B. कुल 

C. पूणष 
D. आयात 

E. सिल 

 

127.दर्दए गये ववकल्पों में से उपयुि ववकल्प 
का चयि कीखजय े

A. अींशर्दाि 

B. योगर्दाि 

C. अिुर्दाि 

D. पुरस्कार 
E. सहयोग 

 

128.दर्दए गये ववकल्पों में से उपयुि ववकल्प 
का चयि कीखजय े

A. िरीर्द 
B. आवेर्दि 

C. वबक्री 
D. नियाषत 

E. क्रय 

 

129.दर्दए गये ववकल्पों में से उपयुि ववकल्प 
का चयि कीखजय े

A. ग्रदहत 

B. प्रेररत 

C. समनथषत 

D. सम्पन्ि 

E. हानसल 

 

130.दर्दए गये ववकल्पों में से उपयुि ववकल्प 
का चयि कीखजय े

A. दडखस्रव्यटूर 
B. वाखणज्य 

C. सामान्य 

D. दडखजटल 

E. आनथषक 

 

निरे्दश: िीच े दर्दए गए गाद्याींश को ध्यािपूवषक 
पदढए और उस पर आधााररत प्रश्नों के उत्तर 
र्दीखजए। कुछ शब्र्दों को मोटे अिरों में मदुद्रत 
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दकया गया है, खजसस ेआपको कुछ प्रश्नों के उत्तर 
रे्दिे में सहायता नमलेगी। 
 

भारतीय कला के प्रनत रे्दश-ववरे्दश में समझ बढािे 
और प्रचार-प्रसार के नलए भारत सरकार िे िई 
दर्दल्ली में 1954 में 'राष्ट्रीय लनलत कला 
अकार्दमी' की स्थापिा की थी। इसके नलए यह 
अकार्दमी प्रकाशिों, कायषशालाओीं तथा नशववरों 
का आयोजि करती है। यह प्रनतवर्ष एक 
अींतराषष्ट्रीय प्रर्दशषिी तथा प्रत्येक तीसरे वर्ष 
'त्रैवावर्षक भारत' िामक एक अींतराषष्ट्रीय प्रर्दशषिी 
भी आयोखजत करती है। लनलत कला अकार्दमी 
कला सींस्थाओीं व सींगठिों को मान्यता प्रर्दाि 
करती है और इि सींस्थाओीं के साथ-साथ राज्यों 
की अकार्दनमयों को आनथषक सहायता रे्दती है। 
यह िेत्रीय केन्द्रों के प्रनतभावाि युवा कलाकारों 
को छात्रववृत्त भी प्रर्दाि करती है। अपिे प्रकाशि 
कायषक्रम के तहत अकार्दमी समकालीि भारतीय 
कलाकारों की रचिाओीं पर दहन्र्दी और अींग्रेजी में 
मोिोग्राि और समकालीि पारपींररक तथा 
जिजातीय और लोक कलाओीं पर जािे मािे 
लेिकों और कला आलोचकों द्वारा नलखित 
पुस्तकें  प्रकानशत करती है। अकार्दमी िे प्राचीि 
भारतीय कला पर एक निबन्धमाला एवीं कई 
पुस्तकें  प्रकानशत की हैं। अकार्दमी अींग्रेजी में 
‘लनलत कला कीं टेंपरेरी’ तथा दहन्र्दी में 
'समकालीि' कला िामक अद्धषवावर्षक कला 
पवत्रकाएीं भी प्रकानशत करती है। इसके अलावा 
अकार्दमी समय-समय पर समकालीि पेंदटग्स 
और ग्रादिक्स के बहुरींगी ववशाल आकार के 
प्रनतिलक भी निकालती है। अकार्दमी िे 
अिुसींधाि और अनभलिेि का नियनमत 
कायषक्रम भी शुरू दकया है। भारतीय समाज और 
सींस्कृनत के ववनभन्ि पहलुओीं से सींबद्ध 
समसामनयक लोककला सबींधी पररयोजिा पर 

काम करिे के नलए अकार्दमी ववद्वािों को आनथषक 
सहायता रे्दती है।  
131.  

लनलत कला अकार्दमी की स्थापिा भारत सरकार 
द्वारा क्यों की गयी? 

A. भारतीय कला को रे्दश-ववरे्दश में िरीर्दिे के 
नलए 

B. भारतीय कला का रे्दश-ववरे्दश में सींरिण के 
नलए 

C. भारतीय कला को रे्दश-ववरे्दश में बेचिे के 
नलए 

D. भारतीय कला के रे्दश-ववरे्दश में समझ बढािे 
और प्रचार-प्रसार के नलए 
E. इिमें से कोई िहीीं 
 

132.निम्ि में से लनलत कला अकार्दमी का 
क्या कायष है? 

A. राज्यों की अकार्दनमयों को राजिैनतक 
सहायता रे्दिा 
B. कला सींस्थािों और सींगठिो से कर बसूल 
करिा 
C. कला सींस्थाओीं व सींगठिों को मान्यता प्रर्दाि 
करिा 
D. राज्यों की अकार्दनमयों पर कर लगािा 
E. इिमें से कोई िहीीं  
 

133.लनलत कला अकार्दमी द्वारा प्राचीि भारतीय 
कला पर क्या कायष दकया गया? 

A. एक निबन्धमाला एवीं कई पुस्तकें  प्रकानशत 
की गयी 
B. एक निबन्धमाला एवीं कई पुस्तकें  िरीर्दी 
गयी 
C. एक निबन्धमाला एवीं कई पुस्तकें  बेचीीं गयी 
D. एक निबन्धमाला एवीं कई पुस्तकें  युवाओीं से 
ली गयी 
E. इिमें से कोई िहीीं  
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134.लनलत कला अकार्दमी के ववर्य में सत्य 
कथि है- 
I.प्रनतवर्ष एक अींतराषष्ट्रीय प्रर्दशषिी आयोखजत 
करती है। 
II.प्रत्येक तीसरे वर्ष 'त्रैवावर्षक भारत' िामक एक 
अींतराषष्ट्रीय प्रर्दशषिी भी आयोखजत करती है। 
III.अकार्दमी प्रकाशिों, कायषशालाओीं तथा 
नशववरों का आयोजि करती है। 
A. केवल ii 

B. केवल iii 

C. केवल i 

D. i और iii 
E. उपरोि सभी 
 

135.लनलत कला अकार्दमी द्वारा कौि सी 
पवत्रकाएीं भी प्रकानशत की जाती है ? 

A. समकालीि पवत्रका 
B. लनलत कला कीं टेंपरेरी पवत्रका 
C. निबन्धमाला पवत्रका 
D. ववकल्प a और b 

E. ववकल्प a और c 
 

निरे्दश: िीचे दर्दए गए पररच्छेर्द में कुछ ररि 
स्थाि छोड दर्दए गए हैं तथा उन्हें प्रश्न सींख्या में 
र्दशाषया गया है। ये सींख्याएीं पररच्छेर्द के िीच े
मुदद्रत हैं, प्रत्येक के सामिे (1), (2), (3), 

(4) और (5) ववकल्प दर्दए गए हैं। इि पाींचों में 
से कोइष एक इस ररि स्थाि को पूरे पररच्छेर्द 
के सींर्दभष में उपयुि ढींग से पूरा कर रे्दता है। 
दर्दए गए ववकल्पों में से उपयुि का चयि करिा 
है। 
 

जहा ँतक व्यापक मािवीयता का प्रश्न है, उस 
दृवष्ट से सारी मािव सींस्कृनत (###Q1###) 

एक है। सींसार में भेर्द -भाव, प्रकृनत और भूगोल 
में अींतर के द्वारा मािे जाते हैं। मािवीयता के 

र्दया, करूणा, स्िेह-सहािुभूनत, भूि-प्यास आदर्द 
सभी माव और नसद्धाींत भी एक हैं। सभी सुि-
शाींनत और समवृद्ध चाहते है; यह ताख त्त्वक 
भावदृवष्ट भी कहीीं ववभेर्दपणूष िहीीं। इि तथ्यों के 
(###Q2###) में कहा जा सकता है दक 
अींतराषष्ट्रीयता की भाविा एक मिुष्य को र्दसूरे 
मिुष्य, एक रे्दश को र्दसूरे रे्दश और एक राष्ट्र को 
र्दसूरे राष्ट्र से जोडिे वाली है; सभी के सुि-र्द:ुिों, 
शाींनत एवीं (###Q3###) के प्रयासों को एक 
बिािे वाली है। एक दृवष्ट से अींतराषष्ट्रीयता की 
भाविा सवाषनधक महत्त्वपणूष है। उस े व्यापक 
ववस्तार और ववकास नमलिा ही चादहए। लेदकि 
सत्य यह है दक उपयुषि तथ्यों को माित-े
बिाित े हुए भी कोइष राष्ट्र और वहाँ के जि 
अपिी राष्ट्रीयता का (###Q4###) त्याग 
िहीीं करता। र्दसूरों की राष्ट्रीयता के श्रषे्ठ होिे पर 
भी उसकी श्रषे्ठता स्वीकार ि कर अपिी राष्ट्रीयता 
को ही सवाषनधक श्रषे्ठ एवीं समदृ्ध करता है। वह 
(###Q5###) भाव लेकर राष्ट्रीयता की 
समीएीं भी िहीीं तोड या लाींघ पाता। इि जैस े
कारणों के चलत े ही अींतराषष्ट्रीयता की बात 
व्यापाररक तथा अन्य प्रकार के सामान्य आर्दाि-
प्रर्दािों तक ही सत्य है। लोग अपिे राष्ट्र की एक 
इींच भूनम भी दकसी र्दसूरे राष्ट्र का रे्द िहीीं सकत-े 
यह भी राष्ट्रीयता का चरम सत्य है।  
136. दर्दए गए ववकल्पों में से उपयुि का चयि 
करिा है। 
A. राष्ट्रीयता 
B. सम्बन्ध  

C. सरलत: 
D. मूलत: 
E. अतत: 
 

137.दर्दए गए ववकल्पों में से उपयुि का चयि 
करिा है। 
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A. ववपरीत 

B. आलोक 

C. ववसगष 
D. अींत 

E. निमाषण 

 

138.दर्दए गए ववकल्पों में से उपयुि का चयि 
करिा है। 
A. िुशी 
B. स्मनृत 

C. समवृद्ध 

D. लौदकक 

E. धानमषक 

 

139.दर्दए गए ववकल्पों में से उपयुि का चयि 
करिा है। 
A. प्राण 

B. हृर्दय 

C. भाविा 
D. अींधभवि 

E. मोह 
 

140.दर्दए गए ववकल्पों में से उपयुि का चयि 
करिा है। 
A. सवाषत्म 

B. भावात्मक 

C. सींकल्प 
D. प्रमाखणक 

E. कलींदकत 

 

141.निरे्दश : निम्िनलखित वाक्यों में उिके 
प्रथम तथा अींनतम अींश सींख्या 1 और 6 के 
अींतगषत दर्दए गए हैं। बीच वाले चार अींश (य), 
(र), (ल), (व) के अींतगषत वबिा क्रम के हैं। 
चारों अींशों को उनचत क्रमािुसार व्यवखस्थत कर 
उनचल ववकल्प चुिें और उत्तर र्दें। 

भारत एक कृवर् प्रधाि रे्दश है. . .  
(1) भारत कृवर्-प्रधाि रे्दश है। 
(य) कृवर् भारतीय अथषव्यवस्था की रीढ है 
(ल) 1960 के बार्द रे्दश में कृवर् के िेत्र में 
(व) भारत में कृवर् नसींधु घाटी सभ्यता के र्दौर 
से की जाती रही है 
(र) हररत क्राींनत के साथ िया र्दौर आया 
(6)जो भारत को आनथषक रूप से सशि बिता 
है ।  
  

A. ल र य व 
B. र ल व य 

C. य व ल र 
D. य र ल व 
E. र व र य 

 

निरे्दश: निम्िनलखित 6 वाक्याींशों में से प्रथम(1) 

व अींनतम(6) निखित है l शेर् को उनचत क्रम में 
व्यवखस्थत कीखजये l  

142.  

शेर् वाक्याींशों को उनचत क्रम में व्यवखस्थत 
कीखजये 

1) र्दलीप रािी भारत में िलेी जािे वाली प्रथम 
श्रणेी दक्रकेट प्रनतयोनगता है 
य)2016-17 के बार्द इसमें BCCI के सेलेक्टसष 
द्वारा चुिी गयी टीमें दहस्सा लेती हैं। 
र)इस टूिाषमेंट की शुरुआत BCCI िे 1961-62 

में की थी। 
ल)आरम्भ में इसमें इींदडया रेड, इींदडया ब्लू और 
इींदडया ग्रीि तीि टीमें दहस्सा लेती थीीं। 
व) इसका िाम श्री र्दलीपनसींहजी के िाम पर 
रिा गया है। 
6) इस प्रनतयोनगता को गुलाबी गेंर्द से डे/िाईट 
िॉमेट में िेला जाता है। 
A. व र ल य 

B. य व र ल 
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C. ल य र व 
D. व ल र य 

E. य र ल व 
 

143.शेर् वाक्याींशों को उनचत क्रम में व्यवखस्थत 
कीखजये 

1)ववराट कोहली का जन्म 5 िवम्बर, 1988 को 
दर्दल्ली में हुआ था। 
य)अींतराषष्ट्रीय एकदर्दवसीय मैचों में उन्होंिे 239 

मैचों में 11,520 रि बिाये हैं। 
र)ववराट कोहली टेस्ट में सबसे सिल भारतीय 
कप्ताि बि गये हैं, 
ल)ववराट कोहली को मौजरू्दा र्दौर के सवषश्रषे्ठ 
बल्लेबाजों में से एक मािा जाता है। 
व)ववराट अब तक 79 टेस्ट मैचों में 25 शतकों 
के साथ 6,749 रि बिा चकेु हैं। 
6)ववराट कोहली िे एम.एस. धोिी के ररकॉडष को 
पीछे छोड दर्दया है। 
A. व र ल य 

B. य व र ल 

C. ल य व र 
D. व ल र य 

E. य र ल व 
 

144.शेर् वाक्याींशों को उनचत क्रम में व्यवखस्थत 
कीखजये 

1) एडीबी एक िते्रीय ववकास बैंक है 
य)खजसका उदे्दश्य एनशया में सामाखजक और 
आनथषक ववकास को बढावा रे्दिा है। 
र)इसकी स्थापिा दर्दसींबर 1966 में की गयी थी। 
ल)इसके कुल 67 सर्दस्य हैं, खजिमें से 48 

एनशया 
व)इसका मुख्यालय मिीला (दिलीपीींस) में 
खस्थत है। 
6) और प्रशाींत िेत्र जबदक बाकी 19 अन्य िते्र 
के हैं। 

A. व र ल य 

B. य व र ल 

C. ल य र व 
D. व ल र य 

E. य र व ल 

 

145.शेर् वाक्याींशों को उनचत क्रम में व्यवखस्थत 
कीखजये 

1) रामायण की रचिा महवर्ष वाल्मीदक िे की। 
य)रचिा के समय रामायण में 6,000 श्लोक थे, 
र)श्लोकों की सींख्या पहल े बढकर 12,000 हुई 
तथा 
ल)उसके पिात ्यह सींख्या 24,000 तक पहँुच 
गयी। 
व)परन्त ुसमय के साथ साथ इसमें बढोत्तरी होती 
गयी। 
6) 24,000 श्लोक होिे के कारण रामायण को 
चतुववषशनत सहस्री सींदहता भी कहा जाता है। 
A. व र ल य 

B. य व र ल 

C. ल य र व 
D. व ल र य 

E. य र ल व 
 

निरे्दश: िीचे दर्दए गए वाक्यों में ररि स्थािों की 
पूवत्त वाक्यों में काल ेछप ेशब्र्दों के ववलोम द्वारा 
की जािी है, उनचत ववकल्प का चयि कर ररि 
स्थािों की पूनतष करें।  
146. अिुवार्द शाखब्र्दक हो और उसमें उपयुि 
वाक्याींशों और मुहावरों का _______प्रयोग ि 
हो तो बोखझल, उबाऊ और अरूनचकर प्रतीत होिे 
लगता है। 
A. क्वनचत 

B. सही 
C. समुनचत 

D. कर्दानचत 
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E. सूनचत 

 

147.वतषमाि नशिा पद्धनत के अींतगषत हम जो 
ववद्या प्राप्त कर रहे हैं, उसकी ववशेर्ताओीं को 
______ िकारा भी िहीीं जा सकता है। 
A. मूल्यतः 
B. अिावश्यक 

C. समािता 
D. निरथषक 

E. सवषथा 
 

148.महात्मा गाँधी चाहते थे दक आनथषक 
________के नलए घरेल ूउद्योग-धींध ेपर बल 
दर्दया जािा चादहए। 
A. मींर्दी 
B. समवृद्ध 

C. स्वावलींबि 

D. सुधार 
E. र्दबाव 
 

149.व्यवि की सींकीणषता की तुलिा में 
_______अनधक व्यावहाररक होती है। 
A. ववकीणषता 
B. उर्दारता 
C. समािता 
D. सींकुलता 
E. अनभज्ञता 
 

150.स्वामी वववेकािन्र्द िे भारत के पुिनिषमाषण 
में ____मिुष्य के नलए खजि मुख्य बातों पर 
बल दर्दया था, वे हैं- चररत्र, आध्याखत्मक, 

आत्मववश्वास और अन्ततः सबके प्रनत प्रेम। 
A. नशखित 

B. बेरोजगार 
C. कायषरत 

D. उनचत 

E. आत्मववश्वास 

 

निरे्दश: िीचे दर्दया गया प्रत्येक वाक्य चार भागों 
में बाींटा गया है (A),(B),(C)और (D) क्रमाींक 
दर्दए गये हैं l आपको यह रे्दििा है दक वाक्य 
के दकसी भाग में व्याकरण,भार्ा,वतषिी,शब्र्दों के 
गलत प्रयोग या इसी तरह की गलत त्रुदट तो 
िहीीं है l त्रुदट अगर होगी तो वाक्य के दकसी 
एक भाग में ही होगी l उस भाग का क्रमाींक ही 
उत्तर है l अगर वाक्य त्रदुट रदहत है तो उत्तर (E) 

र्दीखजये l  
151. स्वरे्दशी आन्र्दोलि से हमें इस बात की 
पढाई लेिी चादहए(A)/ दक हम वबिा धमष,रींग 
अथवा जानत का भेर्द भाव दकए(B)/ समस्त 
भारतीय जिता अपिी 
पूींजी,साधिों,मजर्दरूों,शवि(C)/ और बुवद्ध का 
प्रयोग दकस प्रकार कर सकते हैं(D)/ कोई त्रुदट 
िहीीं(E) l 

A. (A) 
B. (B) 
C. (C) 

D. (D) 

E. कोई त्रदुट िहीीं 
 

152.िह्म समाज का उदे्दश्य(A)/ दहन्र्द ूधमष का 
तकष सम्मत सींबोनधत स्वरूप प्रस्तुत करिा(B)/ 

तथा सामाखजक एवीं धानमषक अींधववश्वासों(C)/ 

एवीं कुरीनतयों को र्दरू करिा था(D)/ कोई त्रदुट 
िहीीं(E) 

A. (A) 

B. (B) 
C. (C) 

D. (D) 

E. कोई त्रदुट िहीीं 
 

153.धानमषक स्वतींत्रता का अनधकार राज्य 
को(A)/ सामाखजक सधुार के नलए कोई कािूि 
बिािे(B)/ और सभी दहन्र्दओुीं के नलए दहन्र्द ू
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धानमषक सींस्थाओीं के(C)/ स्थाि िोलिे से िहीीं 
रोकता(D)/ कोई त्रुदट िहीीं(E) 

A. (A) 
B. (B) 
C. (C) 

D. (D) 

E. कोई त्रदुट िहीीं 
 

154.राजिीनतक िेता राजिीनतक(A)/ समथषि 
जुटाि ेके नलए मजहबी अपील(B)/ या मजहबी 
िारों का सींसाधि लेते हैं(C)/ अथवा 
अल्पसींख्यकवार्द की राह पर चलिे लगते हैं(D)/ 

कोई त्रुदट िहीीं(E) 

A. (A) 

B. (B) 
C. (C) 

D. (D) 

E. कोई त्रदुट िहीीं 
 

155.राज्यपाल को ि केवल(A)/ अपिी 
मींवत्रपररर्र्द का ही ववश्वास खजतिा 
चादहए,(B)/बखल्क उस ेववपिी र्दलों का भी(C)/ 

ववश्वास ववसखजषत करिा होगा(D)/ कोई त्रदुट 
िहीीं(E) 

A. (A) 

B. (B) 
C. (C) 

D. (D) 

E. कोई त्रदुट िहीीं 
 

156.निम्िनलखित पाँच में से चार समािाथी 
शब्र्द हैं। खजस क्रमाींक में इिसे नभन्ि शब्र्द दर्दया 
गया है, वही आपका उत्तर होगा। 
A. माधुयष 
B. पररमल 

C. वास 

D. सुवास 

E. सौरभ 

 

157."शाश्वत" शब्र्द का सही ववलोम शब्र्द हैl 
A. अिाखजषत 

B. उवषर 
C. िखणक 

D. पूवाषधष 
E. इिमें से कोई िहीीं 
 

निरे्दश: िीचे प्रत्येक प्रश्न में (1), (2), (3) और 
(4) क्रमाींक में चार शब्र्द दर्दए गए हैं खजिमें से 
एक में वतषिी सींबींधी त्रुदट हो सकती है। उस 
त्रुदटयुि शब्र्द की सींख्या ही आपका उत्तर होगा। 
यदर्द चारों शब्र्द शुद्ध नलि ेहों तो उत्तर र्दीखजए 
(5) अथाषत ्‘सभी शुद्ध है’।  
158. कूशलपूवषक(1)/ सौभाग्यकाींखिणी(2)/ 

स्वनिरे्दश(3)/ अनियनमतता(4) 

A. वाक्य (1) 

B. वाक्य (2) 

C. वाक्य (3) 

D. वाक्य (4) 

E. सभी शुद्ध है’। 
 

निरे्दश: िीच ेकुछ वाक्याींश या शब्र्द समूह दर्दए 
गए हैं और उसके बार्द पाींच ऐसे शब्र्द दर्दए गए 
हैं जो एक ही शब्र्द में वाक्याींश का या उस शब्र्द 
समूह का अथष प्रकट करते हैं। आपकों पता 
लगािा है दक वह शब्र्द कौि-सा है जो वाक्याींश 
का सही अथष प्रकट करता है। उस ववकल्प की 
सींख्या ही आपका उत्तर है।  
159. वह स्थाि जो र्दोिों भकुृदटयों के मध्य में 
होता है- 
A. र्दरुनभग्रह 
B. वत्रिला 
C. र्दवुषह 
D. पींचवटी 
E. वत्रकुटी 
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निरे्दश: निम्िनलखित मुहावरों और लोकोवियों 
के सही अथष चुनिए। अगर चारों ववकल्पों में से 
कोइष भी सही िहीीं है तो अपिा उत्तर (5) र्दीखजए।  
160. ‘पढे िारसी बेचे तेल यह रे्दिो कुर्दरत का 
िेल’ कहावते का सही अथष है- 
A. उन्िनत के पिात ्अविनत अवश्यम्भावी है 
B. प्रत्यि को प्रमाण की आवश्यकता 
C. पराधीिता सरै्दव र्द:ुिर्दायी होती है 
D. योग्यतािुसार कायष ि नमलिा 
E. इिमें से कोई िहीीं  
 

161.जब आप कीं प्यटूर चालू करत ेहैं तब बूट 
रूटीि इिमें से कौि सा टेस्ट करता है? 

A. रैम टेस्ट 
B. दडस्क ड्राइव टेस्ट 
C. मेमोरी टेस्ट 
D. पावर ऑि सेल्ि टेस्ट 
E. इिमें से कोई भी िहीीं 
 

162.कूकीज ____ है। 
A. उपयोगकताष द्वारा वेब गनतववनधयों के सींर्दभष 
में जािकारी सींग्रदहत करिा 
B. उपयोगकताष द्वारा सॉफ्टवेर ववकास के सींर्दभष 
में जािकारी सींग्रदहत करिा 
C. उपयोगकताष के पासवडष का सींग्रह करिा 
D. उपयोगकताष द्वारा उपयोग की गई कमाींडों को 
सींग्रदहत करिा 
E. इिमें से कोई िहीीं 
 

163.दकस दडवाइस में इलेक्रॉनिक सदकष ट होत े
हैं जो प्रोग्राम निरे्दशों की व्याख्या और निष्पादर्दत 
करत ेहैं? 

A. सेंरल प्रोसेनसींग यूनिट 
B. इिपुट 
C. आउटपुट 
D. पाइींटर 

E. इिमें से कोई िहीीं 
 

164.सॉफ्टकॉपी एक अप्रत्यि आउटपुट है, तो 
दिर हाडष कॉपी क्या है? 

A. कीं प्यटूर के भौनतक दहस्से 
B. कीं प्यूटर के छप ेहुए दहस्से 
C. छपा हुआ आउटपटु 
D. भौनतक आउटपटु उपकरण 

E. उपयुषि में से कोई भी िहीीं 
 

165._____ एक दडवाइस है जोदक ि केवल 
ववृद्ध सींरिण प्रर्दाि करता है, साथ ही में यह 
आपके कीं प्यूटर को एक पॉवर की कमी के र्दौराि 
बैटरी बैकअप पॉवर रे्दता है । 
A. सजष खस्रप 
B. यूएसबी 
C. यूपीएस 

D. बैटरी खस्रप 
E. इिमें से कोई िहीीं 
 

166.नलिक्स ______ का एक उर्दाहरण है। 
A. फ्रीवेयर 
B. मुि स्रोत (ओपि सोसष) सॉफ्टवेयर 
C. शेयरवेयर 
D. कॉखम्प्लमेंरी 
E. इिमें से कोई िहीीं 
 

167.ज्यार्दातर वैि में, िेटवकष  में टेलीिोि लाइिों 
के कई केबल होत ेहै, हर केबल दकसे जोडता है ? 

A. पैकेट 
B. स्टार टोपोलॉजी 
C. रूटर 
D. एींटेिा 
E. इिम ेसे कोई िहीीं 
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168.एक कीं प्यूटर प्रोग्राम है दक एक समय में 
एक प्रोग्राम निरे्दशों (इींस्रक्शन्स) का मशीि 
भार्ा में अिुवार्द करता है, _______ कहलाता 
है। 
A. र्दभुावर्या (इींटरप्रेटर) 
B. सीपीयू 

C. सींकलक (कम्पाइलर) 
D. कमाींडर 
E. इिमें से कोई िहीीं 
 

169.कम् प् यूटर मेमरी जो अस्थायी रूप से 
जािकारी को सींग्रहीत करती है _____ कहलाती 
है। 
A. रेम 

B. सी.पी.य ू

C. रोम 

D. आई.बी.एम 

E. इिमें से कोई िहीीं 
 
170. 

शॉटषकट ,Shift + Delete का प्रयोग दकया 
जाता है? 

A. चयनित आइटम को रीसायकल वबि में रििे 
की बजाय स्थायी रूप से हटा रे्दिा 
B. चयनित आइटम को कॉपी करिे के नलए 
C. चयनित आइटम का िाम बर्दलिे के नलए 
D. चयनित आइटम का एक शॉटषकट बिािे के 
नलए 

E. इिमें से कोई िहीीं 
 

171.निम्ि में से कौि सा एक हेक्साडेनसमल 
सींख्या का आधार है? 

A. 8 
B. 2 
C. 10 

D. 16 
E. 24 

 

172.खस्वच एक िेटवकष  दडवाइस है, जो 
_______ के नलए खजम्मरे्दार है। 
A. वायरस के हमले से सुरखित रिि े

B. िेटवकष  दक शवि को ित्म कर रे्दता है 
C. िेटवकष  दडवाइस को जोडता है 
D. िेटवकष  बूट करता है 
E. इिमें से कोई िहीीं 
 

173.उि सॉफ्टवेयर टूल्स को ....... कहत ेहैं, 
खजिकी सहायता से कोई व्यवि ववनशष्ट कायो के 
नलए कम्प्यूटर का उपयोग करता है। 
A. हाडषवेयर 
B. िेटवक्डष सॉफ्टवेयर 
C. शेयरवेयर 
D. एप्लीकेशन्स 

E. इिमें से कोई िहीीं 
 

174.सुपरमाकेट्स, दडपाटषमेंटल स्टोसष और 
रेस्टोरेंट्स आदर्द में प्रयोग में लाए जािे वाले 
कम्प्यूटसष _______ टनमषिल के िाम से जािे 
जात ेहैं। 
A. P.O.S 

B. डम्ब 
C. इींटेनलजेंट 
D. स्माटष 
E. कैलकुलैदटींग 

 

175.एक हाि बाइट के नलए क्या शब्र्द प्रयोग 
दकया जाता है? 

A. वबट 
B. निब्बल 

C. बग 

D. शब्र्द (वडष) 
E. इिमें से कोई िहीीं 
 

176.BIOS का पूरा िाम क्या है? 

A. Basic Input Output Storage 
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B. Basic Input Output System 
C. Basic Internal Output System 

D. Basic Inner Output System 
E. Basic Input Outer System 
 

177.एक हैकर जो इलके्रॉनिक सींसाधि में 
जािकारी को बर्दलता या िोजष करता है, 
__________ में शानमल हो रहा है। 
A. डेनियल ऑि सववषस 

B. खस्िदिीं ग 

C. आतींकवार्द 
D. डेटा दडडनलींग 

E. इिमें से कोई िहीीं 
 

178.सामान् यीकरण का क् या उदे्दश् य है। 
A. सींबींधों की सींख् या को कम करिा 
B. प्रवववष्टयों की सींख् या को कम करिा 
C. तानलकाओीं की सींख् या को कम करिा 
D. अनतररक् तता की सींख् या को कम करिा 
E. इिमें से कोई िहीीं 
 

179.िेटवदकिं ग भार्ा में ‘हैंडशेदकीं ग’ का क्या 
अथष है। 
A. हब से कीं प्यूटर को जोडिा 
B. िेटवकष  ववतररत करिा 
C. नभन्ि कीं प्यूटर पर समाि ऑपरेदटींग नसस्टम 

D. ई-मेल भजेिा 
E. ई-मेल प्राप्त करिा 
 

180.सींबींनधत सॉफ्टवेयर पकेैज का एक बींडल 
जो की एक साथ बचेा जाता है | 
A. व्यविगत उत्पार्दकता उपकरण 

B. वडष एींड पॉवरपॉइींट 
C. स्क्रीि सेवसष 
D. एक्सले और वडषपरिेक्ट 
E. सॉफ्टवेयर सूट 
 

181.एक् सले में, ववकल् प का उपयोग करके चाटष 
बिाए जात ेहैं। 
A. चाटष ववजडष 
B. पीवेट टेबल 

C. पाई चाटष 
D. बार ग्राि 

E. इिमें से कोई िहीीं 
 

182.एक डाटाबेस वेयरहाउस 

A. बहुत से िामकरण समूहों और प्रारूपों को 
अींतववषष्ट कर लेता है। 
B. महत्वपणूष ववर्य िेत्रों के आसपास सींगदठत 

रहता है। 
C. मात्र करेण्ट डाटा को ही अींतववषष्ट करता है। 
D. एण्ड यूजसष के द्वारा अपडेट दकया जा सकता 
है ै। 
E. कुछ प्रेखित घटिाओीं और खस्थनतयों की 
व्याख्या करता है। 
 

183.एक् सले ववींडो में कौि सा िेत्र माि और 
सूत्र नलिि ेकी अिुमनत रे्दता है? 

A. टाइटल बार 
B. मेिू बार 
C. िामूषला बार 
D. स् टैन् डडष बार 
E. इिमें से कोई िहीीं 
 
184. 

थडष पीढी के कीं प्यूटर में दकसका प्रयोग दकया 
जाता था? 

A. वैक्यूम ट्यूब 
B. ववनभन्ि अींश 

C. इींटीग्रेटेड सदकष ट 
D. बायो नचप्स 

E. इिमें से कोई भी िहीीं 
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185.डाटा की इींटेनग्रटी (अिींडता) में बाधा आिे 

का एक कारण है 
A. डाटा उपलब्धता पर नियींत्रण 

B. डाटा की असींगनत 

C. डाटा की सुरिात्मक नियींत्रण 

D. डाटा की अिनधकृत प्रवेश 

E. डाटा का िालतूपि 

 

186.इींटरिेट पर सवषर से सूचिा प्राप्त करिे के 

कीं प्यूटर के प्रोसेस का अथष निम्ि में से कौि-सा 
हैं? 

A. गैर्दररींग 

B. अपलोदडींग 

C. इिपुदटींग 

D. आउटपदुटींग 

E. डाउिलोदडींग 

 

187.दडखजटल र्दरूसींचार शब्र्द ISDN का पूरा 
िाम ______ है| 
A. Integrated Standard Digital 
Networks 

B. Internet Services Data Network 
C. Interactive Standard Dynamic 

Networks 
D. Integrated Services Digital 
Network 

E. इिमें से कोई िहीीं 
 

188.गुप्त कोड जो कुछ कायषकमों के नलए प्रवेश 

प्रनतबींनधत करता है ______. 

A. पासवडष 
B. पासपोटष 
C. एींरी -कोड 
D. एक्ससे -कोड 
E. इिमें से कोई िहीीं 
 

189.__________अिनधकृत प्रनत और 
सॉफ्टवेर के ववतरण का उल्लेि करता है . 

A. हैदकीं ग 

B. सॉफ्टवेयर पायरेसी 
C. सॉफ्टवेयर नलटरेसी 
D. के्रकदकीं ग 

E. कॉपीराइट 
 

190.एक्सले में, सेल द्वारा _______ की 
पहचाि अपर लफे्ट कॉिषर में की जाती है और 
सेल लोअर राइट कॉिषर में एक कोलि द्वारा 
पथृक होता है? 

A. वकष शीट 
B. वैल्यू 

C. सेल रेिरेंस 

D. रेंज 

E. इिमें से कोई िहीीं 
 

191.ओरेकल ______ एप् लीकेशि सॉफ्टवेयर 
का एक उर्दाहरण है। 
A. डाटाबेस 

B. वडष प्रोसेनसींग 

C. प्रोजेक् ट मैिेजमेंट 
D. प्रेजिटेशि ग्रादिक्स 

E. डेस्कटॉप 
 

192.ववशेर् प्रोग्राम जो उपयोगकताष की वेब पर 
जािकारी का पता लगािे में मर्दर्द करता है 
_____. 

A. सूचिा इींजि 

B. सचष इींजि 

C. वेब िाउजर 
D. ररसोसष लोकेटरस 

E. इिमें से कोई िहीीं 
 

193.उनचत सॉफ्टवेयर की मर्दर्द से, माउस का 
प्रयोग दकया जा सकता है____ 

A. वपक् चर बिािे में 
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B. बेहतरीि ग्रादिक् स बिािे में 
C. 1 और 2 र्दोिों 
D. सुििे में 
E. इिमें से कोई िहीीं 
 

194.एक कुीं जी जो तानलका में ररकॉडों की 
ववनशष् ट ढींग से पहचाि करती है, को के रूप में 
जािा जाता है। 
A. प्राइमरी कुीं जी 
B. कैं डीडेट कुीं जी 
C. यूनिक कुीं जी 
D. स् पशेल कुीं जी 
E. इिमें से कोई िहीीं 
 

195.निम्िनलखित के बीच में से कौि-से व्यवि 

िे ‘कीं प्यूटर वायरस’शब्र्द को पररभावर्त दकया है ? 

A. टॉम दकल्बिष 
B. चाल्सष बेबेज 

C. कोंरर्द जुस े

D. फे्ररे्दररक कोहेि 

E. इिमें से कोई िहीीं 
 

196.एक मापक है खजसके माध् यम से नसग् िल 
की तीव्रता को कम दकया जा सकता है। 
A. आववृत्त (Frequency) 

B. बैंडववड्थ (Bandwidth) 

C. िीणता (Attenuation) 

D. प्रवधषि (Amplification) 

E. इिमें से कोई िहीीं 
 

197.कौि सी दडवाइस हस् तचानलत ऑपरेदटींग 
नसस् टम का प्रयोग करती है? 

A. टेबलेट 
B. पसषिल कीं प् यूटर 
C. लैपटॉप 

D. मेिफे्रम 

E. इिमें से कोई िहीीं 
 

198.निम्ि में से कौि सा फ़ाइल िाम 
एक्सटेंशि बताता है दक फ़ाइल दकसी अन्य 
फ़ाइल की बैकअप प्रनतनलवप है? 

A. TXT 
B. COM 

C. BAS 
D. BAK 

E. इिमें से कोई िहीीं 
 

199.बैकअप क् या है ? 

A. अपिे िेटवकष  में ओर अनधक घटकों 
(components) को जोडिा 
B. मूल स्रोत से एक नभन् ि स् थाि पर कॉपी 
करके डाटा की रिा करिा 
C. िए डाटा से पुरािे डाटा को छाििा 
(Filtering) 

D. टैप में डाटा पहुींचािा 
E. उपरोक् त में से कोई िहीीं 
 

200.एक अपराधी के कीं प्यूटर से िष्ट या 
िनतग्रस्त की गयी फ़ाइलों को वावपस पािे और 
पढिे की िमता, एक लॉ एन्िोसषमेंट स्पेशनलटी 
का उर्दाहरण है, इस ेक्या कहा जाता है - 
A. रोबोदटक्स 

B. नसम्यूलेसि 

C. कीं प्यूटर िोरेंनसक 

D. एिीमेशि 

E. इिम े से कोई िहीीं 
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###ANSWERS### 
 

1. Ans. E.  

 
Conclusions: 

I. Some Stupid are not Smart. – It is 
true as only a few Stupid are Crazy 
and no Crazy are Smart. 

II. No Smart are Handsome. – It is 
false as we don’t know any direct 

relation between Smart and 
Handsome. 
III. All Handsome being Stupid is a 

possibility. – It is true as shown in 
figure given below: 

 
Thus, both conclusions I and III 
follow. 

2. Ans. B.  

 
Conclusions: 

I. Some Deodorants are Sunscreen. – 
It is false as we don’t know any direct 
relation between Deodorants and 

Sunscreen. 
II. All Perfumes being Sunscreen is a 

possibility. – It is true as shown in 
figure given below: 

 
III. No Moisturizers are Perfumes. – It 
is false as we don’t know any direct 

relation between Moisturizers and 
Perfumes. 

Thus, only conclusion II follows. 
3. Ans. C.  

 
Conclusions: 

I. No Lamps are Tubelights. – It is 
false as we don’t know any direct 
relation between Lamps and 

Tubelights. 
II. Some CFL are not Bulbs. – It is 

false as we don’t know any direct 
relation between CFL and Bulbs. 
III. Some Lights are not Bulbs. – It is 

true as only a few Lights are Bulbs 
that means some Lights are not 

Bulbs. 
Thus, only conclusion III follows. 
4. Ans. C.  

1) T sits second to the right of Q. 
2) Q sits fifth from an end. 
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3) Four people sit between S and Q. 
4) More than two people sit between 

T and S. 
(Here, case 1 will be eliminated and 
we will continue with case 2) 

 
5) Three people sit between S and P, 
who is not an immediate neighbor of 

Q. 
6) Five people sit between Z and P. 
7) At most two people sit to the left of 

P. 

 
8) Seven people sit between M and Z. 

 
Therefore, option C is the correct 

answer. 
5. Ans. D.  
1) T sits second to the right of Q. 

2) Q sits fifth from an end. 

 
3) Four people sit between S and Q. 
4) More than two people sit between 

T and S. 
(Here, case 1 will be eliminated and 
we will continue with case 2) 

 
5) Three people sit between S and P, 

who is not an immediate neighbor of 
Q. 

6) Five people sit between Z and P. 
7) At most two people sit to the left of 
P. 

 
8) Seven people sit between M and Z. 

 
Therefore, option D is the correct 
answer. 
6. Ans. B.  

1) T sits second to the right of Q. 
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2) Q sits fifth from an end. 

 
3) Four people sit between S and Q. 

4) More than two people sit between 
T and S. 
(Here, case 1 will be eliminated and 

we will continue with case 2) 

 
5) Three people sit between S and P, 
who is not an immediate neighbor of 

Q. 
6) Five people sit between Z and P. 
7) At most two people sit to the left of 

P. 

 
8) Seven people sit between M and Z. 

 
Therefore, option B is the correct 
answer. 

7. Ans. C.  
1) T sits second to the right of Q. 

2) Q sits fifth from an end. 

 
3) Four people sit between S and Q. 

4) More than two people sit between 
T and S. 
(Here, case 1 will be eliminated and 

we will continue with case 2) 

 
5) Three people sit between S and P, 
who is not an immediate neighbor of 
Q. 

6) Five people sit between Z and P. 
7) At most two people sit to the left of 

P. 

 
8) Seven people sit between M and Z. 

 
Therefore, option C is the correct 
answer. 

8. Ans. C.  
Logic behind the steps: 
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Step 1: Words are arranged 
according to the last letter in 

ascending order 
Step 2: According to the number of 
letters in the word in descending 

order. If two words have the same 
number of letters, then they are 

arranged in reverse dictionary order. 
Step 3: The vowels in the letters are 
replaced by the previous letters in 

English alphabetical series and then 
arranged according to the dictionary. 

(A=Z; E=D; I=H; O=N; U=T) 
Step 4: Number = (1st letter P.V. + 
Last letter P.V.) in English alphabet x 

2 
Input: Promotion After Immediately 

Riverdale Fantastic 
Step 1: Fantastic Riverdale Promotion 
After Immediately 

Step 2: Immediately Riverdale 
Promotion Fantastic After 

Step 3: Fzntzsthc hmmddhztdly 
prnmnthnn rhvdrdzld zftdr 
Step 4: 18 66 60 44 88 

Clearly, ‘Fzntzsthc hmmddhztdly 
prnmnthnn rhvdrdzld zftdr’ is the 

correct one. 
9. Ans. C.  
Logic behind the steps: 

Step 1: Words are arranged 
according to the last letter in 

ascending order 
Step 2: According to the number of 
letters in the word in descending 

order. If two words have the same 
number of letters, then they are 

arranged in reverse dictionary order. 
Step 3: The vowels in the letters are 

replaced by the previous letters in 
English alphabetical series and then 
arranged according to the dictionary. 

(A=Z; E=D; I=H; O=N; U=T) 
Step 4: Number = (1st letter P.V. + 

Last letter P.V.) in English alphabet x 
2 
Input: Promotion After Immediately 

Riverdale Fantastic 

Step 1: Fantastic Riverdale Promotion 
After Immediately 

Step 2: Immediately Riverdale 
Promotion Fantastic After 
Step 3: Fzntzsthc hmmddhztdly 

prnmnthnn rhvdrdzld zftdr 
Step 4: 18 66 60 44 88 

Clearly, three numbers are divisible 
by 11 in the last step. 
10. Ans. E.  

Logic behind the steps: 
Step 1: Words are arranged 

according to the last letter in 
ascending order 
Step 2: According to the number of 

letters in the word in descending 
order. If two words have the same 

number of letters, then they are 
arranged in reverse dictionary order. 
Step 3: The vowels in the letters are 

replaced by the previous letters in 
English alphabetical series and then 

arranged according to the dictionary. 
(A=Z; E=D; I=H; O=N; U=T) 
Step 4: Number = (1st letter P.V. + 

Last letter P.V.) in English alphabet x 
2 

Input: Promotion After Immediately 
Riverdale Fantastic 
Step 1: Fantastic Riverdale Promotion 

After Immediately 
Step 2: Immediately Riverdale 

Promotion Fantastic After 
Step 3: Fzntzsthc hmmddhztdly 
prnmnthnn rhvdrdzld zftdr 

Step 4: 18 66 60 44 88 
Clearly, ‘Riverdale’ is 4th from the 

right in step 2. 
11. Ans. A.  

Logic behind the steps: 
Step 1: Words are arranged 
according to the last letter in 

ascending order 
Step 2: According to the number of 

letters in the word in descending 
order. If two words have the same 
number of letters, then they are 

arranged in reverse dictionary order. 
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Step 3: The vowels in the letters are 
replaced by the previous letters in 

English alphabetical series and then 
arranged according to the dictionary. 
(A=Z; E=D; I=H; O=N; U=T) 

Step 4: Number = (1st letter P.V. + 
Last letter P.V.) in English alphabet x 

2 
Input: Promotion After Immediately 
Riverdale Fantastic 

Step 1: Fantastic Riverdale Promotion 
After Immediately 

Step 2: Immediately Riverdale 
Promotion Fantastic After 
Step 3: Fzntzsthc hmmddhztdly 

prnmnthnn rhvdrdzld zftdr 
Step 4: 18 66 60 44 88 

Clearly, ‘Prnmnthnn’ is 3rd from the 
left in step 3. 
12. Ans. D.  

‘Almost’ = ‘GC#21’ 
1) code for the first alphabet of the 

code = reverse letter of the last 
alphabet of the given word 
2) code for the second alphabet of the 

code = next to next alphabet of the 
first alphabet according to dictionary, 

of the given word 
3) code for the symbol = 
# = if total alphabets are in even 

number 
@ = if total alphabets are in odd 

number 
4) code for the last number = addition 
of place value of first alphabet and 

last alphabet of the given word in the 
alphabet series. 

Therefore, option D is the correct 
answer. 

13. Ans. C.  
‘Almost’ = ‘GC#21’ 
‘Almost’ = ‘GC#21’ 

1) code for the first alphabet of the 
code = reverse place value letter of 

the last alphabet of the given word 
2) code for the second alphabet of the 
code = next to next alphabet of the 

first alphabet according to dictionary, 
of the given word 

3) code for the symbol = 
# = if total alphabets are in even 

number 
@ = if total alphabets are in odd 
number 

4) code for the last number = addition 
of place value of first alphabet and 

last alphabet of the given word in the 
alphabet series. 
Therefore, option C is the answer. 

14. Ans. C.  
‘Almost’ = ‘GC#21’ 

1) code for the first alphabet of the 
code = reverse place value letter of 
the last alphabet of the given word 

2) code for the second alphabet of the 
code = next to next alphabet of the 

first alphabet according to dictionary, 
of the given word 
3) code for the symbol = 

# = if total alphabets are in even 
number 

@ = if total alphabets are in odd 
number 
4) code for the last number = addition 

of place value of first alphabet and 
last alphabet of the given word 

Therefore, option C is the correct 
answer. 
15. Ans. B.  

Persons: A, B, C, D, E, F, G, H and J 
Colors: Pink, Yellow, Green, Blue, 

Red, Black, Brown, White and Violet 
Steps: 
1) The one who likes blue sits on the 

leftmost place. 
2) G sits on the 3rd position from the 

left end. 
3) Two persons sit between G and E. 

 
4) The one who likes white sits on the 
6th position from the left end. 

5) The one, who likes yellow, sits just 
to the left of the one who likes white. 
6) D who likes green sits on the 2nd 

position from the right end. 
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7) The one who likes brown sits on the 
4th position from the left end. 

8) The one who likes pink sits exactly 
between the one who likes brown and 
the one who likes red, but not on the 

5th position from the left end. 
9) B sits on an even position from the 

left end but B doesn’t like brown. 

 
10) H sits on an even position from 

the left. The only place left for H is 4th 
position from the left. 

11) The one who likes black does not 
sit at the rightmost position. 
12) J likes violet. 

 
12) A sits on an odd position from the 
left end but not on the leftmost 

position. 
13) A does not sit on the 5th position 
from the left end. 

14) C doesn’t like yellow. 

 
Clearly, C sits on the leftmost place. 

16. Ans. C.  
Persons: A, B, C, D, E, F, G, H and J 
Colors: Pink, Yellow, Green, Blue, 

Red, Black, Brown, White and Violet 
Steps: 

1) The one who likes blue sits on the 
leftmost place. 
2) G sits on the 3rd position from the 

left end. 
3) Two persons sit between G and E. 

 
4) The one who likes white sits on the 

6th position from the left end. 
5) The one, who likes yellow, sits just 
to the left of the one who likes white. 

6) D who likes green sits on the 2nd 
position from the right end. 

 
7) The one who likes brown sits on the 
4th position from the left end. 

8) The one who likes pink sits exactly 
between the one who likes brown and 

the one who likes red, but not on the 
5th position from the left end. 
9) B sits on an even position from the 

left end but B doesn’t like brown. 

 
10) H sits on an even position from 
the left. The only place left for H is 4th 
position from the left. 

11) The one who likes black does not 
sit at the rightmost position. 

12) J likes violet. 

 
12) A sits on an odd position from the 
left end but not on the leftmost 

position. 
13) A does not sit on the 5th position 

from the left end. 
14) C doesn’t like yellow. 

 
Clearly, 4 persons are sitting between 
A and B (Red). 

17. Ans. B.  
Persons: A, B, C, D, E, F, G, H and J 

Colors: Pink, Yellow, Green, Blue, 
Red, Black, Brown, White and Violet 
Steps: 

1) The one who likes blue sits on the 
leftmost place. 

2) G sits on the 3rd position from the 
left end. 
3) Two persons sit between G and E. 

 
4) The one who likes white sits on the 

6th position from the left end. 
5) The one, who likes yellow, sits just 

to the left of the one who likes white. 
6) D who likes green sits on the 2nd 
position from the right end. 

 
7) The one who likes brown sits on the 
4th position from the left end. 

8) The one who likes pink sits exactly 
between the one who likes brown and 
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the one who likes red, but not on the 
5th position from the left end. 

9) B sits on an even position from the 
left end but B doesn’t like brown. 

 
10) H sits on an even position from 
the left. The only place left for H is 4th 
position from the left. 

11) The one who likes black does not 
sit at the rightmost position. 

12) J likes violet. 

 
12) A sits on an odd position from the 
left end but not on the leftmost 
position. 

13) A does not sit on the 5th position 
from the left end. 

14) C doesn’t like yellow. 

 
Clearly, only D sits on an even 

position (8th) from the left end. 
18. Ans. E.  

Persons: A, B, C, D, E, F, G, H and J 
Colors: Pink, Yellow, Green, Blue, 
Red, Black, Brown, White and Violet 

Steps: 
1) The one who likes blue sits on the 

leftmost place. 
2) G sits on the 3rd position from the 
left end. 

3) Two persons sit between G and E. 

 
4) The one who likes white sits on the 

6th position from the left end. 
5) The one, who likes yellow, sits just 

to the left of the one who likes white. 
6) D who likes green sits on the 2nd 
position from the right end. 

 
7) The one who likes brown sits on the 
4th position from the left end. 

8) The one who likes pink sits exactly 
between the one who likes brown and 
the one who likes red, but not on the 

5th position from the left end. 

9) B sits on an even position from the 
left end but B doesn’t like brown. 

 
10) H sits on an even position from 
the left. The only place left for H is 4th 

position from the left. 
11) The one who likes black does not 

sit at the rightmost position. 
12) J likes violet. 

 
12) A sits on an odd position from the 
left end but not on the leftmost 
position. 

13) A does not sit on the 5th position 
from the left end. 

14) C doesn’t like yellow. 

 
Clearly, F sits second to the left of A. 
19. Ans. D.  

Persons: A, B, C, D, E, F, G, H and J 
Colors: Pink, Yellow, Green, Blue, 
Red, Black, Brown, White and Violet 

Steps: 
1) The one who likes blue sits on the 

leftmost place. 
2) G sits on the 3rd position from the 
left end. 

3) Two persons sit between G and E. 

 
4) The one who likes white sits on the 

6th position from the left end. 
5) The one, who likes yellow, sits just 

to the left of the one who likes white. 
6) D who likes green sits on the 2nd 

position from the right end. 

 
7) The one who likes brown sits on the 
4th position from the left end. 

8) The one who likes pink sits exactly 
between the one who likes brown and 

the one who likes red, but not on the 
5th position from the left end. 
9) B sits on an even position from the 

left end but B doesn’t like brown. 
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10) H sits on an even position from 
the left. The only place left for H is 4th 

position from the left. 
11) The one who likes black does not 
sit at the rightmost position. 

12) J likes violet. 

 
12) A sits on an odd position from the 
left end but not on the leftmost 
position. 

13) A does not sit on the 5th position 
from the left end. 

14) C doesn’t like yellow. 

 
Clearly, 6 persons sit between B and 
J. 
20. Ans. D.  

Putting ‘<’, ‘=’, ‘=’ and ‘≤’ 
respectively in the place of blanks we 

get, 
Statement: S < T = A = R ≤ K 

S < R → Definitely True 

K ≥ T → Definitely True 
21. Ans. C.  
Putting ‘>’, ‘=’, ‘=’, ‘>’ and ‘>’ 
respectively in the blanks we get, 

Statement: C > L = O = T > H > S 

C < T → False 
L < S → False 

O < H → False 
22. Ans. D.  
D = C > B ≥ E ≤ H < G ≤ F 

 
Therefore, option D is the correct 

answer. 
23. Ans. C.  
While figuring out the course of action 

of a given statement one should look 
for the following points.  

• A correct course of action should 
either lessen the problem or 
improve the situation created 

by the problem. 
• A simple problem must have a 

straightforward course of 
action and not a complex one 
which may create more 

problems than to solve or 
reduce it. 

• A course of action should be 
possible and should relate to 
the practical aspect of life and 

hence the given problem. 
Let's consider the options given, 

 
I statement can be a COA as it's the 
responsibility of regulators to 

investigate any discrepancy. Forming 
a committee to investigate the 

facebook's action is the right course 
of action to check the authenticity of 
the accusation. Thus, this course of 

action follows. 
 

The II statement suggest that users 
of facebook should refrain from 
sharing the private information with 

the facebook as there are accustion of 
leaking the data to chinese 

companies. It is logical and 
straightforward course of action. Thus 
follows. 

The last statement i.e. III suggests 
that facebook should write apologies 

to it's users for leaking their data. 
According to the statement these are 
acusation and has not been proved as 

of now (as statement do not give any 
indication of these acusation to be 

true). Thus last statement donot 
follows. 
24. Ans. A.  

The correct answer is option A, i.e. 
The UK home office told the 

Indian authorities that India’s 
request to extradite Modi had 

been certified. The Indian 
agencies are now awaiting Modi’s 
formal arrest.  

‘Inference’ is a conclusion reached on 
the basis of evidence and reasoning. 

We first make sure to read the 
statement carefully and then see 
what immediate inferences can be 

drawn based on our first reading. The 
next step is to look at the statements 
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given in the options, analyze them 
and see if they seem relevant with 

respect to the information/data 
provided to us. 
Option (A) is an appropriate inference 

that can be drawn on the basis of the 
information provided. It is in the 

same direction as the given 
statement and carries the idea further 
with India’s hoping for the arrest. 

Option (C) can be rejected as no 
information is evident from the given 

context which supports the fact that 
Nirav Modi was spotted in London’s 
West End earlier this month by 

Britain’s The Telegraph newspaper. It 
is baseless and is thus rejected. 

Option (D) can be eliminated as no 
information supporting the fact that 
Modi has travelled outside UK thrice, 

is evident from the given context. 
From the given assumptions (A) is the 

most appropriate deduction that can 
be made. 
As all the other options except (A) are 

irrelevant with respect to the data 
provided in the statement. Thus, the 

correct answer is option A. 
25. Ans. C.  
The correct answer is option C, I are 

strong, i.e. both I and II are strong 
in the sense to weaken the idea 

presented in the given statement. 
We first make sure to read the 
statement carefully and then see 

what immediate inferences can be 
drawn based on our first reading. The 

next step is to look at the arguments 
given in the options, analyze them 

and see if they seem relevant with 
respect to the information/data 
provided to us. Finally, it is very 

important to study the question 
closely. 

In the question it is written that which 
of the following ‘weaken(s)’ the 
given statement thus, we must look 

for an option choice which weakens 
the idea of the statement. 

Following the aforementioned steps, 
we must analyze the given statement 

and the corresponding question 
closely. 
The given statement is about data 

security and India’s views on it that 
the data generated in the country is a 

national asset, and citizens and the 
government have a sovereign right 
over it. From the statement, it is 

evident that we must look for the 
assumption which weakens this fact. 

The argument I weaken the 
statement as the policy only applies 
to the data stored in India while does 

not have jurisdiction over the data 
stored overseas. This deficiency of 

policy may hinder the desired effect. 
 
The argument II strengthens the 

statement as it states the necessity of 
creating the policy. 

Argument (III) is irrelevant and can 
be rejected as it does not signify the 
harm. Moreover, it is more in the 

direction of correcting the mistakes 
and thus does not weaken the given 

scenario. 
Thus, the correct answer is option C. 
26. Ans. D.  

Seven boxes: M, N, O, P, Q, R and S. 
Weight: 12, 10, 18, 20, 24 and 5. 

1) More than two boxes are placed 
above 12kg box. 
2) Only two boxes are placed between 

12kg and 20 kg box, which is 
immediately below box M. 

3) Only one box is between 12kg and 
box R. 

4) Box O is immediately above box R. 
5) Neither O nor S is 20kg box. 
Case 1: 
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Case 2: 

 
6) Box S is immediately above the 
box whose weight is 5kg. 
7) Weight of box S is neither 20kg nor 

12kg. 
8) Box N is immediately above Box Q. 

Only one box is between box N and 
the box whose weight is 10 kg which 
is below box N. 

9) Only two boxes are kept between 
10kg box and 8kg box. 

Case 1: 

 
Case 2: 

 
10) The box whose weight is 18 kg is 

neither placed at the top nor at the 
bottom. 

(Hence, case 2 will be eliminated, we 
can further proceed with case 1) 

(Finally, the weight of box O is 24 kg 
and weight of box P is 20 kg) 

 
Clearly, the weight of the box which 
is placed in the middle of the stack is 

12kg. 
27. Ans. A.  

Seven boxes: M, N, O, P, Q, R and S. 
Weight: 12, 10, 18, 20, 24 and 5. 
1) More than two boxes are placed 

above 12kg box. 
2) Only two boxes are placed between 

12kg and 20 kg box, which is 
immediately below box M. 
3) Only one box is between 12kg and 

box R. 
4) Box O is immediately above box R. 

5) Neither O nor S is 20kg box. 
Case 1: 

 
Case 2: 

 
6) Box S is immediately above the 

box whose weight is 5kg. 
7) Weight of box S is neither 20kg nor 

12kg. 
8) Box N is immediately above Box Q. 
Only one box is between box N and 
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the box whose weight is 10 kg which 
is below box N. 

9) Only two boxes are kept between 
10kg box and 8kg box. 
Case 1: 

 
Case 2: 

 
10) The box whose weight is 18 kg is 
neither placed at the top nor at the 
bottom. 

(Hence, case 2 will be eliminated, we 
can further proceed with case 1) 

(Finally, the weight of box O is 24 kg 
and weight of box P is 20 kg) 

 
Clearly, Weight of box N and Q is 
equal to the weight of box S and Box 

P among the given options. 
28. Ans. D.  

Seven boxes: M, N, O, P, Q, R and S. 
Weight: 12, 10, 18, 20, 24 and 5. 
1) More than two boxes are placed 

above 12kg box. 
2) Only two boxes are placed between 

12kg and 20 kg box, which is 
immediately below box M. 
3) Only one box is between 12kg and 

box R. 

4) Box O is immediately above box R. 
5) Neither O nor S is 20kg box. 

Case 1: 

 
Case 2: 

 
6) Box S is immediately above the 

box whose weight is 5kg. 
7) Weight of box S is neither 20kg nor 

12kg. 
8) Box N is immediately above Box Q. 
Only one box is between box N and 

the box whose weight is 10 kg which 
is below box N. 

9) Only two boxes are kept between 
10kg box and 8kg box. 
Case 1: 

 
Case 2: 
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10) The box whose weight is 18 kg is 
neither placed at the top nor at the 

bottom. 
(Hence, case 2 will be eliminated, we 
can further proceed with case 1) 

(Finally, the weight of box O is 24 kg 
and weight of box P is 20 kg) 

 
Clearly, no box is kept above box O. 
29. Ans. A.  
Seven boxes: M, N, O, P, Q, R and S. 

Weight: 12, 10, 18, 20, 24 and 5. 
1) More than two boxes are placed 

above 12kg box. 
2) Only two boxes are placed between 
12kg and 20 kg box, which is 

immediately below box M. 
3) Only one box is between 12kg and 

box R. 
4) Box O is immediately above box R. 
5) Neither O nor S is 20kg box. 

Case 1: 

 
Case 2: 

 
6) Box S is immediately above the 
box whose weight is 5kg. 
7) Weight of box S is neither 20kg nor 

12kg. 

8) Box N is immediately above Box Q. 
Only one box is between box N and 

the box whose weight is 10 kg which 
is below box N. 
9) Only two boxes are kept between 

10kg box and 8kg box. 
Case 1: 

 
Case 2: 

 
10) The box whose weight is 18 kg is 

neither placed at the top nor at the 
bottom. 

(Hence, case 2 will be eliminated, we 
can further proceed with case 1) 
(Finally, the weight of box O is 24 kg 

and weight of box P is 20 kg) 

 
Clearly, box M contains least weight. 
30. Ans. E.  

Seven boxes: M, N, O, P, Q, R and S. 
Weight: 12, 10, 18, 20, 24 and 5. 
1) More than two boxes are placed 

above 12kg box. 
2) Only two boxes are placed between 

12kg and 20 kg box, which is 
immediately below box M. 
3) Only one box is between 12kg and 

box R. 
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4) Box O is immediately above box R. 
5) Neither O nor S is 20kg box. 

Case 1: 

 
Case 2: 

 
6) Box S is immediately above the 

box whose weight is 5kg. 
7) Weight of box S is neither 20kg nor 

12kg. 
8) Box N is immediately above Box Q. 
Only one box is between box N and 

the box whose weight is 10 kg which 
is below box N. 

9) Only two boxes are kept between 
10kg box and 8kg box. 
Case 1: 

 
Case 2: 

 

10) The box whose weight is 18 kg is 
neither placed at the top nor at the 

bottom. 
(Hence, case 2 will be eliminated, we 
can further proceed with case 1) 

(Finally, the weight of box O is 24 kg 
and weight of box P is 20 kg) 

 
Clearly, all the statements regarding 
Q are true. 
31. Ans. D.  

 
Therefore, option D is the correct 
answer. 

32. Ans. C.  

 
In all expect in the option C the latter 
is in the north west of the former. 

Therefore, option C is the correct 
answer. 
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33. Ans. A.  

 
Therefore, option A is the correct 

answer. 
34. Ans. D.  
The correct answer is option D, 

i.e. None of the above. 
A course of action is something that 

needs to be done considering the 
present scenario in mind. 
From the information provided we get 

a clear idea that no problem has been 
posed regarding which a suitable 

action can be taken and because of 
this fact the possibility of a possible 
course of action is ruled out. 

The given statement talks about the 
sixth elections that just happened in 

Nigeria. It also captures the fact that 
APC defeated his closest rival PDP, by 
about four million votes and PDP chief 

is planning to question the results in 
court. And other supporting 

information is also stated. Thus, in 
this scenario a suitable course of 
action could have been from PDP 

planning to go to court or from APC 
preparing for its stand against the 

allegations. 
Option A is a general statement and 
does not suggest any course of 

action. Thus, it is rejected. On similar 
grounds, option B can also be 

eliminated. 
Option C draws a comparison 
between the process followed in India 

and Nigeria. Thus, it also in no sense 

suggests any course of action and is 
thus rejected. 

Hence, all the course of action stated 
in the given options can be ruled out 
and the most correct answer choice is 

option D 
35. Ans. E.  

The correct answer is option E, 
i.e. With more than 70 civic 
organisations monitoring the 

elections, the allegations claimed 
by PDP won’t stand long. 

‘Inference’ is a conclusion reached on 
the basis of evidence and reasoning. 
We first make sure to read the 

statement carefully and then see 
what immediate inferences can be 

drawn based on our first reading. The 
next step is to look at the statements 
given in the options, analyze them 

and see if they seem relevant with 
respect to the information/data 

provided to us. 
Option (A) can be rejected as the 
facts stated in the option choice are 

not evident from the given context. 
We cannot infer anything on our own 

thus, it is eliminated. 
Option (B) is also rejected as half of 
the information stated in it is backed 

up from the given context but the fact 
that each state has an elected 

governor and a legislative assembly is 
not evident from the given context. 
Option (C) is factually incorrect and is 

thus eliminated. It states wrong 
information. 

Option (D) can be eliminated as it is 
contradictory to the information 

provided as in the given context, we 
are talking about 70 civic 
organisations monitoring the 

elections, which enhanced the 
credibility of the elections and the 

given option talks about the fact that 
elections were fraught with all kinds 
of flaws. These are two contradicting 

ideas. Moreover, no information 
about the nature of the elections in 
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the past is supported in the given 
context. Thus, it is rejected. 

Option (E) is the correct inference 
that can be made on the basis of the 
information stated. As stated in the 

given context that a coalition of more 
than 70 civic organisations monitored 

the elections, which enhanced the 
credibility of the elections, thereby 
the claims or the allegations of the 

losing PDP against APC won’t be able 
to stand long. It is a suitable inference 

on the basis of the information 
provided and is thus the correct 
answer choice. 

Thus, the most correct answer choice 
is option E and rest of the options can 

be rejected. 
36. Ans. D.  
The correct answer is option D, 

i.e. Among the 91 political parties 
registered, PDP lost the election 

to ADP and made claims 
regarding the elections being 
militarised. 

The given statement talks about the 
sixth elections that just happened in 

Nigeria. It also captures the fact that 
APC defeated his closest rival PDP, by 
about four million votes and PDP chief 

is planning to question the results in 
court. And other supporting 

information is also stated. Thus, a 
suitable answer choice must be 
relevant to this information provided. 

Option A can be rejected as no 
information supporting the facts 

stated can be inferred from the given 
context. 

Option D is contextually relevant to 
the information provided. It is a 
summary of the information stated in 

the given context and is thus 
appropriately relevant and is the 

suitable answer choice. 
Option E can be rejected as it is a 
factually incorrect as from the 

given context it is evident that a 
coalition of more than 70 civic 

organisations monitored the 
elections whereas the given 

option states that a coalition of less 
than 70 civic organisations monitored 
the elections. Thus, it is eliminated. 

Thus, the most correct answer choice 
is option D and rest of the options can 

be rejected. 
37. Ans. C.  
Case 1: 

If we follow all the given conditions 
and reach to the position where Amra 

was born after vickey which is not 
fitted here so we abort this case. 
1965  

1966 Lakshya 
1972  Ahana 

1984  
1989  
1993  Vickey 

1999  Kismat 
2002  Kajal 

Case 2: 
If we reach to the information where 
given that Chintu is younger then 

Amra which is not fitted here so we 
abort this case. 

1965  
1966  
1972  

1984  
1989  

1993 Vickey 
1999  Kismat 
2002  Kajal 

Case 3: 
This case follows all the given 

conditions. 
1965  Archana 

1966  Vickey 
1972  Kismat 
1984  Amra 

1989  Lakshya 
1993  Chintu 

1999  Aayu 
2002  Kajal 
38. Ans. D.  

Case 1: 
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If we follow all the given conditions 
and reach to the position where Amra 

was born after vickey which is not 
fitted here so we abort this case. 
1965  

1966 Lakshya 
1972  Ahana 

1984  
1989  
1993  Vickey 

1999  Kismat 
2002  Kajal 

Case 2: 
If we reach to the information where 
given that Chintu is younger then 

Amra which is not fitted here so we 
abort this case. 

1965  
1966  
1972  

1984  
1989  

1993 Vickey 
1999  Kismat 
2002  Kajal 

Case 3: 
This case follows all the given 

conditions. 
1965  Archana 
1966  Vickey 

1972  Kismat 
1984  Amra 

1989  Lakshya 
1993  Chintu 
1999  Aayu 

2002  Kajal 
39. Ans. B.  

Case 1: 
If we follow all the given conditions 

and reach to the position where Amra 
was born after vickey which is not 
fitted here so we abort this case. 

1965  
1966 Lakshya 

1972  Ahana 
1984  
1989  

1993  Vickey 
1999  Kismat 

2002  Kajal 
Case 2: 

If we reach to the information where 
given that Chintu is younger then 
Amra which is not fitted here so we 

abort this case. 
1965  

1966  
1972  
1984  

1989  
1993 Vickey 

1999  Kismat 
2002  Kajal 
Case 3: 

This case follows all the given 
conditions. 

1965  Archana 
1966  Vickey 
1972  Kismat 

1984  Amra 
1989  Lakshya 

1993  Chintu 
1999  Aayu 
2002  Kajal 

40. Ans. E.  
Case 1: 

If we follow all the given conditions 
and reach to the position where Amra 
was born after vickey which is not 

fitted here so we abort this case. 
1965  

1966 Lakshya 
1972  Ahana 
1984  

1989  
1993  Vickey 

1999  Kismat 
2002  Kajal 

Case 2: 
If we reach to the information where 
given that Chintu is younger then 

Amra which is not fitted here so we 
abort this case. 

1965  
1966  
1972  

1984  
1989  
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1993 Vickey 
1999  Kismat 

2002  Kajal 
Case 3: 
This case follows all the given 

conditions. 
1965  Archana 

1966  Vickey 
1972  Kismat 
1984  Amra 

1989  Lakshya 
1993  Chintu 

1999  Aayu 
2002  Kajal 
41. Ans. D.  

From the pie chart, 
Number of male candidates in 

January = 25% of 80 = 20 
And the table, 
Number of female candidates in 

January = 25 × 2 − 20 = 30 
Similarly, 

 
 
Number of female candidates who 

appeared for an interview in June = 
16 × 0.75 = 12 

Number of candidates =  = 50 

Number of male candidates who 
appeared for an interview in June = 
50 – 12 = 38 

Hence, the answer is option D. 
42. Ans. A.  

From the pie chart, 
Number of male candidates in 
January = 25% of 80 = 20 

And the table, 
Number of female candidates in 

January = 25 × 2 − 20 = 30 
Similarly, 

 
 

Required percentage = × 100 = 
20% 
Hence, the answer is option A. 

43. Ans. C.  
From the pie chart, 
Number of male candidates in 

January = 25% of 80 = 20 
And the table, 

Number of female candidates in 
January = 25 × 2 − 20 = 30 
Similarly, 

 
 

Required average =  = 24 
Hence, the answer is option C. 

44. Ans. B.  
From the pie chart, 
Number of male candidates in 

January = 25% of 80 = 20 
And the table, 

Number of female candidates in 
January = 25 × 2 − 20 = 30 
Similarly, 

 
 
Required ratio = (16 + 12 + 8) : (30 
+ 18) = 36 : 48 = 3 : 4 

Hence, the answer is option B. 
45. Ans. D.  

From the pie chart, 
Number of male candidates in 
January = 25% of 80 = 20 

And the table, 
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Number of female candidates in 
January = 25 × 2 − 20 = 30 

Similarly, 

 
 
Number of male candidates that 
appeared for interview in August = 16 

×  = 28 
Number of female candidates that 
appeared for interview in August = 16 

×  = 40 
Required difference = 40 – 28 = 12 

Hence, the answer is option D. 
46. Ans. C.  
From the pie chart, 

Number of male candidates in 
January = 25% of 80 = 20 

And the table, 
Number of female candidates in 
January = 25 × 2 − 20 = 30 

Similarly, 

 
 

Required time =  = 
36.25 minutes = 36 minutes 15 
seconds 

Hence, the answer is option C. 
47. Ans. C.  
Pattern of the series is: 

10000 × 0.3 = 3000 
3000 × 0.3 × 2 = 1800 

1800 × 0.3 × 3 = 1620 
1620 × 0.3 × 4 = 1944 
Hence, the answer is option C. 

48. Ans. B.  
Pattern of the series is: 

900 – 22 = 896 
896 – 42 = 880 
880 – 62 = 844 

844 – 82 = 780 
780 – 102 = 680 

Hence, the answer is option B. 
49. Ans. E.  
Pattern of the series is: 

64 × 1 = 64 
64 × (1 + 1.5) = 160 

160 × (2.5 + 2.5) = 800 
800 × (5 + 3.5) = 6800 
6800 × (8.5 + 4.5) = 88400 

Hence, the answer is option E. 
50. Ans. D.  

Pattern of the series is: 
13 × 3 + 12 = 40 
40 × 4 + 23 = 168 

168 × 5 + 32 = 849 
849 × 6 + 43 = 5158 

5158 × 7 + 52 = 36131 
Hence, the answer is option D. 
51. Ans. E.  

Pattern of the series is: 
9450 ÷ 3 = 3150 

3150 ÷ 4 = 787.5 
787.5 ÷ 5 = 157.5 
157.5 ÷ 6 = 26.25 

26.25 ÷ 7 = 3.75 
Hence, the answer is option E. 

52. Ans. D.  
Let the present age of Rajiv be x 
years. 

Present age of Rajiv’s sister = (x + 5) 
years 

Age of Rajiv’s father = (x + 33) years 
Age of Rajiv’s mother = (x + 31) 
years 

When x = 15, 
Required sum = x + 33 + x + 31 = 

(33 + 15) + (15 + 31) = 94 years 
Hence, the answer is option D. 

53. Ans. C.  

Speed of train C =  = 45 m/s 
Speed of train B = 45 × 2 = 90 m/s 

Speed of train A =  = 63 m/s 
Length of train A = 63 × 8 = 504 m 
Length of train B = 504 – 144 = 360 

m 
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Hence, option C is correct. 
54. Ans. B.  

Part of the tank that will be filled in 4 

hours =  
Remaining part of the tank = 1 – 

 

 of the tank is filled by pipe A and 
C in 18 hours. 

So, the time taken by pipe A and C to 

fill the whole tank = = 24 
hours 
Let the capacity of the tank be 48 

litres 
Amount of the work done by pipe A, 

B and C together in one hour =  = 
3 litres 

Amount of the work done by pipe A 

and C together in one hour =  = 2 
litres 
Amount of the work done by pipe B in 

one hour = 3 – 2 = 1 litre 
Amount of the work done by pipe C in 

one hour =  litres 
Amount of the work done by pipe A in 

one hour = litres 
Time taken by pipe A alone to fill the 

tank =  = 36 hours 
Hence, option B is correct. 

55. Ans. D.  
According to the data provided in the 

question, we get 

⇒  

⇒ A – 60 = 200 

⇒ A = 260 

Again, 

⇒  

⇒ 260 + B = 300 

⇒ B = 40 

Hence, option D is correct. 

56. Ans. A.  
According to the data provided in the 
question, we get 

⇒ X + 3816 =  

⇒ X + 3816 =  

⇒ 625X + 3816 × 625 = 784X 

⇒ 159X = 3816 × 625 

⇒ X = 15000 

Sum invested by Ankur = 15000 + 

5000 = Rs. 20000 
Required simple interest = 

 = Rs. 10800 
Hence, option A is correct. 

57. Ans. D.  
Let the speed of the stream be x km/h 
Speed of the boat in still water = 3.5x 

km/h 
Speed of the boat in downstream = x 

+ 3.5x = 4.5x km/h 
Speed of the boat in upstream = 3.5x 
– x = 2.5x km/h 

Sum of the speed of boat in 
downstream and upstream = (4.5x + 

2.5x) = 7x km/h 
⇒ 84 = 7x 

⇒ x = 12 

Speed of the boat in downstream = 
4.5 × 12 = 54 km/h 

Speed of the boat in upstream = 2.5 
× 12 = 30 km/h 

According to the data provided in the 
question, we get 

⇒  

⇒  

⇒ 14D + 216 = 12 × 270 

⇒ 14D = 3240 – 216 

⇒ 14D = 3024 

⇒ D = 216 

Required time =  = 5.5 hours 
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Hence, option D is correct. 
58. Ans. C.  

According to the data provided in the 
question, we get 

⇒  

⇒  

⇒ 96 = 100 – d 

⇒ d = 4 

Hence, option C is correct. 
59. Ans. D.  
Bus P: 

Total number of seats = 40 × 3 = 120 
Number of vacant Aisle seats = 120 × 

20% = 24 
Number of occupied Aisle seats = 40 
– 24 = 16 

Number of occupied Middle seats = 40 
× 50% = 20 

Number of vacant Middle seats = 40 
– 20 = 20 
Number of vacant Window seats = 

(16 + 20) ×  = 24 
Number of occupied Window seats = 
40 – 24 = 16 
Bus Q: 

Total number of seats = 40 × 3 = 120 
Number of vacant Middle seats = 16 

+ 10 = 26 
Number of occupied Middle seats = 40 
– 26 = 14 

Number of occupied Window seats = 

 = 34 

Number of vacant Window seats = 40 
– 34 = 6 
Number of occupied Aisle seats = 

= 26 
Number of vacant Aisle seats = 40 – 

26 = 14 
Bus R: 

Total number of vacant seats = 120 × 
37.5% = 45 
Total number of occupied seats = 120 

– 45 = 75 

Number of vacant Middle seats = 40 
× 50% = 20 

Number of occupied Middle seats = 40 
– 20 = 20 
Number of occupied Aisle seats = 

 = 30 
Number of vacant Aisle seats = 40 – 

30 = 10 
Number of vacant Window seats = 45 

– 20 – 10 = 15 
Number of occupied Window seats = 
40 – 15 = 25 

 
From the table, 

Required number of occupied seats = 
16 + 20 + 16 + 34 + 14 + 26 + 25 + 
20 + 30 = 201 

Hence, option D is correct. 
60. Ans. B.  

Bus P: 
Total number of seats = 40 × 3 = 120 
Number of vacant Aisle seats = 120 × 

20% = 24 
Number of occupied Aisle seats = 40 

– 24 = 16 
Number of occupied Middle seats = 40 

× 50% = 20 
Number of vacant Middle seats = 40 
– 20 = 20 

Number of vacant Window seats = 

(16 + 20) ×  = 24 
Number of occupied Window seats = 
40 – 24 = 16 

Bus Q: 
Total number of seats = 40 × 3 = 120 
Number of vacant Middle seats = 16 

+ 10 = 26 
Number of occupied Middle seats = 40 

– 26 = 14 
Number of occupied Window seats = 

 = 34 
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Number of vacant Window seats = 40 
– 34 = 6 

Number of occupied Aisle seats = 

= 26 
Number of vacant Aisle seats = 40 – 
26 = 14 
Bus R: 

Total number of vacant seats = 120 × 
37.5% = 45 

Total number of occupied seats = 120 
– 45 = 75 
Number of vacant Middle seats = 40 

× 50% = 20 
Number of occupied Middle seats = 40 

– 20 = 20 
Number of occupied Aisle seats = 

 = 30 
Number of vacant Aisle seats = 40 – 

30 = 10 
Number of vacant Window seats = 45 
– 20 – 10 = 15 

Number of occupied Window seats = 
40 – 15 = 25 

 
From the table, 
Total occupied seats in bus Q = 34 + 

14 + 26 = 74 
Required cost = 74 × 1500 = Rs. 

111000 
Hence, option B is correct. 
61. Ans. B.  

Bus P: 
Total number of seats = 40 × 3 = 120 

Number of vacant Aisle seats = 120 × 
20% = 24 
Number of occupied Aisle seats = 40 

– 24 = 16 
Number of occupied Middle seats = 40 

× 50% = 20 
Number of vacant Middle seats = 40 

– 20 = 20 

Number of vacant Window seats = 

(16 + 20) ×  = 24 
Number of occupied Window seats = 
40 – 24 = 16 

Bus Q: 
Total number of seats = 40 × 3 = 120 
Number of vacant Middle seats = 16 

+ 10 = 26 
Number of occupied Middle seats = 40 

– 26 = 14 
Number of occupied Window seats = 

 = 34 

Number of vacant Window seats = 40 
– 34 = 6 

Number of occupied Aisle seats = 

= 26 
Number of vacant Aisle seats = 40 – 
26 = 14 

Bus R: 
Total number of vacant seats = 120 × 
37.5% = 45 

Total number of occupied seats = 120 
– 45 = 75 

Number of vacant Middle seats = 40 
× 50% = 20 
Number of occupied Middle seats = 40 

– 20 = 20 
Number of occupied Aisle seats = 

 = 30 
Number of vacant Aisle seats = 40 – 

30 = 10 
Number of vacant Window seats = 45 

– 20 – 10 = 15 
Number of occupied Window seats = 
40 – 15 = 25 

 
Total vacant seats = 24 + 20 + 24 + 
6 + 26 + 14 + 15 + 20 + 10 = 159 

Total loss = 159 × 800 = Rs. 127200 
Hence, option B is correct. 

62. Ans. D.  
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Bus P: 
Total number of seats = 40 × 3 = 120 

Number of vacant Aisle seats = 120 × 
20% = 24 
Number of occupied Aisle seats = 40 

– 24 = 16 
Number of occupied Middle seats = 40 

× 50% = 20 
Number of vacant Middle seats = 40 
– 20 = 20 

Number of vacant Window seats = 

(16 + 20) ×  = 24 
Number of occupied Window seats = 
40 – 24 = 16 

Bus Q: 
Total number of seats = 40 × 3 = 120 

Number of vacant Middle seats = 16 
+ 10 = 26 
Number of occupied Middle seats = 40 

– 26 = 14 
Number of occupied Window seats = 

 = 34 
Number of vacant Window seats = 40 
– 34 = 6 

Number of occupied Aisle seats = 

= 26 
Number of vacant Aisle seats = 40 – 
26 = 14 

Bus R: 
Total number of vacant seats = 120 × 
37.5% = 45 

Total number of occupied seats = 120 
– 45 = 75 

Number of vacant Middle seats = 40 
× 50% = 20 
Number of occupied Middle seats = 40 

– 20 = 20 
Number of occupied Aisle seats = 

 = 30 
Number of vacant Aisle seats = 40 – 

30 = 10 
Number of vacant Window seats = 45 

– 20 – 10 = 15 

Number of occupied Window seats = 
40 – 15 = 25 

 
Number of occupied seats in bus R = 
25 + 20 + 30 = 75 

Number of seats occupied by females 
in bus R = 75 × 40% = 30 

Number of seats occupied by females 
below the age of 25 in bus R = 30 × 
60% = 18 

Hence, option D is correct. 
63. Ans. C.  

Bus P: 
Total number of seats = 40 × 3 = 120 
Number of vacant Aisle seats = 120 × 

20% = 24 
Number of occupied Aisle seats = 40 

– 24 = 16 
Number of occupied Middle seats = 40 
× 50% = 20 

Number of vacant Middle seats = 40 
– 20 = 20 

Number of vacant Window seats = 

(16 + 20) ×  = 24 
Number of occupied Window seats = 
40 – 24 = 16 

Bus Q: 
Total number of seats = 40 × 3 = 120 
Number of vacant Middle seats = 16 

+ 10 = 26 
Number of occupied Middle seats = 40 

– 26 = 14 
Number of occupied Window seats = 

 = 34 

Number of vacant Window seats = 40 
– 34 = 6 
Number of occupied Aisle seats = 

= 26 
Number of vacant Aisle seats = 40 – 
26 = 14 
Bus R: 
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Total number of vacant seats = 120 × 
37.5% = 45 

Total number of occupied seats = 120 
– 45 = 75 
Number of vacant Middle seats = 40 

× 50% = 20 
Number of occupied Middle seats = 40 

– 20 = 20 
Number of occupied Aisle seats = 

 = 30 
Number of vacant Aisle seats = 40 – 
30 = 10 

Number of vacant Window seats = 45 
– 20 – 10 = 15 

Number of occupied Window seats = 
40 – 15 = 25 

 
Difference between the vacant seats 
of bus P and R = 24 – 15 = 9 

Required percentage =  = 
60% 
Hence, option C is correct. 
64. Ans. C.  

Statement I: 
According to the data provided in the 

question, we get 

(135000 – X) =  
⇒ 13500000 – 100X = 8X 

⇒ 13500000 = 108X 

⇒ X = 125000 

Statement I alone is sufficient to 

answer the question. 
Statement II: 

According to the data provided in the 
question, we get 

10000 =  

⇒ 1000000 = 8X 

⇒ X = 125000 

Statement II alone is sufficient to 

answer the question. 

Data in either statement I alone or 
statement II alone is sufficient to 

answer the question. 
Hence, option C is correct. 
65. Ans. B.  

Let the height of the cylinder be 3x 
cm and radius of the cylinder be r cm. 

Statement I: 
Radius of the cylinder = x cm 
Statement I alone is not sufficient to 

answer the question. 
Statement II: 

Curved surface area = 6πrx 

924 =  
rx = 49 …(1) 
Total surface area = 2πr(r + 3x) 

1232 =  
196 = r2 + 3rx 

196 = r2 + 147 
r2 = 49 
r = 7 

After putting the value of r in equation 
1, we get 

x = 7 
Height of the cylinder = 3x cm = 21 

cm 
Statement II alone is sufficient to 
answer the question. 

Hence, option B is correct. 
66. Ans. D.  

Statement I: 
Let the cost price of the product be 
Rs. 100x 

Marked price of the product = Rs. 
125x 

Selling price of the product = Rs. 
112.5x 
Statement I alone is not sufficient to 

answer the question. 
Statement II: 

Selling price of the product = Rs. 450 
Marked price of the product = 

 = Rs. 500 
Statement II alone is not sufficient to 

answer the question. 
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Statement I and II together: 
Marked price of the product = Rs. 500 

Cost price of the product = 

 = Rs. 400 
Statement I and II both are necessary 
to answer the question. 
Hence, option D is correct. 

67. Ans. C.  

 

Required average =  = 

 = 50 
Hence, option C is correct. 
68. Ans. A.  

 
Total number of people who use Mac 
book in city A and B together = 30 + 
18 = 48 

Required percentage =  = 
9.6% 
Hence, option A is correct. 
69. Ans. D.  

 
Number of males who uses desktop in 
city C = 28 × 75% = 21 
Hence, option D is correct. 

70. Ans. B.  

 
From the table, 
Number of desktop users in city D = 

48 
Number of Dell desktop users in city 

D = 48 × 25% = 12 
Number of Lenovo desktop users in 
city D = 48 × 37.5% = 18 

Number of HP desktop users in city D 
= 48 – 12 – 18 = 18 

Required difference = 18 – 12 = 6 

Hence, option B is correct. 
71. Ans. B.  

 
Required ratio = 90 : (30 + 18) = 15 
: 8 
Hence, option B is correct. 

72. Ans. D.  

 
The total number of people uses 

laptop and Mac book in city D 
together = 30 + 72 = 102 
Difference = 120 – 102 = 18 

Required percentage =  = 
15% 

Hence, option D is correct. 
73. Ans. B.  

Abhishek invested the amount in the 
business for 8 months. 

According to the data provided in the 
question, we get 

⇒  

⇒ 12500 × 12 × 3 = 25X 

⇒ X = 18000 

Profit share ratio of Rajeev, Pankaj 

and Abhishek = (12500 × 12) : 
(16000 × 12) : (18000 × 8) = 25 : 
32 : 24 

Total profit = 

 = Rs. 60750 
Hence, option B is correct. 
74. Ans. C.  

If the profit is 50%, then the selling 
price of the article = 1500 × 150% = 

Rs. 2250 
Marked price of the article = 

….(1) 

If the profit is 33 , then the selling 

price of the article = 1500 × 133
% = Rs. 2000 
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Marked price of the article = 

….(2) 
From equation (1) and (2) 

=  

⇒ 2250 (100 – 2X) = 2000 (100 – X) 

⇒ 225000 – 4500X = 200000 – 2000X 

⇒ 25000 = 2500X 

⇒ X = 10 

Marked price of the article = 

 = Rs. 2500 
Hence, option C is correct. 

75. Ans. A.  
Let the total income be Rs. 100x 
Amount spent on food = Rs. 30x 

Amount spent on rent = Rs. 25x 
Remaining income = Rs. 100x – 30x 

– 25x = Rs. 55x 
Amount spent on education = 55x × 
40% = Rs. 22x 

Saving = 55x – 22x = Rs. 33x 

⇒ 3630 = 33x 

⇒ x = 110 

Required difference = (30 – 22) × 

110 = Rs. 880 
Hence, option A is correct. 

76. Ans. E.  
Let the length of the rectangle be 11x 
m 

Breadth of the rectangle = 6x m 
According to the data provided in the 

question, we get 

⇒ (11x - 2)(6x + 6) = 1260 

⇒ 66x2 + 66x – 12x – 12 = 1260 

⇒ 66x2 + 54x = 1272 

⇒ 11x2 + 9x – 212 = 0 

⇒ 11x2 – 44x + 53x – 212 = 0 

⇒ 11x(x – 4) + 53(x – 4) = 0 

⇒ (11x + 53)(x – 4) = 0 

⇒ x = 4, -  

Length and breadth can’t be negative. 
So, the value of x = 4 
Length of the rectangle = 44 m 

Breadth of the rectangle = 24 m 

Perimeter of the rectangle = 2 × (44 
+ 24) = 136 m 

Hence, option E is correct. 
77. Ans. C.  
Total age of A, B, C, D and E = 54 × 

5 = 270 years 
Total age of A, B, C, D, E and F = 51 

× 6 = 306 years 
Total age of B and E = 48 × 2 = 96 
years 

Age of F = 306 – 270 = 36 years 
Total age of A, C, D = 270 – 96 = 174 

years 
Total age of A, C, D and F = 174 + 36 
= 210 

Required average =  = 52.5 years 
Hence, option C is correct. 
78. Ans. D.  
Let the total work be 96 units (LCM of 

32 and 96) 
Amount of the work done by Anant in 

one day =  = 3 units 
Amount of the work done by Sahil in 

one day =  = 1 units 
Time taken by Anant and Sahil to 

complete a work =  = 24 days 
Time taken by Anant and Sahil to 
complete 75% of the work = 18 days 
So, X = 18 

Time taken by Chitra to complete 
25% of the work = (18 – 6) = 12 days 

Time taken by Chitra to complete the 

work =  = 48 days 
Amount of the work done by Chitra in 

one day =  = 2 units 
Time taken by Sahil and Chitra to 

complete the work together =  = 
32 days 
Hence, option D is correct. 

79. Ans. B.  
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Number of ways of picking three 
masks out of 16 masks = 16C3 = 560 

Number of ways of picking 3 masks of 
same colour = 4C3 + 5C3 + 7C3 = (4 + 
10 + 35) = 49 

Probability of picking three masks of 

same color =  
Required probability = 1 – probability 
of picking three masks of same colour 

⇒  

Hence, option B is correct. 
80. Ans. A.  
Total cost price of the article = Rs. (x 

+ 2250) 
Marked price of the article = (x + 

2250) × 1.80 = Rs. (1.8x + 4050) 
Selling price of the article = (1.8x + 
4050) × 0.80 × 0.7 

AT, 
x + 2250 + 744 = (1.8x + 4050) × 

0.80 × 0.7 
x +2994 = 1.008x + 2268 
0.008x = 726 

x = 90,750 
81. Ans. A.  

• International Mountain Day is 
celebrated every year on 11th 
December by the United 

Nations.  
• This year the day is being 

celebrated under the theme 
"Mountain Biodiversity".  

• The UN declared the 

International Year of Mountains 
in 2002. 

• The first international day was 
celebrated for the first time the 
following year, 2003. 

• The mountains are of utmost 
importance and these are 

home to 15% of the world´s 
population and host about half 

of the world's biodiversity 
hotspots. 

82. Ans. C.  

Maximum limit of tarun under mudra 
bank loan yojana is 10 Lakhs. 

The scheme is further classified into 
three categories namely Shishu, 
Kishor and Tarun. 

▪ Shishu scheme- This is the 
category that is required by most 

startups. This category is suitable for 
those who are about to start their 
business and they require a financial 

support. They can avail a loan of up 
to Rs. 50,000. 

▪ Kishor scheme- This is meant for 
those who have already started their 
business, but they require the money 

for getting established. Such units 
can avail a loan of Rs. 50,000 up to 

Rs. 5 lakhs.  
▪ Tarun scheme- Those businesses 
which are already established and 

they are completely set up, but they 
require some financial support so that 

they can continue their business as it 
is. These business units can avail a 
loan of up to Rs. 10 lakh. 

83. Ans. C.  
• The Reserve Bank of India (RBI) 

released guidelines for ‘on tap’ 
Licensing of Small Finance Banks in 
the Private Sector. Now payments 

banks willing to convert themselves 
into small finance banks (SFBs) can 

apply for such a licence only after 5 
years of operations. 
• The licensing window will be open 

on-tap. In the guideline, the RBI has 
double the minimum capital for 

setting up an SFB to ₹200 crores. 
• For primary (urban) co-operative 

banks (UCBs), non-banking financial 
companies, micro-financial 
institutions (MFIs), local regional 

bank/payment banks which wish to 
become SFBs the minimum required 

capital condition of Rs 200 crore will 
not be applicable. 
• But the UCBs want to become SFB 

will require net worth ₹100 crores, 
which will have to be increased to 
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₹200 crores within five years from the 
date of commencement of business. 

84. Ans. B.  
● The book titled ‘A Song of India’ 
authored by Ruskin Bond to be 

released on July 20, 2020, which will 
mark the 70th year of the author’s 

literary career. 
● The book is the 4th instalment in his 
memoir series. 

● The book portrays his unknown life 
before he became a successful 

author. It is published by Puffin 
Books, an imprint of Penguin Random 
House India. 

85. Ans. D.  
World Population day is an annual 

event, observed on July 11 every 
year, which seeks to raise awareness 
of global population issues. The event 

was established by the Governing 
Council of the United Nations 

Development Programme in 1989. 
86. Ans. A.  
* The book titled ‘How to Be a Writer’ 

authored by Ruskin Bond was 
published by HarperCollins India. The 

book gives practical advice for every 
person who is aspiring to write and be 
published. 

* The book gives a glimpse into the 
writing credo of Ruskin Bond, the 

author who has over 70 years of 
successful writing career. 
* The book has been written in the 

humorous style of Ruskin Bond. 
* As per Ruskin Bond, to become a 

writer, the person must have the 
following qualities-love of books, 

languages and life, an observant eye, 
a good memory, enthusiasm, 
optimism and persistence. 

87. Ans. B.  
Special Drawing Right SDR. The SDR 

is an international reserve asset, 
created by the IMF in 1969 to 
supplement its member countries' 

official reserves. As of March 2016, 
204.1 billion SDRs (equivalent to 

about $285 billion) had been created 
and allocated to members. SDRs can 

be exchanged for freely usable 
currencies. 
88. Ans. D.  

• Economic development , Caring 
Society and Aspirational India are the 

themes of Budget 2020-2021. 
• In this Budget our finance focuses 
on the economic development of the 

country with people care for one 
another. 

89. Ans. E.  
• The government is going to come 
out with a decision on 74% Foreign 

Direct Investment (FDI) in defence 
and a notification is likely in the next 

few days. 
• The second draft of the Defence 
Procurement Procedure (DPP) 2020, 

now renamed as the Defence 
Acquisition Procedure (DAP) 2020, 

was put out in public domain for 
comments from stakeholders and 
public. 

90. Ans. B.  
• The Statue of Unity is a colossal 

statue of Indian statesman and 
independence activist Sardar 
Vallabhbhai Patel (1875–1950) who 

was the first Home Minister of 
independent India. 

• It is located in the state of Gujarat, 
India. It is the world's tallest statue 
with a height of 182 metres (597 ft). 

• It is located on a river island facing 
the Sardar Sarovar Dam on river 

Narmada in Kevadiya colony, 100 
kilometres (62 mi) southeast of the 

city of Vadodara. 
• It was designed by Indian sculptor 
Ram V. Sutar and was inaugurated by 

Indian Prime Minister Narendra Modi 
on 31 October 2018, the 143rd 

anniversary of Patel's birth. 
91. Ans. A.  
• Who Will Cry When You Die is a book 

written by Indian born writer Robin 
Sharma. The book was first published 
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in 1999. This was the third book 
written by the author in the series The 

Monk Who Sold His Ferrari. 
92. Ans. C.  
• The 2020 G20 Presidency will focus 

discussions, forums, working groups 
and Ministerial Meetings under the 

theme of “Realizing Opportunities of 
the 21st Century for All”. 
• The Summit was held under the 

chairmanship of Saudi Arabia. 
93. Ans. B.  

• Keeping in view the overall inflation 
and rise in agriculture input cost over 
the years since 2010, it has been 

decided to raise the limit for collateral 
free agricultural loans from the 

existing level of ₹1 lakh to ₹1.6 lakh. 
94. Ans. C.  
• Capital Small Finance Bank 

(formerly Capital Local Area Bank Ltd) 
is India's first small finance bank 

started its banking operations in April 
2016 in Jalandhar, Punjab. 
• The bank got the license of Small 

Finance Bank from Reserve Bank of 
India (RBI) in March 2016. 

95. Ans. E.  
• WHO’s global strategy towards 
eliminating cervical cancer aims to set 

the world on the right track by 2030, 
but it is just the beginning. 

• At this pace, global elimination of 
cervical cancer is not predicted until 
2120. 

• While high HPV vaccination 
coverage is the primary prevention 

intervention, ensuring every woman 
has two cervical screenings in her life 

would accelerate elimination by 11 – 
31 years, depending on the country. 
• If no action is taken, cervical cancer 

deaths will rise almost 50% by 2030. 
Approval of the draft global strategy 

at the WHO World Health Assembly in 
2020, and investment in mechanisms 
to deliver it, is vital. 

96. Ans. A.  

• The 2019 Cricket World Cup final 
was held between England and New 

Zealand. 
• England won the trophy under the 
captain Eoin Morgan. 

• Under his captaincy, England won 
the 2019 ICC Cricket World Cup, the 

first time they had won the 
tournament. 
• As of December 2019, Morgan is the 

all-time leading run scorer and most 
capped player for England in ODI 

matches. 
97. Ans. C.  
• Operation Trident was an offensive 

operation launched by the Indian 
Navy on Pakistan's port city of 

Karachi during the Indo-Pakistani War 
of 1971. Operation Trident saw the 
first use of anti-ship missiles in 

combat in the region. 
98. Ans. B.  

• As per the “Digital Quality of Life 
Index 2020”, in terms of e-
infrastructure, India occupies 79th 

place, ranking below countries 
including Guatemala and Sri Lanka. 

• India has ranked the 9th position in 
terms of Internet affordability. 
• In terms of e-government, India 

occupies the 15th place globally. 
• In terms of Internet Quality, India 

has been ranked 78th position. 
• Overall, India ranked 57th on the 
Digital Quality of Life Index 2020. 

• Denmark ranked first in this index. 
• The index was prepared by 

Surfshark. 
99. Ans. A.  

• Ten Public Sector Undertaking 
(PSU) banks were amalgamated into 
four banks. 

• With this, the number of public 
sector banks in India come down to 

12 from 27. 
• Oriental Bank of Commerce (OBC) 
and United Bank of India merged into 

Punjab National Bank (PNB). 
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• Syndicate Bank merged into Canara 
Bank, which will make it the fourth-

largest public sector lender. 
• Indian Bank was merged with 
Allahabad Bank. 

• Union Bank of India merged with 
Andhra Bank and Corporation Bank. 

100. Ans. D.  
• In 2020-21, the Ministry of Defence 
has been allocated Rs 4,71,378 crore. 

• This includes expenditure for 
salaries of armed forces and civilians, 

pensions, modernisation of armed 
forces, production establishments, 
maintenance and research and 

development organisations. 
101. Ans. A.  

• The Ministry of Micro, Small and 
Medium Enterprises (MSME) has 
launched CHAMPIONS - Creation and 

Harmonious Application of Modern 
Processes for Increasing the Output 

and National Strength portal. 
• It is a Technology driven Control 
Room-Cum-Management Information 

System. The system utilising modern 
ICT tools is aimed at assisting Indian 

MSMEs march into big league as 
National and Global CHAMPIONS. 
102. Ans. B.  

• Introduced in 2015, the Pilgrimage 
Rejuvenation and Spiritual 

Augmentation Drive (PRASAD) is a 
government scheme that focuses on 
identifying and developing the pilgrim 

sites across the country to enrich the 
religious tourism experience. 

• It was launched by Union Ministry of 
Tourism. 

103. Ans. B.  
• In the backdrop of the disruption in 
normal classroom teaching owing to 

Covid-19 lockdown, the Indian 
Institute of Technology (IIT), Kanpur 

has developed an innovative virtual 
classroom aid titled ‘Mobile 
Masterjee’. 

• The classroom-to-home teaching 
setup is designed to record the 

lectures/instructions by the teachers 
while using smartphones. 

• ‘Mobile Masterjee’ can capture the 
videos in horizontal (table) and 
vertical (blackboard) positions. 

104. Ans. C.  
* The government is committed to 

doubling farmers' income by 2022 
and the budget aims to boost the 
income of people and enhance their 

purchasing power. 
* Finance Minister announced 16 

action points plan for farmers, 
towards the goal of doubling farmers 
income. 

* These measures are underlined by 
the FM for the agriculture sector 

* The government allocated 2.83 lakh 
crore rupees for agriculture and allied 
activities, irrigation and rural 

development in 2020-21 budget. 
105. Ans. A.  

* Prime Minister Shri Narendra Modi 
launched the technology platform 
CHAMPIONS which stands for 

Creation and Harmonious Application 
of Modern Processes for Increasing 

the Output and National Strength. 
* As the name suggests,the portal is 
basically for making the smaller units 

big by solving their grievances, 
encouraging, supporting, helping and 

handholding.It is a real one-stop-
shop solution of MSME Ministry. 
* This ICT based system is set up to 

help the MSMEs in present difficult 
situation and also to handhold them 

to become national and international 
champions. 

106. Ans. C.  
* MGNREGA scheme was started in 
the year 2006 under Mahatma Gandhi 

National Rural Employment 
Guarantee Act (MGNERA), 2005. 

* It legally guarantees 100 days of 
employment given to an adult 
member of every rural household; 

mostly unskilled and manual work. 
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* It is also known as Mahatma Gandhi 
National Rural Employment 

Guarantee Act ,2005 (MGNREGA). 
107. Ans. D.  
* Prime Minister (PM) Narendra Modi 

virtually inaugurated 2 Railway 
projects for the Eastern Dedicated 

Freight Corridor (EDFC) namely the 
351-Kms long New Bhaupur-New 
Khurja section in Uttar Pradesh (UP) 

which has been built at a cost of INR 
5, 750 crores and Operational Control 

Centre (OCC) at Prayagraj, Uttar 
Pradesh. 
* It is expected to be one of the 

largest control centers in the world. 
* Union Minister for Railways, Piyush 

Goyal & Chief Minister of Uttar 
Pradesh, Yogi Adityanath were 
present during the event. 

108. Ans. B.  
* The Central Vigilance Commission 

(CVC) has constituted Advisory Board 
for Banking Frauds (ABBF) headed by 
former Vigilance Commissioner T M 

Bhasin to examine bank fraud over Rs 
50 crore and recommend action. 

* The panel in its previous avatar 
called the Advisory Board on Bank, 
Commercial and Financial Frauds. 

* The ABBF, formed in consultation 
with the RBI, would function as the 

first level of examination of all large 
fraud cases before recommendations 
or references are made to the 

investigative agencies by the 
respective public sector banks 

(PSBs). 
109. Ans. B.  

Under its School Bag Policy 2020, the 
state government has prescribed 
weight limits for school bags for 

students of different classes. School 
bags should not be more than 10% of 

the bodyweight of students across 
classes I to X and there should be no 
bags in pre-primary students. 

110. Ans. C.  

* To meet the growing need of micro 
and small enterprises, five public 

sector banks have decided to extend 

in-principle approval of loan up to ₹5 
crore under the "PSB Loans in 59 
Minutes" scheme. 
* The loans will be approved by State 

Bank of India, Union Bank of India, 
Oriental Bank of Commerce, 
Corporation Bank, and Andhra Bank 

on the psbloansin59minutes.com. 

* The portal was launched by the 
Narendra Modi government in 

November to provide loans up to ₹1 
crore to micro, small and medium 

enterprises (MSMEs) in just 59 
minutes or less than an hour. 
* The platform has helped reduce 

turnaround time for loan processes in 
such a way that MSMEs get an 

eligibility letter and an in-principle 

approval in 59 minutes and can 

choose the bank of their choice. After 
the approval letter is received, the 

loan is expected to be disbursed in 7-
8 working days. The value of the 

contactless business loans offered 

range from ₹1 lakh to ₹5 crore. The 

rate of interest starts at 8.5%. 
111. Ans. D.  

Priority sector loans to the following 
borrowers are eligible to be 
considered under Weaker Sections 

category:- 
1. Small and Marginal Farmers 

2. Artisans, village and cottage 
industries where individual credit 
limits do not exceed ₹ 0.1 million 

3. Beneficiaries under Government 
Sponsored Schemes such as National 

Rural Livelihoods Mission (NRLM), 
National Urban Livelihood Mission 
(NULM) and Self Employment 

Scheme for Rehabilitation of Manual 
Scavengers (SRMS) 

http://www.gradeup.com/


www.gradeup.co 
 
 

 
68 

 

4. Scheduled Castes and Scheduled 
Tribes 

5. Beneficiaries of Differential Rate of 
Interest (DRI) scheme 
6. Self Help Groups 

7. Distressed farmers indebted to 
non-institutional lenders 

8. Distressed persons other than 
farmers, with loan amount not 
exceeding ₹ 0.1 million per borrower 

to prepay their debt to non-
institutional lenders 

9. Individual women beneficiaries up 
to ₹ 0.1 million per borrower 
10. Persons with disabilities 

11. Overdraft limit to PMJDY account 
holder upto ₹ 10,000/- with age limit 

of 18-65 years. 
12. Minority communities as may be 
notified by Government of India from 

time to time 
112. Ans. A.  

The Ministry of Heavy Industries and 
Public Enterprises is an executive 
agency of the Government of India 

that administers 48 central public 
sector enterprises (PSEs) and assists 

them in their effort to improve 
capacity utilization and increase 
profitability, generate resources and 

re-orient strategies to become more 
competitive. The ministry serves as 

an interface between PSEs and other 
agencies for long-term policy 
formulation. The ministry also 

encourages the restructuring of PSEs 
to make their operations competitive 

and viable on a long-term and 
sustainable basis. 

113. Ans. C.  
* The Reserve Bank of India (RBI) has 
released the National Strategy for 

Financial Education (NSFE) for the 
next five years (2020-2025). 

* Under this, the central bank has 
recommended a '5-Core Actions' 
approach for dissemination of 

financial education in the country. 
The first such strategy for 

implementation was released in the 
year 2013. 

* On June 18, 2020, as per RBI, the 
strategy has been approved by the 
FSDC-SC in its 24th meeting. 

However, the document was made 
public on August 20, 2020. 

114. Ans. E.  
* The scheme will help in enhancing 
fish production from 137.58 lakh 

metric tons (2018-19) to 220 lakh 
metric tons by 2024-25. 

* The scheme will sustain average 
annual growth of about 9% in fish 
production 

* The scheme will help in boosting an 
increase in the contribution of GVA of 

the fisheries sector to the Agriculture 
GVA from 7.28% in 2018-19 to about 
9% by 2024-25. 

* The scheme will double export 
earnings from Rs.46,589 crores 

(2018-19) to about Rs.1,00,000 
crores by 2024-25. 
* The scheme will improve 

productivity in aquaculture from the 
present national average of 3 tonnes 

to about 5 tonnes per hectare. 
* The scheme will decrease the post-
harvest losses from the reported 20-

25% to about 10%. 
* The scheme will help in the 

improvement of domestic fish 
consumption from about 5-6 kg to 
about 12 kg per capita. 

115. Ans. A.  
The 'Aarogya Setu' tracking app, 

which is already available on Google 
Play Store on Android smartphones 

and App Store for iPhones, will help 
track the coronavirus infection by 
using the smartphone's GPS system 

and Bluetooth and provide 
information that will help in 

determining if you have been near a 
Covid-19 infected person or not. 
First spotted by The Next Web, the 

application determines if you are at 
risk by scanning through a database 
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of known cases across India, and also 
via location. 

116. Ans. A.  
* The Reserve Bank of India has 
published its first ever ‘nowcast,’ 

which is an estimate of GDP based on 
high-frequency data. 

* According to the report Gross 
domestic product contracted 8.6% in 
the quarter ended September. 

* The economy had slumped about 
24% in April to June. 

117. Ans. A.  
* Prime Minister Narendra Modi 
dedicated to the nation the 306-km 

Madar-Rewari link of the Western 
Dedicated Freight Corridor; and 

flagged off 1.5-km, double stack 
loaded train between New Ateli in 
Haryana and New Kishangarh in 

Rajasthan on the freight corridor. 
* It is a big achievement, said Modi, 

making India one of the select 
countries to have implemented such a 
project (run 1.5 km long double stack 

containers under electric wire). 
118. Ans. D.  

* UNESCO’s Education Sector is the 
largest in UNESCO with some 400 
staff working at the Paris 

headquarters and spread across a 
global network of 53 field offices and 

specialized institutes and centres. 
* Since 2015, UNESCO has a new role 
leading the coordination and 

monitoring of the Global Education 
2030 Agenda. The vision of the 

Education Sector, under the authority 
of the Assistant Director-General for 

Education, is captured in Sustainable 
Development Goal 4, which aims to 
“ensure inclusive and equitable 

quality education and promote 
lifelong learning opportunities for all”. 

The roadmap for the agenda is the 
Framework for Action. 
* With its close links with education 

ministries and other partners in 193 

countries, UNESCO is in a key position 
to press for action and change. 

119. Ans. B.  
* Government bonds are bonds 
issued by the central government and 

supervised by the Reserve Bank of 
India (RBI). 

* When the government is in need of 
finance for any project which is for the 
welfare of the public, the government 

will sell the bonds to the public to 
raise the fund. 

* The government would pay the 
regular or fixed interest rate to the 
investors who buy the bonds. The 

face value of the bonds will be paid to 
investors on the maturity date. 

* Government bonds in India offer 
many benefits to investors. Read 
more to know the benefits, and how 

to buy government bonds in India. 
120. Ans. B.  

* With an aim to provide last mile 
electrical connectivity and ensure 
electrification of all the willing rural 

and urban households, the Prime 
Minister launched Pradhan Mantri 

Sahaj Bijli Har Ghar Yojana, also 
known as Saubhagya Scheme. 
* The nodal agency for 

implementation of the scheme across 
the country would be – the Rural 

Electrification Corporation Limited 
(REC). 
121. Ans. C.  

The given sentence in the passage is 
incorrect as it uses the wrong 

preposition (between) to establish the 
relation between the action and the 

actors. 
Option A is incorrect as the verb 
‘increased’ is a past tense verb being 

used to describe a present continuous 
situation. 

Option B is incorrect as the article ‘an’ 
is missing preceding the verb 
‘increase’. Also, a preposition like ‘in’ 

is required to link the verb with the 
situation. 
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Option C is correct as the among is 
the correct preposition to use to 

establish the relation between the 
action and the actors. Between is 
used when naming distinct, individual 

items (can be 2, 3, or more). Among 
is used when the items are part of a 

group, or are not specifically named 
(MUST be 3 or more). 
Option D is incorrect as it uses the 

wrong preposition (across) to 
establish the relation between the 

action and the actors. Across is used 
to express position or orientation. 
Thus, option C is the correct answer. 

122. Ans. D.  
Intricacy means the quality of being 

intricate or complex. The meaning of 
the given options are as follows – 
Involution - the process of 

complicating something, or the state 
of being complicated. 

Simplicity – the quality of being 
simple. 
Comprehensible - able to be 

understood in a simple manner. 
From the above meanings it is clear 

that simplicity and comprehensible 
are antonyms for intricacy. Hence, 
options II and III are both correct. 

Thus, option D is the correct answer. 
123. Ans. E.  

The following line from the passage 
states – ‘… a significant percentage of 
young adults were found to be 

"financially precarious" because they 
had poor financial literacy and lacked 

money management skills and 
income stability.’ 

From the above line we can say based 
on facts that financial precariousness 
in young adults occur due to three 

things – 
• Poor financial literacy 

• Lack of money management skills 
• Income instability 
Thus, the three given statements are 

all correct as answers for the given 

question. This makes option E the 
correct answer. 

124. Ans. A.  
The given passage is a study on the 
financial awareness among modern 

day youth. The passage points out 
that it has been observed that often 

the youth lack financial literacy. It 
points out that in the modern world 
today owing to changes in the social 

support structures, investments are 
no longer managed by governments 

or the employers. The financial 
services and goods have also 
increased and are more complex than 

previous times. This puts the onus of 
financial investment and 

management on the individuals’ 
shoulders. Hence it is necessary to 
have financial literacy in the modern 

world. These points are covered in 
statement I making it the correct 

answer. 
Hence option A is the correct answer. 
125. Ans. B.  

The given passage is a study on the 
financial awareness among modern 

day youth. The passage points out 
that it has been observed that often 
the youth lack financial literacy. The 

passage points out that the financial 
markets have been rapidly globalised 

and this has led to the requirement 
that people need to be financially 
aware. So, statement A is true. 

Statement B is false as the last 
paragraph of the passage clearly 

states that – ‘Most of the people 
availing personal loans are 

professionals in the age group of 25 - 
45 years.’ 
Statement III is true as the passage 

points out that the study with respect 
to gauging financial illiteracy in youth 

has shown that – ‘… is prevalent even 
in well-developed financial markets 
like Germany, the Netherlands, 

Sweden, Japan, Italy, New Zealand, 
and the United States. ‘ 
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So, both statements I and III are true 
making option B the correct answer. 

126. Ans. B.  
The blank needs to be filled by a 
phrase that contains the -ing form of 

the verb in it, since the blank is 
preceded by ‘was’, denoting that the 

sentence is in past continuous tense. 
This makes options B, C, and E 
eligible choices. But since there is no 

comparison, option C gets eliminated. 
Similarly, option E confuses the tense 

of the sentence. Thus, option B is the 
most appropriate choice for the blank. 
127. Ans. A.  

The phrase in the blank needs to be 
in the past tense to match the tone of 

the verb ‘enthralled’. This makes 
option A the most appropriate choice 
for the blank. 

Note: ‘had going’ is incorrect since it 
denotes neither past perfect tense nor 

past perfect continuous tense 
appropriately. 
128. Ans. D.  

The phrase in the blank needs to 
contain an adverb that will maintain 

parallelism with ‘slowly’ (since they 
are joined by the conjunction ‘but’). 
This leaves only option D as the most 

appropriate choice for the blank. 
Thus, option D is the correct answer. 

129. Ans. C.  
Options A and E makes no sense 
contextually. Options B and D, if used 

in the blank, will make no 
grammatical sense since ‘woken up’ 

needs to be preceded by ‘was’ to be 
grammatically correct, while ‘was 

arose’ is a mismatch of tenses. 
Thus, option C is the only and the 
most appropriate choice for the blank. 

130. Ans. D.  
If you make no bones about 

something, you talk openly about it, 
rather than trying to keep it a secret. 
Statement I is incorrect because 

"made no bones" refers to lack of 
attempt by Jon. 

Statement II is incorrect because 
"made no bones" refers to lack of 

change in the judge's decision. 
Statement III is correct because 
"made no bones" refers to Ashi 

keeping her wish of having a divorce 
from her husband. 

Hence, the correct answer is D. 
131. Ans. B.  
If you say that one place is a stone's 

throw from another, you mean that 
the places are close to each other. 

Statement I is incorrect because 
"stone's throw" is used as a measure 
of time. 

Statement III is incorrect because 
"stone's throw" describes the street, 

not the distance between the street 
and the Taj. 
Statement II is correct because 

"stone's throw" describes the distance 
between the bookstore and the 

school, thus two places. 
Hence, the correct answer is B. 
132. Ans. B.  

 
The idiom “have one’s (own) way" 

means “to do what one wants to do 
(despite objection from others)”. 
The idiom is correctly used in both 

sentence I and II. 
But in sentence III the correct use 

should be “go all the way” as the 
sentence implies that they wanted to 
get to the end. 

The idiom “go all the way” means ‘To 
travel the entire distance, achieve 

everything possible’. 
Hence, the correct answer is option B. 

133. Ans. B.  
 
The idiom “fray at the edges” means 

“to become weaker; to become 
ineffective, to become unsuccessful 

(gradually)”. 
The idiom is correctly used in both 
sentence I and II. 

But in sentence III the correct use 
should be “joined the fray” as the 
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sentence implies that the person 
wanted to agitate against the 

superior. 
The idiom “join the fray” means ‘to 
participate in a fight or argument that 

had already started’. 
Hence, the correct answer is option B. 

 
134. Ans. D.  
Here, A-F forms a meaningful and 

grammatically correct sentence. 
Segment A points out how the subject 

resorted to shoddy workmanship. 
Shoddy means badly made or done. 
So, its logical that it should join with 

segment F. 
Segments B and D cannot join as 

there is no preposition to link them. 
Segment C cannot join with Segment 
E as effect is a noun used to indicate 

the result of a change. If the verb 
affect which implies to impact or 

change, the it would have been 
grammatically and conceptually 
correct. 

Hence, option D is the correct answer. 
135. Ans. A.  

 Here, B-E and C-D form a meaningful 
and grammatically correct sentence. 
Segment B names a certain 

personality and ends with the adverb 
greatly. It should be followed by the 

segment that begins with a verb or an 
adjective and mentions something in 
relation the personality. This makes 

segment E the correct segment to join 
to segment B. 

Segments C describes how parents 
are best. It ends with the adjective 

best, which shows that the segment 
joining it should begin with a noun. To 
maintain continuity, segment D is the 

correct choice as it describes certain 
characters that can be attributed to 

parents. 
Segment A and F are not connected 
conceptually. 

Hence, option A is the correct answer. 
136. Ans. B.  

 Here, A-D, B-E and C-F form a 
meaningful and grammatically correct 

sentence. 
Segment A talks about how 
something conditions the love for the 

country. Hence, logically it should fit 
with segment D which mentions 

respecting the whole community. 
Segment B talks about how many 
books exist. It should join with 

segment E which points out how there 
is a paucity of time to read all of 

them. 
Segment C points out the benefits of 
a food (almond) and hence should 

join with segment F which mentions 
another such benefit. 

Hence, option B is the correct answer. 
137. Ans. E.  
Here, A-E and C-F form a meaningful 

and grammatically correct sentence. 
Segment A talks about how a certain 

well-known statue was gift. For what 
this gift was given is mentioned in 
segment E. 

Segment B talks about how patriotism 
is considered to be an old concept. 

But none of the segments in column 
II can end this segment is a logical 
manner. 

Segment C points out how tea has 
certain properties that help to prevent 

cell damage. It correctly joins with 
segment F which mentions how the 
properties prevent the cell damage. 

Hence, option E is the correct answer. 
138. Ans. D.  

The correct answer is D. 
 

Note that in the first place we need an 
adjective. On this basis option B 
stands ruled out. 

The verb believe always takes a 
preposition ‘in’ when we have a noun 

placed after it. So, it also needs to be 
changed. And ‘focus’ given in option C 
also takes a preposition ‘on’, so it gets 

negated. Now a psychology cannot 
‘effect’ gender issues. 
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Considering the given context, we are 
here talking psychology, hence in the 

third place ‘psychological’ interests 
makes most sense. Also, ‘Egalitarian’ 
when (used about a person, system, 

society, etc.) means following the 
principle that everyone should have 

equal rights. Accordingly, the verb 
‘neglect’ fits appropriately. 
139. Ans. C.  

The correct answer is C. 
140. Ans. B.  

The correct answer is B. 
141. Ans. A.  
The given passage talks about the 

economic transformation that has 
happened in India post-

Independence. It critically points out 
the issues that the Indian economic 
system faced the model called ‘Indian 

socialism’. It goes on to point out the 
main features of the New Economic 

Policy which was adopted in the 
1990s. It discusses both the impact of 
the adoption and the current 

scenario. So, the central theme of the 
passage deals with the 

transformation that has occurred in 
the Indian economy and its resulting 
effects. Hence, option A is the correct 

answer. 
142. Ans. E.  

The sentence with the blank talks 
about how the decentralisation of the 
state occurred with the initiation of 

democratic local self-government. 
This implies that the given blank 

should be filled with a phrase that 
means the beginning of the 

government. Options A and C can 
both be used in the blank as both 
introduced and existence refer to 

beginning of something new. But 
option B cannot be used as the verb 

form is wrong. 
So, option E is the correct answer. 
143. Ans. B.  

The given passage talks about the 
economic transformation that has 

happened in India post-
Independence. It critically points out 

the issues that the Indian economic 
system faced the model called ‘Indian 
socialism’. The author talks about the 

total authoritarian nature of the 
central government in India under the 

socialism format. So, we can infer 
that statement I is a correct reason as 
to why the Indian economy faltered 

under socialism. 
The author also points out that – ‘The 

private sector, which functioned 
pursuant to the rules of the free 
market, systematically shrunk and 

was highly dependent on the public 
sector.’ So, statement II is also a 

fitting answer. 
Statement III is an incorrect inference 
from the given facts in the passage as 

India had faced severe restrictions on 
international trade under socialism. 

Since, statements I and II are correct 
answers, option B is the correct 
answer. 

144. Ans. A.  
It is evident that options B, C and D 

are all true with respect to the given 
passage. 
In option A, the Five-Year Plans are 

central concept, made and 
maintained by the central 

government. They were used in the 
era of Indian socialism. The new 
economic policy is more about 

liberalisation and decentralisation. 
Thus, option A is false, making it the 

correct answer. 
145. Ans. C.  

The given passage talks about the 
economic transformation that has 
happened in India post-

Independence. It critically points out 
the issues that the Indian economic 

system faced the model called ‘Indian 
socialism’. It goes on to point out the 
main features of the New Economic 

Policy which was adopted in the 
1990s. It discusses both the impact of 
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the adoption and the current 
scenario. It presents a positive 

feedback on the improvement of the 
economic system. It does this based 
on facts and not conjecture. Hence, 

‘objective’ which means without 
prejudice; without discrimination; 

fair; based on fact is the best word to 
describe the tone of the passage. 
Animated means full of life or 

excitement. 
Benevolent means sympathetic. 

Apologetic means apologizing for past 
or present mistakes. 
Dogmatic means inclined to lay down 

principles as undeniably true. 
146. Ans. B.  

The opening statement of the 
passage seems to talk about an 
assumption or interpretation that 

people have. The word ‘misconstrue’ 
is opposite in meaning to interpret 

and is a negative term. Thus, the 
correct word to be used in the 
passage would be ‘interpret’. The 

remaining options mean the 
following:- 

Transcribe: put (thoughts, speech, or 
data) into written or printed form 
Resolve: settle or find a solution to (a 

problem or contentious matter) 
Falsify: alter (information, a 

document, or evidence) so as to 
mislead 
147. Ans. D.  

The correct word to be used in the 
passage will be ‘efficacy’ because it 

refers to ‘the ability to produce a 
desired or intended result’. The 

success of a vaccine is attributed by 
its efficacy. 
148. Ans. E.  

In medical terms, the word 
‘administered’ means dispense or 

apply (a remedy or drug). Since the 
passage talks about giving a vaccine 
shot to a group of people, it would be 

the most appropriate choice of word. 
149. Ans. A.  

The correct word would be ‘placebo’, 
it refers to a substance that is not 

medicine, but that is given to 
someone who is told that it is a 
medicine, used to test the effect of a 

drug or to please a patient. The 
remaining words are not used in 

medical terminology. 
150. Ans. C.  
The given statement talks about a 

possible outcome, which can be 
concluded based on a data. The 

closest term to data or analysis is 
statistics and thus, statistical will be 
the most appropriate choice. The 

words ‘assumed,’ ‘potential,’ or 
‘absolute’ cannot be used for an 

inference. 
151. Ans. D.  
The error lies in the fourth part of the 

sentence. The first ‘to’ needs to be 
replaced by the adverb ‘too’ to best 

qualify the following adverb ‘early’. 
Thus, option D is the correct answer. 
152. Ans. B.  

The error lies in the second part of the 
sentence. The phrase ‘sneak peek’ 

means an opportunity to see 
something before it is officially 
available. The error lies in the use of 

the word ‘peak’, meaning the summit, 
to denote ‘peek’. 

Thus, option B is the correct answer. 
153. Ans. C.  
The error lies in the third part of the 

sentence. The particle ‘to’ is always 
followed by the base form of the verb 

(in this case ‘teach’) to form an 
infinitive. 

Thus, option C is the correct answer. 
154. Ans. A.  
The error lies in the first part of the 

sentence. ‘Loose’ means not firmly 
held or fastened in place, and is 

contextually inappropriate. It needs 
to be replaced by ‘lose’ meaning to 
fail to succeed in a game, 

competition, etc. Thus, option A is the 
correct answer. 
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155. Ans. E.  
The sentence is contextually and 

grammatically correct. 
Thus, option E is the correct answer. 
156. Ans. B.  

 The correct sequence of the passage 
is DABEC. 

Statement D introduces the topic of 
the passage, an important press 
statement. This is logically followed 

by A as it begins with the portion 
‘according to the statement’. 

Statement A talks about wolf being a 
fully protected species. Now logically 
this decision must have been a result 

of something. This makes B the third 
sentence of the passage. This is 

followed statement E which talks 
about how the agriculture ministry 
allowed people to hunt wolves. This is 

followed by statement C as it has the 
pronoun ‘it’. The pronoun refers to the 

agriculture ministry mentioned in 
sentence E. Thus, the sequence of the 
passage is DABEC. 

157. Ans. D.  
 The correct sequence of the passage 

is DABEC. 
Statement D introduces the topic of 
the passage, an important press 

statement. This is logically followed 
by A as it begins with the portion 

‘according to the statement’. 
Statement A talks about wolf being a 
fully protected species. Now logically 

this decision must have been a result 
of something. This makes B the third 

sentence of the passage. This is 
followed statement E which talks 

about how the agriculture ministry 
allowed people to hunt wolves. This is 
followed by statement C as it has the 

pronoun ‘it’. The pronoun refers to the 
agriculture ministry mentioned in 

sentence E. Thus, the sequence of the 
passage is DABEC. 
158. Ans. E.  

 The correct sequence of the passage 
is DABEC. 

Statement D introduces the topic of 
the passage, an important press 

statement. This is logically followed 
by A as it begins with the portion 
‘according to the statement’. 

Statement A talks about wolf being a 
fully protected species. Now logically 

this decision must have been a result 
of something. This makes B the third 
sentence of the passage. This is 

followed statement E which talks 
about how the agriculture ministry 

allowed people to hunt wolves. This is 
followed by statement C as it has the 
pronoun ‘it’. The pronoun refers to the 

agriculture ministry mentioned in 
sentence E. Thus, the sequence of the 

passage is DABEC. 
159. Ans. A.  
 The correct sequence of the passage 

is DABEC. 
Statement D introduces the topic of 

the passage, an important press 
statement. This is logically followed 
by A as it begins with the portion 

‘according to the statement’. 
Statement A talks about wolf being a 

fully protected species. Now logically 
this decision must have been a result 
of something. This makes B the third 

sentence of the passage. This is 
followed statement E which talks 

about how the agriculture ministry 
allowed people to hunt wolves. This is 
followed by statement C as it has the 

pronoun ‘it’. The pronoun refers to the 
agriculture ministry mentioned in 

sentence E. Thus, the sequence of the 
passage is DABEC. 

160. Ans. C.  
 The correct sequence of the passage 
is DABEC. 

Statement D introduces the topic of 
the passage, an important press 

statement. This is logically followed 
by A as it begins with the portion 
‘according to the statement’. 

Statement A talks about wolf being a 
fully protected species. Now logically 
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this decision must have been a result 
of something. This makes B the third 

sentence of the passage. This is 
followed statement E which talks 
about how the agriculture ministry 

allowed people to hunt wolves. This is 
followed by statement C as it has the 

pronoun ‘it’. The pronoun refers to the 
agriculture ministry mentioned in 
sentence E. Thus, the sequence of the 

passage is DABEC. 
161. Ans. D.  

A power-on self-test (POST) is a 
process performed by firmware or 
software routines immediately after a 

computer or other digital electronic 
device is powered on. 

162. Ans. A.  
Cookies are small files which are 
stored on a user's computer. They 

are designed to hold a modest 
amount of data specific to a 

particular client and website, and 
can be accessed either by the web 
server or the client computer. 

163. Ans. A.  
The central processing unit 

consists of electronic circuits that 
interpret and execute program 
instructions, as well as communicate 

with the input, output, and storage 
devices. 

164. Ans. C.  
A hard copy is a printed copy of 
information from a computer. 

Sometimes referred to as a printout, 
a hard copy is so-called because it 

exists as a physical object. 
165. Ans. C.  

UPS (Uninterrupted power supply) is 
a back-up power supply that in case 
of power failure or fluctuations allows 

enough time for an orderly shutdown 
of the system or for stand by 

generator to start up. 
166. Ans. B.  
Linux is an example of open source 

software. Open source software is 
software that can be freely used, 

changed and shared (in modified or 
unmodified form) by anyone. 

167. Ans. C.  
WAN spans a large geographical area. 
Often a country or continent. The host 

are connected by a communication 
subnet. This subnet consists of 2 

distinct components : Transmission 
lines and switching elements. So.it 
WAN’s the network numerous cables 

of telephone lines. Each one 
connecting a pair of routers if two 

routers that do not share a cable 
nevertheless with to communicate 
they must do this indirectly. 

168. Ans. A.  
A computer program that translates 

one program instructions at a time 
into machine language is called an 
Interpreter. 

169. Ans. A.  
Random-access memory takes the 

form of integrated circuits. RAM is 
normally associated with volatile 
types of memory ,where stored 

information is lost if power is 
removed. 

170. Ans. A.  
In shortcut, Shift+ Delete is used to 
Delete selected item permanently 

without placing the item in the 
Recycle Bin. 

171. Ans. D.  
The hexadecimal numeral system is a 
numeral system made up of 16 

symbols (base 16). It uses sixteen 
distinct symbols, most often the 

symbols 0–9 to represent values 
zero to nine, and A, B, C, D, E, F (or 

alternatively a, b, c, d, e, f) to 
represent values ten to fifteen. 
172. Ans. C.  

A network switch is a computer 
networking device that connects 

devices together on a computer 
network, by using packet switching 
to receive, process and forward 

data to the destination device. 
173. Ans. D.  
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An application program is a 
computer program designed to 

perform a group of coordinated 
functions, tasks, or activities for the 
benefit of the user. 

174. Ans. A.  
A point-of-sale (POS) terminal is a 

computerized replacement for a 
cash register. Much more complex 
than the cash registers of even just 

a few years ago, the POS system can 
include the ability to record and track 

customer orders, process credit and 
debit cards, connect to other systems 
in a network, and manage inventory. 

Note:- Generally, a POS terminal 
has as its core a personal 

computer, which is provided with 
application-specific programs and 
I/O devices for the particular 

environment in which it will serve. 
A POS system for a restaurant, for 

example, is likely to have all menu 
items stored in a database that can 
be queried for information in a 

number of ways.  
175. Ans. B.  

A nibble is a four-bit aggregation. It 
is also known as half-byte. 
176. Ans. B.  

• The BIOS an acronym for Basic 
Input/Output System and 

also known as the System 
BIOS, ROM BIOS or PC BIOS) 
is a type of firmware used 

during the booting process 
(power-on startup) on IBM PC 

compatible computers. 
• The BIOS firmware is built into 

personal computers (PCs), and 
it is the first software they run 
when powered on. 

So, option B is the correct answer. 
177. Ans. D.  

A Data diddling (also called false 
data entry) occurs when someone 
with access to information of some 

sort changes this information before 
it is entered into a computer. 

178. Ans. D.  
Normalization is a process of 

organizing the data in database to 
avoid data redundancy, insertion 
anomaly, update anomaly & deletion 

anomaly. 
179. Ans. A.  

Handshaking is a networking 
process where two computers 
establish a connection. Handshaking 

occurs when packets of data are 
exchanged between two computers. 

Note: Handshaking is the action of 
exchanging standardized signals 
between devices in a computer 

network to regulate the transfer of 
data. 

180. Ans. E.  
A software suite is a collection of 
computer programs (usually 

application software or programming 
software) of related functionality, 

often sharing a more-or-less common 
user interface and some ability to 
smoothly exchange data with each 

other. 
181. Ans. A.  

The chart wizard is a wizard found in 
the Microsoft Excel program that 
takes users step-by-step through the 

process of creating a chart in 
Microsoft Excel. The Chart Wizard is 

accessible on the "Insert Menu" and 
then you choose "Chart". 
182. Ans. B.  

In computing, a data warehouse (DW 
or DWH), also known as an enterprise 

data warehouse (EDW), is a system 
used for reporting and data analysis. 

DWs are central repositories of 
integrated data from one or more 
disparate sources 

183. Ans. C.  
In MS Excel, the Formula Bar is 

used to do all like entering a 
formula, editing a formula, entering a 
data in cell, etc. MS Excel is used to 

create calculation based worksheets. 
184. Ans. C.  
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The computers of the third generation 
used integrated circuits (IC's) in 

place of transistors. A single IC has 
many transistors, resistors, and 
capacitors along with the associated 

circuitry. 
 

Note: The period of the third 
generation was 1965-1971. 
185. Ans. E.  

Data redundancy is the existence of 
data that is additional to the actual 

data and permits correction of errors 
in stored or transmitted data. The 
additional data can be simply a 

complete copy of the actual data, or 
only select pieces of data that allow 

detection of errors and reconstruction 
of lost or damaged data up to a 
certain level. 

186. Ans. E.  
Downloading is a Process of a 

computer receiving information, such 
as a Web page, from a server on the 
Internet. 

187. Ans. D.  
Integrated Services Digital 

Network (ISDN) is a set of 
communication standards for 
simultaneous digital transmission of 

voice, video, data, and other network 
services over the traditional circuits of 

the public switched telephone 
network. 
188. Ans. A.  

A password is the secret code that 
restricts entry to some programs. It is 

a without spaced sequence of 
characters used to determine that a 

computer user requesting access to 
a computer system is really that 
particular user. 

189. Ans. B.  
A term used to describe the act of 

illegally using, copying or distributing 
software without ownership or legal 
rights. The majority of software today 

is purchased as a one-site license, 
meaning that only one computer may 

have that software installed on it at 
one time. 

190. Ans. D.  
In Excel, a range is identified by the 
cell in the upper-left corner and the 

cell in the lower-right corner, 
separated by a colon. 

Note: The range is treated as a 
single unit, you can make the same 
change, or combination of changes to 

more than one cell at a time. 
191. Ans. A.  

A database is a collection of 
information that is organized so that 
it can easily be accessed, managed, 

and updated. Databases can be 
classified according to types of 

content,bibliographic, full-text, 
numeric and images. 
Oracle Database is a multi-model 

database management system 
produced and marketed by Oracle 

Corporation. 
192. Ans. B.  
Search engines are the programs 

that search documents for specified 
keywords and return a list of the 

documents where the keywords were 
found. A web search engine is a 
software system that is designed to 

search for information on the World 
Wide Web. 

Note:- Google and Yahoo are the 
major search engines used 
throughout the World. 

193. Ans. C.  
With the help of proper software, the 

mouse can also be used to draw 
pictures and make the ideal graphics. 

 
Computer mouse works with a 
computer only if the proper device 

driver installed, but special software 
is needed for a more advanced mouse 

that has more functions. 
. 
194. Ans. A.  

A primary key is a field in a table 
which uniquely identifies each 
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row/record in a database table. 
Primary keys must contain unique 

values. 
195. Ans. D.  
Frederick B. Cohen is an American 

computer scientist and best known 
as the inventor of computer virus 

defense techniques. He gave the 
definition of "computer virus". 
196. Ans. C.  

Attenuation is a general term that 
refers to any reduction in the 

strength of a signal. Attenuation 
occurs with any type of signal, 
whether digital or analog. 

197. Ans. A.  
A tablet (along with smartphone)is 

one of the most commonly used 
handheld devices. It uses handheld 
OS like Android, iOS, Symbian etc 

198. Ans. D.  
'.BAK' is a file name extension used to 

signify a backup copy of a file. This 
common ‘.bak’ the naming scheme 
makes it possible to retrieve the 

original contents of the file. 
199. Ans. B.  

Backup refers to the process of 
making copies of data or data files 
from the original source to a different 

destination to use in the event the 
original data or data files are lost or 

destroyed. 
200. Ans. C.  
Computer forensics is the practice 

of collecting, analyzing and reporting 
on digital data in a way that is legally 

admissible. Note: It can be used in 
the detection and prevention of crime 

and in any dispute where evidence is 
stored digitally. 
 
 

http://www.gradeup.com/

